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1; [1R 60dzjls

Zdz stcOL o ZC s
Qmin=1, 35
dif zdz* MO 10

0001

51 658,27

g YJ suyds otsHT
Qn=250d33/ yof;
9r ABHBA; o jM
1; [l1R 6djls

Zdz stcOL o ZC s
Qmi n=1, 8 33
gy zdzt MO 10

0000

60 093,77

g Yj byds otHT
Qn=500d33/ yOfy;
9" atsHtsd3;, o] M
1; [1R 60dzjls

dz stcOL o C 5
Qmi n=4 &3/ y
dif zdz? O 10

0000

86 980,97

g Yj byds otHT

Qmi n=0, 27 &3/ yofm;
dd&sf zdz' MO 10dz/ d By ;

Edz! stcOL 9 lz€C s
L=200dd3

vsmax=1

0001

28 579,55




syd¢
n=0, 3

d U Jd
Qmi

d@f 2d MO 10d/ d &Y ;

9 BBHT z dz!
6 33/ yofm;

stcOL o z€C ts
L=200 di3d3

vmax=1

0001

32 934,56

g Ud syde¢

Qn=120 a3
9" nfSH Sd3;
)R 6dzjls

Zdz stcOL o ZC s
Qmi n=0, 6 d&33
dif zdzt MO 10

O SHT
/ yofm;
94 M

0001

41 243,34

g Ud syde¢

Qn=150 &3
9" o tSH 5d3;
1; [l1RrR 6

Edz steOL 9 € s
Qmi n=0, 9 d&33
g zdz? MO 10

D SHI'

/I ywOof;
o4 M
dzj Is

0001

47 514,32

g Ud syde¢

Qn=250 d33
9" nfSH Sd3;
1; [1R 6

Zdz stcOL o ¢ s
Qmi n=1, 353
dif zdz* MO 10

O SHT

/ yom;
94 M
dzj Is

0001

55 949,83

¢ Ud syde¢

Qn=250 d33
9" o BHM3;
1; [1R 6

Edz' stcOL o kC s
Qmi n=1, 8 33
gy zdz? MO 10

9 SHT

I yofm;
94 M
dzj Is

0001

64 385,39

g Ud syde¢

Qn=500 d33
9" nfSH 5d3;
1; [1R 6

Zdz stcOL o zC s
Qmi n=4d33/ y
dif zdz* MO 10

9 SH'

I yofm;
o4 M
dzj Is

0001

91 272,54

¢ Ud syde¢
Qmi n=0, 2

6 dzj Is

dgf zdz' MO 10dz/ d 3 ;

9 BBHT z dz
783/ yofm;

SEOL oS 5
L=200 d3d3

vmax=4

0005

27 854,02

g Ud syd¢
Qmi n=0, 3

6 dzj Is

dgf zdz’ MO 10d/ d &Y ;

9 fSHT z dz!
6 33/ yofm;

OLoEC 5
L=200 dscs

vsmax=4

0005

32 181,83

d¢Ud syde¢

Qn=120 a3
9" o BH 53
|l P68; [}

9 tSHT Zdz stcOL o zC s
/ yofy; Qmi n=0, 6 33

9jfMm disfzdz MO 10
R 6dzjIs

0005

40 517,82

g Ud syd¢

Qn=150d3
9" nfSH s5d3;
| P68; [

9BHIN bkdz stcOLoOEC TS
[/ yofm; Qmi n=0, 9 B3
oM dkflzd MO 10
R 6dzjls

0005

46 625,58

g YJ suyde¢

Qn=250d33
9" A tSHSd3;
| P68; [

9 SHT Zdz! stcOL oG s
[/ yofm; Qmin=1, 353

9dfm d&fzdz MO 10
R 6dzjls

0005

55 224,30

g Ud syd¢

Qn=250 a3
9" A fSH sd3;
| P68; [}

9BHIN bkdz stcOLokCts
/ yof; Qmi n=1, 8 d&33

odfm d&flzd MO 10
R 6dzjls

0005

63 659,87

¢ YJ sud¢

Qn=500d3
9" A tSHSd3;
| P68; [

9BHI bkdz stcOLoakCTS
[/ yofm; Qmi n=4d&3/ y
o4 ddflzd MO 10
R 6dzjIs

0005

90 546,97




g Y syds oBHT

Zdz? steOLolzC S

Qmi n=0, 27d33/ yoOfm; L=200d&d

ddfd MO 10d/ ddsf; wmax=1|' 0001 2785402
6 dzj Is

dYyd syds¢ oBH' bkd stcOLoEC TS

Qmi n=0, 36d33/ yoOfm; L =200 d3d3

JBf b MO 10d/ qagf; wmax=1|L 0001 3220903
6 dzj Is

g Y syds osH' bkdz stcOLo kSt
Qn=120dk3/ yom; Qmi n=0, 6 d33

9ratHEd;, oifm diidfkzd MO 10 000 40517,82
|l P68; [l1R 6djls

dYyd syds¢ oBH' bkd stcOLoEC TS
Qn=150d&3/ yoOMm; Qmi n=0, 9 d33

9" AaHEBM;, ojfm di3fkzd MO 10 000 46 625,58
1; I P68; [1R 6dzjls

g Yj syds oBH' kdz stcOLoa kSt

Qn=250d33/ yomm; Qmi n=1, 35

9T otHEd;, oM di3fkzd MO 10 000 55 224,30
1; I P68; [1R 6djls

g Yy syds¢ osH' bkd stcOLoEC Tt
Qn=250dk3/ yofm; Qmi n=1, 8 d33

9" AaHEBM;, ojfmM di3fkzd MO 10 000 63 659,87
1; I P68; [1R 6dzjls

g Yjsyds oBH' kdz stcOLoa kSt

Qn=500d33/ yomm; Qmi n=4di3/ Yy

9T otHEd;, oM di3fkzd MO 10 000 90 546,97
1; I P68; [1R 6djls

g Yd syds¢ osH' bkdz stcOLoOEC TS

Qmi n=0, 2783/ yofy; L=200d&Hy

Jaf b MO 10d/ qagf; wmax=1|L 0001 3214560
6 dzj Is

g Yjsyds osH' kdz stcOLoa kSt

Qmi n=0, 36d3/ yoOm; L=200dBd

ddifd MO 10d/ qasf; wmax=1|¢ 0001 3650059
6 dzj Is

g Yd syds¢ osH' bkdz stcOLo kSTt
Qn=120dk3/ yofm; Qmi n=0, 6 d33

9" AaHEBM; ojfmM di3fEzd MO 10 000 44 809,43
|l P68; [1R 6dzjls

gy syds oBH' bkdz stcOLoEC TS
Qn=150dk3/ yom; Qmi n=0, 9 d33

9 atsHEd;, oM dBRYEd MO 10 000 5108033
1; I P68; [1R 6dzjls

g Y byds¢ osH' bkdz stcOLo kSTt
Qn=250d3/ yofm; Qmi n=1, 35d3

9" aHEBM;, ojfm difkzd MO 10 000 59 515,88
1; I P68; [1R 6dzjls

g Yy syds oBH' bkdz stcOLoECT
Qn=250dk3/ yom; Qmi n=1, 8 d33 000 67 951,43

9" A tSHSd3;

1; I P68; [1R

o4 M

i dz MO 10
6 dzj Is




g Y syds¢ oBH' bkdz stcOLo kSt
Qn=500dk3/ yom; Qmi n=4d3/ Yy

o' IEHEBE il dBfzd O 10 1 000 1| 9483857
1; Il P68; [1R 6dzjls

g YJ syds¢ osH' bkdz stcOLoa kSt
Qn=1000d3/ yoOfm; Qmi n=4d33/|1 300 1| 250988,96
9" aHEBMR;, ojfM difkzd MO 10

dYyd syds¢ oBH' bkd stcOLoEC TS
Qn=1600d33/ yofm; Qmi n=6, 4d3 1 300 1| 32161220
9" ansHEEAd3;, o4 ddii3fzdz MO 10

dYyd syds¢ oBH' bkd stcOLoEC TS
Qn=1000c&3/ yOfm; Qmi n=4d3/
o' TBHEB® ojf dhfkzd Mo 10!
1

g Yj syds oBH' kdz stcOLoa kSt
Qn=1600d3/ yomm; Qmi n=6, 4 &
o' THEBd ojfMm dJEfkd MO 10|V
1

g Yy syds¢ osH' bkd stcOLoEC Tt
Qn=1000d33/ yofm; Qmi n=4d&3/
o' THEB®, ojf dhfkzd Mo 10!
1

300 1] 250 988,96

3001] 321612,20

3001} 255280,55

g Yjsyds oBH' kdz stcOLoakC Tt
Qn=1600d3/ yofm; Qmi n=6, 4 &

or nSHIW ojf) qdfkd mo 10|t 3001 32590379

g Yd syds¢ otH' bkdz stcOLoEC TS
Qn=1, 583/ yom; Qmin=0, 015
o oHB® ojf dEfkzd MO 1d !
UI1RrR 6dzjls

g YJlsyds oBH' kdz stcOLoa kS s
Qn=2, 5833/ yomm; Qmi n=0, 025
o' THEBd ojfMm dJEfkd MO 1d\
UIRrR 6dzjls

g Y byds¢ oBH' bkdz stcOLo kSt
Qn=1, 5&®3/ yom; Qmin=0, 015
9r atsHtsds; oM dBRfkzdz MO 1 d7
1R 6dzjlIs

g Yy syds oBH' bkdz stcOLoaECTS
Qn=2, 583/ yom; Qmin=0, 025
o nHEB® ojf dEfzd MO 1d !
UIRrR 6dzjls

g Y byds¢ oBH' bkdz stcOLo kSTt
Qn=1, 5&®3/ yom; Qmin=0, 015
9r atsHtsds; ojfMm dBRfkzdz MO 1 d7
|l P68; [1R 6dzjls

0000] 1113091

000O0] 11468,28

1 0001} 1542247

0001] 15759,86

1 0001} 14696,95




g Y syds oBHT

Qn=2, 5&B3/ yom;
9" o tSH 5d3; 9jfm
|l P68; [1R 6dj

Zdz' IstcOL oG s

Qmi n=0, 025
dif zdzz MO 1 dz
Is

0001

15 034,27

g Yyd syd<s owHT

Qn=1, 5833/ yof;
9" A tSHsSd3; 9jf
|l P68; [1R 6dj

Zdz stcOL o ZC s

Qmi n=0, 015
dd&f zdz2 MO 1 d7
Is

0001

18 988,52

g YJ syds owHT

Qn=2, 5&3/ yom;
9" attHEBd; oM
|l P68; [1R 6dzj

Fdz' IstcOL o 2C ts

Qmi n=0, 025
dif zdzz MO 1 dz
Is

0001

19 325,88

g Yyd syqd<s owHT
Qn=3, 5833/ yof;
or SHB; 9jf
Jl 6 dzj Is

A 11 1

Zdz stcOL o ¢ s
Qmi n=0, 035
d&f z2dz2 MO 1 dz

0000

12 514,63

g Yd syd<s owHT

Qmi n=0, 06 33/ YyOfy; L=180d&H
dif zdz? MO 1dz/ d &Y ; umax=10

Zdz! stcOL o z€ s

0000

14 082,28

g Yj syds owHT

da&3f zdz? MO 10 dz/

Qmi n=0, 1d33/ yoMm; L=200 d3ds;

Zdzt steOL oG

dqa&f; uwvmax=1

0000

16 776,53

g Yj syds owHT
Qn=3, 5dk3/ yom;
or S Htsd; 94 M
[} 6 dzj Is

A 11 1

Edzt stcOL o kC s
Qmi n=0, 035
dif zdzz MO 1 dz

0001

16 806,22

g Yj syds owHT

Omi n=0, 06 &3/ yOf); L=180 &d
dBf zdzr MO 1dz/ B ; wvmax=15

Zdz2 stceOL oG5

0001

18 373,84

g Yd syd<s oBHT

ddsf zdz? MO 10 dz/

Qmi n=0, 1 &3/ yOf; L =200 dgds;

Edz! stcOL 9o z€C ts

ddsf; wvmax=1

0001

21 068,11

g Yd syd<s oBHT

Qn=3, 5&3/ yom;
9 atsHEBd; ojMm
|l P68; [1R 6dzj

Zdz stcOL o ZC s

Qmi n=0, 035
ddif zdz2 MO 1 d7
Is

0001

16 080,68

g Yyd syd<s owHT

6 dzj Is

Qmi n=0, 06d33/ yofm; L=180dzd3
i3 zdzr MO 1dz/ BB ; wmax=10

Zdz! stcOL o z€C s

0001

17 648,32

g Y syds owHT

&y zdz' MO 10 dz/
6 dzj Is

Qmi n=0, 13/ yoMfMm; L=200 dgas;

Edz! stcOL 9 lzC s

ddsf; wvmax=1

0001

20 342,59

g Yyd syd<s owHT
Qn=3, 5d33/ yom;
9" AatsHESd3;, 9 M
I P68, [1R 6dzj

Zdz stcOL o ZC s

Qmi n=0, 035
dif zdzz MO 1 dz
Is

0001

20 372,29




g Y syds¢ oBH' bkdz stcOLo kSt
Qmi n=0, 06 33/ yOfy; L=180&BH

1,

[ 1R

6 dzj Is

Jaisfbd MO 1do qogy; wmax=15|¢ 0001 2193988
6 dzj Is

dYyd syds¢ oBH' bkd stcOLoEC TS

Qmi n=0, 133/ yoOm; L =200 d3ds;

dBf b MO 10d/ qgf; wmax=1|L 0001 2463416
6 dzj Is

shykh2d?2 c¢fj' WaikzmedeWdice: y ¢t Wdt IsB fé
dYyd syds¢ oBH' bkd stcOLoEC TS

Qmi n=0, 273/ yoOfy; L=200cRK 1 0005| 2447454
1; [lIR 6djls

dYyd syds¢ oBH' bkd stcOLokC TS

Qmi n=0, 36d3/ yofm; L=200d3d3 1 0005| 2882956
1; [lIR 6djls

g Yy syds¢ osH' bkd stcOLoEC TS
Qn=120d33/ yom; Qmin=0, 6d33|]1 0005| 37138,36
vmax=40Au; dmftsdzdzj ded j 1 ;

g Yy syds¢ oBH' bkd stcOLoEC TS
Qn=150d33/ yom; OQmi n=0, 9d33|1 0005|] 43409,35
vmax=40Au; dmftsdzdzj dad j 1 ;

g Yy syds¢ osH' bkd stcOLoEC Tt
Qn=250dk3/ yofm; Qmin=1, 35d31 0005| 51844,85
vmax=40Au; dmftsdzdzj dedf j 1 ;

g Yy syds¢ osH' bkd stcOLoEC Tt
Qn=250d33/ yom; Qmin=1, 8d33|1 0005| 60280,38
vmax=40Au; dmftsdzdaj ded j 1 ;

g Yyd syds¢ osH' bkd stcOLoEC TS
Qn=500dk3/ yofm; Qmi n=4dk3/ ylL 0005| 87167,53
dfmy tsdzdzj dedj 1; [I1 R 6dzjls

g Yd syds¢ otH' bkdz stcOLoEC Tt

Qmi n=0, 273/ yoOfy; L=200cRK 1 0000| 2447454
1; [l1R 6djls

g Yd syds¢ otH' bkdz stcOLo kSTt

Qmi n=0, 36d%3/ yofm; L=200d3d3l L 000 0| 28829,56
1; [1R 6dzjls

g Yd syds¢ otH' bkdz stcOLoEC TS
Qn=120d33/ yom; Qmin=0, 6d&33|]1 0000| 37138,36
umax=105Au; dmftsdds ddj 1

g Yd syds¢ osH' bkdz stcOLoEC TS
Qn=150d433/ yom; Qmin=0, 9d&33|1 000 0| 43409,35
umax=105Au; dmftsddsjdedj 1

g Y syds¢ oBH' bkdz stcOLo kSTt
Qn=250dk3/ yofm; Qmin=1, 35d31 000 1| 51844,85
umax=105Au; dmftsddsjdedj 1

g Y byds¢ oBH' bkdz stcOLo kSt
Qn=250d43/ yom; Qmin=1, 8d33|1 0000| 60280,38
umax=105Au; dmftsddsjdedj 1

g Y syds¢ oBH' bkdz stcOLo kSTt
Qn=500dk3/ yofm; Qmi n=4d%3/ ylL 0000| 87167,53
gy tsdzdzj dedj 1; [I1 R 6dzjls

g Y byds¢ oBH' bkdz stcOLo kSTt

Qmi n=0, 2783/ yofp; L=200d3d3l 000 1| 28766,11




g Yy syds oBH' bkdz stcOLoakC TS

Qmi n=0, 36®R3/ yof; L=200d&K 1000 33121,12
1; [1R 6djls

dYyd syds¢ oBH' bkd stcOLoEC TS
Qn=120d33/ yom; Qmi n=0, 6 d&33 000 41 429,98
vsmax=150Au; dMmftsddj dzdj 1

dYyd syds¢ oBH' bkd stcOLoEC TS
Qn=150d33/ yom; Qmi n=0, 9 d&33 000 47 700,90
vsmax=150Au; dMm§tsddzj dzdj 1

dYyd syds¢ oBH' bkd stcOLoEC TS
Qn=250d33/ yom; Qmin=1, 35d31000 56 136,44
vsmax=150Au; dMm§tsddzj dzdj 1

dYyd syds¢ oBH' bkd stcOLoEC TS
Qn=250d33/ yom; Qmi n=1, 8 d&33 000 64 571,94
vsmax=150Au; dMm§tsddzj dzdj 1

g Yyd syds¢ osH' bkd stcOLoEC TS
Qn=500d3/ yofm; Qmi n=4d3/ Yy 000 91 459,10
dfmy tsdzdzj dedj 1; [I1 R 6dzls

g Yd syds¢ osH' bkd stcOLoEC TS

Qmi n=0, 36d%3/ yofyp; L=200dd3l1 000 32 395,62
1; I P68; [1R 6dzjls

g Yd syds¢ osH' bkd stcOLoEC TS
Qn=120d43/ yom; Qmi n=0, 6 33 000 40 704,40
vmax=40Au; dmftsdzdzj dad j 1 ;

g Yy syds¢ osH' bkd stcOLoEC Tt
Qn=150d33/ yom; Qmi n=0, 9 &3 000 46 975,37
vmax=40Au; dmftsdzdzj dedf j 1 ;

g Yy syds¢ osH' bkd stcOLoEC Tt
Qn=250d3/ yofm; Qmi n=1, 35d331 000 55 410,91
vmax=40Au; dmftsdzdzj dedf j 1 ;

g Yd syds¢ otH' bkdz stcOLokC Tt
Qn=250d433/ yom; Qmin=1, 83 000 63 846,43
vmax=40Au; dmftsdzdzj dedf j 1 ;

g Yd syds¢ otH' bkdz stcOLoEC TS
Qn=500d33/ yom; Qmi n=4d3/ y 000 90 733,60
dMmf sdzdzj dzdj 1; | P68; [1R

g Yd syds¢ otH' bkdz stcOLoEC Tt

Qmi n=0, 2783/ yofy; L=200d&d31 000 28 040,58
1; I P68; [1R 6dzjls

g Yd syds¢ osH' bkdz stcOLoOEC TS

Qmi n=0, 36d&%3/ yofyp; L=200dd31 000 32 395,62
1; I P68; [1R 6dzjls

g Y byds¢ oBH' bkdz lstcOLo kSTt
Qn=120d43/ yom; Qmi n=0, 6 &3 000 40 704,40
vmax=105Au; M tsddzj dzdj 1

g Y byds¢ oBH' bkdz stcOLo kSTt
Qn=150d433/ yofm; Qmi n=0, 9 &3 000 46 975,37
vmax=105Au; dMmftsddzj dzdj 1

g Y syds¢ oBH' bkdz stcOLo kSTt
Qn=250d3/ yofm; Qmi n=1, 35d331 000 55 410,91
vmax=105Au; dMmftsddzj dzdj 1

g Y byds¢ oBH' bkdz stcOLo kSTt
Qn=250d433/ yom; Qmi n=1, 8 B3 000 63 846,43

umax=105Au4;

dfmyf sdzdzj dedd 1




g Yy syds oBH' bkdz stcOLoakC TS
Qn=500d3/ yofm; Qmi n=4d3/ Yy
dfmy sdzdej dzedJ 1; 1 P68; [1R

000

90 733,60

dYyd syds¢ oBH' bkd stcOLoEC TS
Qmi n=0, 27d33/ yoOfm; L=200d3d3
1; I P68; [1R 6dzjls

000

32 332,16

dYyd syds¢ oBH' bkd stcOLoEC TS
Qmi n=0, 36d33/ yoOfm; L =200 d3d3
1; I P68; [1R 6dzjls

000

36 687,20

dYyd syds¢ oBH' bkd stcOLoEC TS
Qn=120d&3/ yofm; Qmi n=0, 6 d33
vmax=150Au; M tsddzj dzdj 1

000

44 995,97

dYyd syds¢ oBH' bkd stcOLoEC TS
Qn=150d&3/ yoOMm; Qmi n=0, 9 d33
vmax=150Au; M tsddzj dzdj 1

000

51 266,93

g Yyd syds¢ osH' bkd stcOLoEC TS
Qn=250d3/ yofm; Qmin=1, 353
umax=150Au; dmftsddjddj 1

000

59 702,48

g Yd syds¢ osH' bkd stcOLoEC TS
Qn=250dk3/ yofm; Qmi n=1, 8 d33
umax=150Au; dmftsddjddj 1

000

68 137,99

g Yd syds¢ osH' bkd stcOLoEC TS
Qn=500d3/ yofm; Qmi n=4d3/ Yy
dfmy sdzdej dzedJ 1; |1 P68; [1I1R

000

95 025,16

g Yy syds¢ osH' bkd stcOLoEC Tt
Qn=1000d33/ yofm; Qmi n=4 &3/
d My tsdzdzj dzd § 1

300

251 175,54

g Yy syds¢ osH' bkd stcOLoEC Tt
Qn=1600d3/ yoMm; Qmi n=6, 4
uvmax=40Au; dimftsdds dzdj 1

300

321 798,78

g Yd syds¢ otH' bkdz stcOLokC Tt
Qn=1000d33/ yofm; Qmi n=4 &3/
umax=105Au; dmftsdds ddj 1

300

251 175,54

g Yd syds¢ otH' bkdz stcOLoEC TS
Qn=1600d3/ yom; Qmi n=6, 4
umax=105Au; dmftsdds ddj 1

300

321 798,78

g Yd syds¢ otH' bkdz stcOLoEC Tt
Qn=1000d33/ yofm; Qmi n=4 &3/
umax=150Au; dmftsddsdedj 1

300

255 467,12

g Y byds¢ oBH' bkdz stcOLo kSt
Qn=1600d3/ yoOMm; Qmi n=6, 4dq
uvmax=150Au; dmftddyj ddj 1

300

326 090,35

g Yy syds oBH' bkdz stcOLoECT
Qn=1, 583/ yom; Qmin=0, 015
vmax=105Au; dMmftsddzj dzdj 1

000

0

11 317,51

g Yy syds oBH' bkdz stcOLoECT
Qn=2, 583/ yom; Qmin=0, 025

vmax=105Au; M tsddzj dzdj 1

000

0

11 654,84




g Yyjlsyds¢ etHr bkdz

stcOL o zC ts

Qn=1, 583/ yom; Qmin=0, 015
vmax=150Au; dMmftsddzj dzdj 1

0001

15 609,08

gy lsyds¢ etsHr bkdz

StcOL o ¢t

Qn=2, 583/ yom; Qmi n=0, 025
umax=150Au; dmftsddjddj 1

0001

15 946,45

gy lsyds¢ etsHr bkdz

StcOL o ¢t

Qn=1, 583/ yom; Qmi n=0, 015
umax=105Au; dmftsddyjddj 1

0001

14 883,53

gy lsyds¢ etsHr bkdz

StcOL o ¢t

Qn=2,5k3/ yom; Qmi n=0, 025
umax=105Au; dmftsddsj ddj 1

0001

15 220,85

gy lsyds¢ etsHr bkdz

StcOL o ¢t

Qn=1, 583/ yom; Qmi n=0, 015
umax=150Au; dmftsddjddj 1

0001

1917511

g Yyjlsyds¢ etHr kdz

StcOL o ¢t

Qn=2, 583/ yofm; Qmin=0, 025
umax=150Au; dmftsddjddj 1

0001

19 512,46

g Yyjlsyds¢ etHr kdz

StcOL o ¢t

Qn=3, 583/ yofm; Qmin=0, 035
umax=105Au; dmftsddjddj 1

0000

12 701,24

g Yyjlsyds¢ etHr kdz
Qmi n=0, 06 33/ yOfy;
1; [l1R 6djls

OLokC &5
L=180 dsc3

0000

14 268,85

g Yyjlsyds¢ etHr kdz
Qmi n=0, 1 &3/ yofy;
1; [l1R 6djls

stcOL o 2€ s
L=200 d3ai3;

0000

16 963,13

g Yyjlsyds¢ etHr kdz
Qmi n=0, 06 B3/ Yyof;
1; [l1R 6djls

OLoEC &5
L=180 dscs

0001

18 560,45

g Yyjlsyds¢ etHr kdz

StcOL o ZC s

Qn=3, 53/ yofm; Qmin=0, 035
umax=150Au; dmftsddjddj 1

0001

16 992,80

g Yyjsyds¢ esHr kdz
Qmi n=0, 1 &3/ yOofy;
1; [l1R 6djls

stcOL o 28 s
L=200 d3di3;

0001

21 254,71

g Yyjsyds¢ esHr kdz

StcOL o ZC s

Qn=3, 5&B3/ yom; Qmin=0, 035
umax=105Au; dmftsddsj ddj 1

0001

16 267,27

g Yyjsyds¢ esHr kdz
Qmi n=0, 06 33/ YyOfy;

OLo E£C &5
L=180 dscs

1; I P68; [1R 6dzjls

0001

17 834,93

g Yyjlsyds¢ etHr kdz
Qmi n=0, 1 &3/ yofy;

stcOL o 2€ s
L=200 dd3;

1; I P68; [1R 6dzjls

0001

20 529,16

g Yyjsyds¢ etHr kdz

sStcOL o kz2C s

Qn=3, 5&®3/ yom; Qmin=0, 035
umax=150Au; dmftsddsjdedj 1

0001

20 558,86

g Yyjsyds¢ etHr kdz
Qmi n=0, 06 33/ yOfy;

OLoEC &5
L=180 dscs

1; I P68; [1R 6dzjls

0001

22 126,51

g Yyjsyds¢ etHr kdz
Qmi n=0, 1 &3/ yofy;

stcOLo kS s
L=200 d3ds;

1; I P68; [1R 6dzjls

0001

24 820,74




shykh2d?2 c¢fj'! WaikzmedeWdice: y ¢t Wdt IsB fé
g Yy syds oBH' bkdz stcOLoEC TS

Qmi n=0, 27d%3/ yoOfy; L=200d3d3yl 1 0005| 2447454
1; [l1R 6djls

dYyd syds¢ oBH' bkd stcOLoEC TS

Qmi n=0, 36d%3/ yofm; L=200d3d3 1 0005| 2882956
1; [l1R 6djls

dYyd syds¢ oBH' bkd stcOLoEC TS
Qn=120d33/ yom; Qmin=0, 6d33|]1 0005| 37138,36
smax=40Au; dff tsdzdzj dedj 1;

dYyd syds¢ oBH' bkd stcOLoEC TS
Qn=150d33/ yom; Qmin=0, 9ad&33|1 0005| 43409,35
vmax=40Au; dmftsdzdaj dadf j 1 ;

dYyd syds¢ oBH' bkd stcOLoEC TS
Qn=250d33/ yom; Qmin=1, 35d3 1 0005| 51844,87
vmax=40Au; dmftsdzdzj dad j 1 ;

g Yd syds¢ osH' bkd stcOLoEC TS
Qn=250d33/ yom; Qmin=1, 8d33|1 0005| 60280,38
vmax=40Au; dmftsdzdzj dad j 1 ;

g Yy syds¢ osH' bkd stcOLoEC Tt
Qn=500dk3/ yofm; Qmi n=4dk3/ ylL 0005| 87167,53
dfmy tsdzdzj dedj 1; [I1 R 6dzls

g Yy syds¢ osH' bkd stcOLoEC Tt

Qmi n=0, 27 &3/ yom; L=200d3d3l 1 000 1] 2447454
1; [1R 6dzjls

g Yy syds¢ osH' bkd stcOLoEC Tt

Qmi n=0, 36d%3/ yof; L=200d3d3l 000 1| 2882956
1; [1R 6dzjls

g Yd syds¢ otH' bkdz stcOLoEC TS
Qn=120d33/ yom; Qmin=0, 6d33|]1 0001| 37138,36
vmax=105Au; M tsddzj dzdj 1

g Yd syds¢ otH' bkdz stcOLoEC Tt
Qn=150d33/ yofm; OQmi n=0, 9d33|]1 000 1] 43409,35
vmax=105Au; M tsddzj dzdj 1

g Yd syds¢ osH' bkdz stcOLoOEC TS
Qn=250d33/ yofm; OQOmi n=1, 35d31 000 1] 51844,87
vmax=105Au; M tsddzj dzdj 1

g Yd syds¢ otH' bkdz stcOLoEC TS
Qn=250d33/ yom; Qmin=1, 8d33|1 0001| 60280,38
vmax=105Au; M tsddzj dzdj 1

g Y byds¢ oBH' bkdz stcOLo kSTt
Qn=500dk3/ yofm; Qmi n=4dk3/ yl1 0001| 8716753
gy tsdzdzj dedj 1; [I1 R 6dzjls

g Y syds¢ oBH' bkdz stcOLo kSTt

Qmi n=0, 2783/ yofp; L=200d3d3ly 000 1| 28766,11
1; [1R 6dzjls

g Y byds¢ oBH' bkdz stcOLo kSt

Qmi n=0, 36d¢3/ yofp; L=200d3d31 000 1] 33121,12
1; [1R 6dzjls

g Y syds¢ osH' bkdz stcOLo kSTt
Qn=120d43/ yofm; Qmin=0, 6d33|1 000 1| 41429,98
umax=150Au; dmftsddsjdedj 1




g Yy syds oBH' bkdz stcOLoakC TS
Qn=150d33/ yom; Qmin=0, 9d&33|1 0001| 4770090
vmax=150Au; dMmftsddzj dzdj 1

dYyd syds¢ oBH' bkd stcOLoEC TS
Qn=250d33/ yom; Qmin=1, 35d31 0001| 56136,44
vmax=150Au; (M tsddzj dzdj 1

dYyd syds¢ oBH' bkd stcOLoEC TS
Qn=250d33/ yom; Qmin=1, 8d33|]1 0001| 6457194
vmax=150Au; (M tsddzj dzdj 1

dYyd syds¢ oBH' bkd stcOLoEC TS
Qn=500d33/ yom; Qmi n=4d3/ y|1 0001| 9145910
dfy tsdzdzj dzgdj 1; [1R 6dzls

dYyd syds¢ oBH' bkd stcOLoEC TS
Qmi n=0, 27d%3/ yofy; L=200d3d3 1 0005| 28040,58
1; I P68; [1R 6dzjls

g Yyd syds¢ osH' bkd stcOLoEC TS
Qmi n=0, 36d%3/ yofm; L=200d3d3 1 0005| 32395,62
1; I P68; [1R 6dzjls

g Yd syds¢ osH' bkd stcOLoEC TS
Qn=120d33/ yom; OQmi n=0, 6d33|]1 0005] 40704,40
vmax=40Au; dmftsddz ddj 1;

g Yd syds¢ osH' bkd stcOLoEC TS
Qn=150d33/ yom; OQmi n=0, 9d33|1 0005 46975,37
vmax=40Au; dmftsddz ddj 1;

g Yy syds¢ osH' bkd stcOLoEC Tt
Qn=250dk3/ yofm; Qmin=1, 35d331 0005| 5541091
vmax=40Au; dmftsddz ddj 1;

g Yy syds¢ osH' bkd stcOLoEC Tt
Qn=250dk3/ yofm; Qmin=1, 8d33|1 0005| 63846,43
vmax=40Au; dmftsdzdzj dedf j 1 ;

g Yd syds¢ otH' bkdz stcOLokC Tt
Qn=500dk3/ yofm; Qmi n=4dk3/ yl1 0005| 90733,60
dfmy sdzdej dzedJ 1; |1 P68; [1R

g Yd syds¢ otH' bkdz stcOLoEC TS
Qmi n=0, 2783/ yofp; L=200d3d3l 000 1| 28040,58
1; I P68; [1R 6dzjls

g Yd syds¢ otH' bkdz stcOLoEC Tt
Qmi n=0, 36d%3/ yofm; L=200d3d3l 000 1| 32395,62
1; I P68; [1R 6dzjls

g Yd syds¢ osH' bkdz stcOLoOEC TS
Qn=120d33/ yom; Qmin=0, 6d33|1 0001| 40704,40
umax=105Au; dmftsddsjdedj 1

g Y byds¢ oBH' bkdz lstcOLo kSTt
Qn=150d33/ yofm; Qmi n=0, 9d33|1 000 1] 46975,37
umax=105Au; dmftsddsjdedj 1

g Y byds¢ oBH' bkdz stcOLo kSTt
Qn=250dk3/ yofm; Qmin=1, 8d33|1 000 1| 63846,43
umax=105Au; dmftsddsjdedj 1

g Y syds¢ oBH' bkdz stcOLo kSTt
Qn=500dk3/ yofm; Qmi n=4d3/ yl1 0001| 90733,60
dgmf sdzdzgj dedd 1; | P68; [1R

g Y byds¢ oBH' bkdz stcOLo kSTt
Qmi n=0, 36d&%3/ yofp; L=200dd3l 000 1| 36687,20
1; I P68; [1R 6dzjls




g Yy syds oBH' bkdz stcOLoakC TS

Qn=120dk3/ yoOfm; Qmi n=0, 6KR3|1 000 44 995,97
vmax=150Au; dMmftsddzj dzdj 1

dYyd syds¢ oBH' bkd stcOLoEC TS
Qn=150d33/ yom; Qmi n=0, 9 &3 000 51 266,93
vsmax=150Au; dMmftsddj dzdj 1

dYyd syds¢ oBH' bkd stcOLoEC TS
Qn=250d33/ yom; Qmin=1, 35d31000 59 702,48
vsmax=150Au; dMm§tsddzj dzdj 1

dYyd syds¢ oBH' bkd stcOLoEC TS
Qn=250d33/ yom; Qmi n=1, 8 d&33 000 68 137,99
vsmax=150Au; dMm§tsddzj dzdj 1

dYyd syds¢ oBH' bkd stcOLoEC TS
Qn=500d33/ yom; Qmi n=4d3/ y 000 95 025,16
dmf sdzdzgj dzedd 1; | P68; [1R

g Yyd syds¢ osH' bkd stcOLoEC TS

Qn=1, 583/ yofm; Qmin=0, 015 000 11 317,51
vmax=105Au; M tsddzj dzdj 1

g Yd syds¢ osH' bkd stcOLoEC TS
Qn=2,5d3/ yom; Qmin=0, 025 000 11 654,84
vmax=105Au; M tsddzj dzdj 1

g Yd syds¢ osH' bkd stcOLoEC TS

Qn=1, 5433/ yom; Qmin=0,015 000 15 609,08
vmax=150Au; M tsddzj dzdj 1

g Yy syds¢ osH' bkd stcOLoEC Tt
Qn=2,5d43/ yom; Qmin=0, 025 000 15 946,45
vmax=150Au; M tsddzj dzdj 1

g Yy syds¢ osH' bkd stcOLoEC Tt

Qn=1, 5433/ yom; Qmin=0, 015 000 14 883,53
vmax=40Au; dmftsdzdzj dedf j 1 ;

g Yd syds¢ otH' bkdz stcOLokC Tt

Qn=1, 5433/ yom; Qmin=0,015 000 14 883,53
vmax=105Au; M tsddzj dzdj 1

g Yd syds¢ otH' bkdz stcOLoEC TS
Qn=2,5dk3/ yom; Qmin=0, 025 000 15 220,85
vmax=105Au; M tsddzj dzdj 1

g Yd syds¢ otH' bkdz stcOLoEC Tt

Qn=1, 53/ yofm; Qmi n=0, 015 000 19 175,11
vmax=150Au; M tsddzj dzdj 1

g Yd syds¢ osH' bkdz stcOLoOEC TS
Qn=2,5dk3/ yom; Qmin=0, 025 000 19 512,46
vmax=150Au; dMmftsddzj dzdj 1

g Y byds¢ oBH' bkdz lstcOLo kSTt

Qn=3, 53/ yom; Qmin=0, 035 000 12 701,24
vmax=105Au; M tsddzj dzdj 1

g Y byds¢ oBH' bkdz stcOLo kSTt

Qmi n=0, 06 33/ yoOfy; L=180d&d3 1 000 14 268,85
1; [1R 6dzjls

g Y syds¢ oBH' bkdz stcOLo kSTt

Qmi n=0, 183/ yOfyp; L=200 iza; 000 16 963,13
1; [1R 6dzjls

g Y byds¢ oBH' bkdz stcOLo kSTt
Qn=3,5d&k3/ yom; Qmin=0, 035 000 16 992,80
vmax=150Au; (M tsddzj dzdj 1




g Yy syds oBH' bkdz stcOLoakC TS

Qmi n=0, 06 33/ yoOfy; L=180d3d3yl 000 1| 18560,45
1; [1R 6djls

dYyd syds¢ oBH' bkd stcOLoEC TS

Qmi n=0, 133/ yoOfyp; L=200d3d3; |1 000 1| 21254,71
1; [lIR 6djls

dYyd syds¢ oBH' bkd stcOLoEC TS

Qmi n=0, 0633/ yof; L=180d3d3g | 0005| 17648,32
1; I P68; [1R 6dzjls

dYyd syds¢ oBH' bkd stcOLoEC TS

Qmi n=0, 1 &3/ yofp; L=200d3d3; |1 0005| 20529,16
|l P68; [l1R 6djls

dYyd syds¢ oBH' bkd stcOLoEC TS

Qn=3, 583/ yom; Qmin=0, 035|171 0001 16267,27
vsmax=105Au; dMmftsddzj dzdj 1

g Yyd syds¢ osH' bkd stcOLoEC TS

Qmi n=0, 0633/ yofp; L=180d3d3l 000 1| 17834,93
1; I P68; [1R 6dzjls

g Yd syds¢ osH' bkd stcOLoEC TS

Qmi n=0, 133/ yoOfp; L=200d3d3; |1 000 1| 20529,16
1; I P68; [1R 6dzjls

g Yd syds¢ osH' bkd stcOLoEC TS

Qn=3, 5d43/ yom; Qmin=0, 035|171 0001| 20558,86
vmax=150Au; M tsddzj dzdj 1

g Yy syds¢ osH' bkd stcOLoEC Tt

Qmi n=0, 06 33/ yoMm; L=180dd31 000 1| 22126,51
1; I P68; [1R 6dzjls

g Yy syds¢ osH' bkd stcOLoEC Tt

Qmi n=0, 133/ yof; L=200dd3; |1 000 1| 24820,74
1; I P68; [1R 6dzjls

g Yd syds¢ otH' bkdz stcOLoOEC TS

Qmi n=0, 2783/ yofp; L=200d3d3l 000 1| 3233216
1; I P68; [1R 6dzjls

shykh2dz2 et j! Wt zmedeWdzf ' 3 ¢
g Yd syds¢ osH' bkdz stcOLoEC TS

Qmi n=0, 2783/ yofp; L=200dd3l 0005| 28775,02
vmax=40Au; dmftsdzdaj dedf j 1 ;

U syds¢ osHT Ekd IstcOLoOECT

Qmi n=0, 36d%3/ yofy; L=200d3d3yl 0005| 33130,03
vmax=40Au; dmftsdzdaj dad j 1 ;

g Y byds¢ oBH' bkdz stcOLo kSTt
Qn=120d43/ yom; Qmin=0, 6d&33|1 0005| 41438,82

LoRa; wvmax=40Awg; dMmi tsdzdzj




g Yy syds oBH' bkdz stcOLoEC TS
Qn=150dk3/ yofm; Qmi n=0, 9 d33
LoRa; wvmax=40Awu; dMmi tsdzdzj

0005

47 709,80

g YJ syds¢ osH' bkdz stcOLoa kSt
Qn=250dk3/ yom; Qmin=1, 35
LoRa; wvmax=40Au; dMmf tsdzdzj

0005

56 145,32

dYyd syds¢ oBH' bkd stcOLoEC TS
Qn=250k3/ yOf); Qmi n=1, 8 &3
LoRa; wvmax=40Awu; dMmi tsdzdzj

0005

64 580,83

g YJ syds oBH' bkdz stcOLo kSt
Qn=500dk3/ yom; Qmi n=4d3/ Yy
LoRa; wvmax=40Au; dMmf tsdzdzj

0005

91 468,00

g Y syds¢ osH' bkd stcOLoEC TS
Qmi n=0, 2783/ yofy; L=200d&dHy
umax=105Au; dmftsddj ddj 1

0002

28 775,02

g Yj syds oBH' kdz stcOLo kSt
Qmi n=0, 36®&3/ yofy; L=200dBH
vmax=105Auy; dmiftsddy ddj 1

0002

33 130,03

g Yy syds¢ osH' bkd stcOLoEC TS
Qn=120dk3/ yofm; Qmi n=0, 6 d33
LoRa; wvmax=105Au; dMm{ tsdzdz

0002

41 438,82

g YJ syds osH' kdz stcOLokSC s
Qn=150d3/ yofm; Qmi n=0, 9 &3
LoRa; wvmax=105Au4; dMmi tsdzdd

0002

47 709,80

g Yd syds¢ otH' bkdz stcOLoEC TS
Qn=250dk3/ yofm; Qmin=1, 353
LoRa; wvmax=105Au; dMm{ tsdzdz

0002

56 145,32

g YJ syds oBH' kdz stcOLoa kSt
Qn=250d3/ yofm; Qmi n=1, 8 33
LoRa; wvmax=105Au4; dMmi tsdzdd

0002

64 580,83

g Y byds¢ oBH' bkdz stcOLo kSt
Qn=500d&3/ yom; Qmi n=4d3/ Yy
LoRa; wvmax=105Au4; dMm{ tsdzdz

0002

91 468,00

g Yy syds oBH' bkdz stcOLoECT
Qmi n=0, 27d33/ yofm; L=200 dizd3
vmax=150Au; dMmfsddzj dzdj 1

0002

32 862,23

g Y byds¢ oBH' bkdz stcOLo kSTt
Qmi n=0, 36d®%3/ yofy; L=200&RHy
umax=150Au; dmftsddyj ddj 1

0002

37 217,26




g Yy syds oBH' bkdz stcOLoEC TS

Qn=120&3/ yOfm; OQmin=0, 6 k3|1 0002| 4552604
LoRa; wvmax=150Au; dMm{ tsdzdz
g YJ syds¢ osH' bkdz stcOLoa kSt
Qn=150&k3/ yOm; OQmin=0, 9&3|10001| 51797,02
LoRa; wvmax=150Au; dMmi tsdzdd
dYyd syds¢ oBH' bkd stcOLoEC TS
Qn=250d3/ yOfm: Qmin=1, 35dd1 0002| 6023252
LoRa; wvmax=150Au; dMm{ tsdzdz
g YJ syds oBH' bkdz stcOLo kSt
Qn=250&k3/ yOm; OQmin=1, 8k3|10002| 6866803
LoRa; wvmax=150Au; dMmi tsdzdd
g Y syds¢ osH' bkd stcOLoEC TS
Qn=500d3/ yofm; Qmi n=4d3/ Yy 000 2] 9555521
LoRa; wvmax=150Au; dMm{ tsdzdz
g Yj syds oBH' kdz stcOLo kSt
Qmi n=0, 27 &3/ yOf; L=200dd|1 0005| 32341,03
vmax=40Au; dMmftsdzdzj dzdj 1;
g Yy syds¢ osH' bkd stcOLoEC TS
Qmi n=0, 36&3/ yOfy; L=200dd]1 0005| 3669610
vmax=40Au; dmftsdzdaj ded j 1 ;
g YJ syds osH' kdz stcOLokSC s
Qn=120&k3/ yOm; OQmi n=0, 6d&3|1 0005| 45004,90
LoRa; wvmax=40Au; dMmf tsdzdzj
g Yd syds¢ otH' bkdz stcOLoEC TS
Qn=150&3/ yOfm: Qmin=0, 9&3|1 0005| 5127581
LoRa; wvmax=40Awg; dMmi tsdzdzj
g YJ syds oBH' kdz stcOLoa kSt
Qn=250&k3/ yOm; OQmin=1, 35d10005| 59711,38
LoRa; wvmax=40Au; dMmf tsdzdzj
g Y byds¢ oBH' bkdz stcOLo kSt
OQn=250¢3/ yOfm: OQmin=1, 8k3|10005| 6814691
LoRa; wvmax=40Awg; dMmf tsdzdzj
g Yy syds oBH' bkdz stcOLoECT
Qn=500&3/ yOfm; Qmi n=4d&3/ y|1 0005| 95034,05
LoRa; wvmax=40Aw; dMmi tsdzdzj
g Y byds¢ oBH' bkdz stcOLo kSTt
Qmi n=0, 27 &3/ yOfy; L=200dd]1 0005| 28384,04

dmy sdzdzj dedd 1: [ 1R

6 dzj Is




g Yy syds oBH' bkdz stcOLoEC TS
Qn=500d33/ yom; Qmi n=4d&3/ Yy
vmax=40Au; dmftsdzdaj dedf j 1 ;

0005

91 077,05

g YJ syds¢ osH' bkdz stcOLoa kSt
Qmi n=0, 36 %3/ yofy; L=200dH
dmf sdzdzj dzd§ 1; [1R 6dzjls

0005

32 739,07

dYyd syds¢ oBH' bkd stcOLoEC TS
Qn=120d&3/ yofm; Qmi n=0, 6 d33
l oT; wvmax=40Au; dm{f tsdzdsj dz

0005

41 047,91

g YJ syds oBH' bkdz stcOLo kSt
Qn=150dk3/ yom; Qmi n=0, 9 d33
l oT; uvmax=40Au; dMm{ tsdzdzj d4

0005

47 318,84

g Y syds¢ osH' bkd stcOLoEC TS
Qn=250d33/ yofm; Qmi n=1, 35d3
l oT; wvmax=40Au; dm{ tsdzdsj dz

0005

55 754,34

g Yj syds oBH' kdz stcOLo kSt
Qn=250d3/ yofm; Qmi n=1, 8 33
l oT; wvmax=40Au; dmy tsdzdzj dz

0005

64 189,90

g Yy syds¢ osH' bkd stcOLoEC TS

Qmi n=0, 27 &3/ yOfm: L=200&H
umax=105Au; dmftsddj ddj 1

0001

28 384,04

g YJ syds osH' kdz stcOLokSC s
Qmi n=0, 36®&3/ yofy; L=200dBH
vmax=105Ay; dmitsddy ddj 1

0001

32 739,07

g Yd syds¢ otH' bkdz stcOLoEC TS
Qn=120dk3/ yofm; Qmi n=0, 6 d33
l oT; wvmax=105Au; dMmi tsdzdzj

0001

41 047,91

g YJ syds oBH' kdz stcOLoa kSt
Qn=150d3/ yofm; Qmi n=0, 9 &3
l oT; wvmax=105Au; dMmf tsdzdzj

0001

47 318,84

g Y byds¢ oBH' bkdz stcOLo kSt
Qn=250dk3/ yom; Qmin=1, 353
l oT; wvmax=105Au; dMmf tsdzdaj

0001

55 754,34

g Yy syds oBH' bkdz stcOLoECT
Qn=250dk3/ yofm; Qmi n=1, 8 d33
l oT; wvmax=105Awu; dmi tsdzdaj

0001

64 189,90

g Y byds¢ oBH' bkdz stcOLo kSTt
Qn=500dk3/ yom; Qmi n=4d3/ Yy
umax=105Au; dmftsdds ddj 1

0001

91 077,05




g Yy syds oBH' bkdz stcOLoEC TS
Qmi n=0, 27d33/ yofm; L=200 dizd3
vmax=150Au; dim{tsddj ddj 1

0001

32 471,27

g YJ syds¢ osH' bkdz stcOLoa kSt
Qmi n=0, 36&3/ yofy; L=200dBH
vmax=150Au; dmitsddy ddj 1

0001

36 826,28

dYyd syds¢ oBH' bkd stcOLoEC TS
Qn=120d&3/ yofm; Qmi n=0, 6 d33
l oT; wvmax=150Awu; dMmi tsdzdaj

0001

45 135,11

g YJ syds oBH' bkdz stcOLo kSt
Qn=150dk3/ yom; Qmi n=0, 9 d33
l oT; wvmax=150Au; dMmf tsdzdzj

0002

51 406,04

g Y syds¢ osH' bkd stcOLoEC TS
Qn=250d3/ yofm; Qmin=1, 353
l oT; wvmax=150Au; dMmi tsdzdaj

0001

59 841,61

g Yj syds oBH' kdz stcOLo kSt
Qn=250d3/ yofm; Qmi n=1, 8 33
l oT; wvmax=150Au; dMmy tsdzdzj

0001

68 277,08

g Yy syds¢ osH' bkd stcOLoEC TS
Qn=500d3/ yofm; Qmi n=4d3/ Yy
umax=150Au; dmftsddj ddj 1

0001

95 164,27

g YJ syds osH' kdz stcOLokSC s
Qmi n=0, 27&3/ yOfy; L=200 i3y
dMmyf sdzdej dzdj 1; | P68; [1R

0005

31 950,08

g Yd syds¢ otH' bkdz stcOLoEC TS
Qmi n=0, 36d%3/ yofyp; L=200d&Hy
dmf sdzdgj dedd 1; | P68; [1R

0005

36 305,14

g YJ syds oBH' kdz stcOLoa kSt
Qn=120d3/ yofm; Qmi n=0, 6 33
l oT; wvmax=40Au; dmy tsdzdzj dz

0005

44 613,91

g Y byds¢ oBH' bkdz stcOLo kSt
Qn=150dk3/ yofm; Qmi n=0, 9 d33
l oT; wvmax=40Au; dMm{f tsdzdsj dz

0005

50 884,88

g Yy syds oBH' bkdz stcOLoECT
Qn=250d3/ yom; Qmi n=1, 3503
l oT; uvmax=40Au; dMm{ tsdzdzj dz

0005

59 320,43

g Y byds¢ oBH' bkdz stcOLo kSTt
Qn=250dk3/ yofm; Qmi n=1, 8 d33
l oT; wvmax=40Au; dMm{f tsdzdsj dz

0005

67 755,96




g Yy syds oBH' bkdz stcOLoEC TS

Qn=500&3/ yoOf; Qmi n=4&3/ y|1 0005| 94643,10
vmax=40Au; dmftsdzdaj dedf j 1 ;

g YJ syds¢ osH' bkdz stcOLoa kSt
Qn=250dk3/ yoOfm; Qmin=1, 35k 10001| 5932043
l oT; wvmax=105Au; dMmf tsdzdzj

dYyd syds¢ oBH' bkd stcOLoEC TS
Qn=250d33/ yom; Qmin=1, 35d3 1 0001| 63407,63
l oT; wvmax=150Awu; dMmi tsdzdaj

g YJ syds oBH' bkdz stcOLo kSt

B3/ yOfy; Qmin=0, 015 3/ yo|1 0002| 15617,98
vmax=105 Au; dMmf tsdzdzj dzd j

g Y syds¢ osH' bkd stcOLoEC TS
Qn=2,5d43/ yom; Qmin=0, 025 0002] 15955,32
LoRa; wvmax=105Au; dMm{ tsdzdz

g Yj syds oBH' kdz stcOLo kSt

Qn=2, 583/ yoOfm; Qmi n=0, 025|171 0002| 2004254
LoRa; wvmax=150Au; dMmi tsdzdd

g Yy syds¢ osH' bkd stcOLoEC TS

B33/ yom; Qmin=0,015 o3/ yo 0002| 1918398
vmax=105 Au; dim{ tsdzdzj dzd j

g YJ syds osH' kdz stcOLokSC s

Qn=2, 583/ yoOfm; Qmin=0, 025|171 0002| 19521,35
LoRa; wvmax=105Au4; dMmi tsdzdd

g Yd syds¢ otH' bkdz stcOLoEC TS

B3/ yom; Q@Qmin=0, 015 &3/ yo 0002) 23271,23
vmax=150 Au; dim{ tsdzdzj dzd j

g YJ syds oBH' kdz stcOLoa kSt

Qn=2, 5%3/ yoOfm; Qmi n=0, 025|171 0002| 2360855
LoRa; wvmax=150Au4; dMmi tsdzdd

g Y byds¢ oBH' bkdz stcOLo kSt

B3/ yom; Q@Qmin=0, 015 &3/ yo 0001) 15227,04
vmax=105 Au; dim{ tsdzdzj dzd j

g Yy syds oBH' bkdz stcOLoECT

Qn=2, 533/ yom; Qmi n=0, 025 0001| 15564,36
l oT; wvmax=105Awu; dmi tsdzdaj

g Y byds¢ oBH' bkdz stcOLo kSTt

B3/ yom; Q@Qmin=0, 015 &3/ yo 0001] 19314,24

umax=150 Aw:; dMmf tsdzdzj dzd j




g Yyjlsyds¢ etsHr bkdz

Qn=2, 583/ yom; Qmin=0, 025

|l oT; uvmax=150Au;

stcOL o z€C ts

dMy & dzdzj

0001

19 651,60

g Yyjlsyds¢ esHr kdz

B33/ yom; Qmin=0, 015 &3/ yo
vmax=105 Au; dMmf tsdzdzj dzd j

ScOLolzC s

0001

18 793,04

g Yyjlsyds¢ etsHr bkdz

Qn=2, 583/ yofm; Qmin=0, 025

|l oT; uvmax=105Au;

StcOL o ZCts

d My & dzdzj

0001

19 130,36

g Yyjlsyds¢ esHr kdz

B33/ yom; Qmin=0, 015 &3/ yo
vmax=150 Au; dMm{ tsdzdzj dzd j

StcOLozC s

0001

22 880,24

g Yyjlsyds¢ etHr kdz

Qn=2, 583/ yofm; Qmin=0, 025

l oT; uvmax=150Au;

StcOL o ZCts

d Y tsdzdzj

0001

23 217,59

g Yyjlsyds¢ esHr kdz

Qn=3, 5d%3/ yom; Qmi n=0, 035
LoRa; wvmax=105Au; dMmi tsdzdd

StcOLozC s

0002

17 001,68

g Yyjlsyds¢ esHr kdz
Qmi n=0, 06 33/ YyOfy;
v ma x

105Au; dMmftsdzdzj ded j 1

kteOL o £C 15
L=180 dsc3

0002

18 569,34

g Yyjlsyds¢ esHr Ekdz

Qmi n=0, 133/ yof;
U ma X

105Au; My tsdzdzj ded j 1

seOL o kG s
L=200 dids;

0002

21 263,57

g Yyjlsyds¢ esHr kdz

Qn=3, 5&B3/ yofm; Qmin=0, 035
LoRa; wvmax=150Au4; dMm{ tsdzdz

StcOL o ZC s

0002

21 088,88

g Yyjlsyds esH' Ekdz
Qmi n=0, 06 33/ yof;
U ma X

150Au; dMmftsdzdzj ded j 1

seOL o kG s
L=180 33

0002

22 656,55

g Yyjlsyds¢ etHr kdz
Qmi n=0, 133/ yofm;
U ma x

150Au; dMmftsdzdzj ded j 1

stcOLo kS s
L=200 d3ds;

0002

25 350,78

g Yyjlsyds¢ etH" bkdz

Qn=3, 583/ yom; Qmi n=0, 035
LoRa; wvmax=105Au; dMm{ tsdzdd

stcOL o zC ts

0002

20 567,74

g Yyjsyds¢ etHr kdz
Qmi n=0, 06 33/ yOfy;
v ma x

105Au; dMmftsdzdzj ded j 1

bteOL o £C 15
L=180 dscs

0002

22 135,37




g Yy syds oBH' bkdz stcOLoEC TS
Qmi n=0, 133/ yofm; L=200 d3ds;
umax=105Au; dmftsddj ddj 1

000

24 829,63

g YJ syds¢ osH' bkdz stcOLoa kSt
Qn=3, 5&B3/ yom; Qmin=0, 035
LoRa; wvmax=150Au; dmi tsdzdd

000

24 654,95

dYyd syds¢ oBH' bkd stcOLoEC TS
Qmi n=0, 06 d33/ yoOfm; L=180d3d3
vmax=150Au; M tsddzj dzdj 1

000

26 222,58

g YJ syds oBH' bkdz stcOLo kSt
Qmi n=0, 1®3/ yOf; L=200 &kd3;
vmax=150Au; dmitsddy ddj 1

000

28 916,83

g Y syds¢ osH' bkd stcOLoEC TS
Qn=3, 53/ yofm; Qmin=0, 035
l oT; wvmax=105Au; dMmi tsdzdaj

000

16 610,72

g Yj syds oBH' kdz stcOLo kSt
Qmi n=0, 06 &3/ yofy; L=180ddBH
vmax=105Auy; dmiftsddy ddj 1

000

18 178,40

g Yy syds¢ osH' bkd stcOLoEC TS
Qmi n=0, 133/ yof; L=200 d3ai3;
dmf sdzdzj dzd§ 1; [1R 6dzjls

000

20 872,64

g YJ syds osH' kdz stcOLokSC s
Qn=3, 5d%3/ yomm; Qmi n=0, 035
l oT; wvmax=150Au; dMmy tsdzdzj

000

20 697,97

g Yd syds¢ otH' bkdz stcOLoEC TS
Qmi n=0, 06 33/ yOfy; L=180d&RH
vmax=150Au; M tsddzj dzdj 1

000

22 265,60

g YJ syds oBH' kdz stcOLoa kSt
Qmi n=0, 13/ yoOfyp; L=200 iza;
dmf sdzdzgj dzd 4y 1; [1R 6dzjls

000

24 959,83

g Y byds¢ oBH' bkdz stcOLo kSt
Qn=3, 5&®3/ yom; Qmin=0, 035
l oT; wvmax=105Au; dMmf tsdzdaj

000

20 176,79

g Yy syds oBH' bkdz stcOLoECT

Qmi n=0, 06d33/ yofm; L=180dizd
vmax=105Au; M tsddzj dadj 1

000

21 744,41

g Y byds¢ oBH' bkdz stcOLo kSTt
Qmi n=0, 133/ yofm; L=200 d3ds;
dmf sdzdgj dedd 1; | P68; [1R

000

24 438,67




U syds¢ eosH' kd IstcOLoOkCT
Qn=3, 583/ yofm; Qmi n=0, 035|171 0001| 24264,01
l oT; wvmax=150Awu; dMmi tsdzdaj

g YJ syds¢ osH' bkdz stcOLoa kSt
Qmi n=0, 06 33/ yoOfy; L=180d3d3ly 000 1| 25831,64
vmax=150Au; dMmftsddzj dzdj 1

dYyd syds¢ oBH' bkd stcOLoEC TS
Qmi n=0, 133/ yofp; L=200d3d3; |1 000 1| 2852590
dmf sdzdgj dedd 1; | P68; [1IR

Vg3 jdy hyk"2dfc cfj’ ¢t WwditilssMme

[ sHEZd d&RfEzd fd 2 fyy suyd
Mde dzOkzO shdBSd 1 0001) 237374

‘\'ﬁ'
ﬁ
[sHbkd' RS-485 My’ sydSse |10001| 218440 !

[ sHEd M-Bus Mmyybydé¢tse o)1 0001| 2184,40

[ sHEd RS-485 wd Muibud|. 001l 162506 ‘_ ‘:%/
SHBGEMsttE?2 &6 s 1 ’ KD}
{OHdBdEHEd | oT Haw Mmujls Vol

SHdtsMistelz2 dzets @ 15 10002 229553

PR BIE Whyks EytedidB c¢cf W

14 h 232y 3?2 Eytedifcetf & & sy MH2?2

It ydfmddlsjd Isjfdases2 1 dzj

RS485 1 0000] 47071,69

eBlsytf jfdayMm! -Ishykh2dz2 8 B3y dzemf dzBH S22 Zt5! Y

t OMABHE®R] te- MujbuydsS { djSls
MsjHddej ded™ W zOdzj y; dMmftsddy 1001| 5242075
qisf zdz Mdzr @ or AEHO; Mty




t OMAH®R] t6- Myujlyds 1 dzjSls
Msi Hddej degdv WdzOdzj y; dMmytsdg 1001 5591548
dB3f zdzt ndz" 7 o' AtsHO; Misjfj
{t OMAHsd] t6- Myujlsyds 1 dzjSls
Mtsj Hddg dedv W dzOdzj y; dMmftsdg 1001] 6057509
dsf Zdz' der = o" AtHO; Mmisjty
t OmMatsHsdjte- Myujsyuds +dzjSls
MsdHddej degdv WdzOdzj y; dMmytsdg 1001| 6406981
dB3f zdzt ndz’ 7 o' AtsHO; Misjfj
t OMAHsd] t6- Myujlsyds 1 dzjSls
Mtsj Hddg dedv W dzOdzj y; dMmftsdg 1001] 6989435
df zdzt fndzr = o AtsHO; Misj
t OmMatsHsdjte- Myj byuds + dzjSls
Mtsd Hddej dzgd™ W d&zOdzj y; dMmytsdg 1001) 7571887
dBf zdzt ndz’ 7 o' AsHO; Misjfj
t OMAHd] t6- Myujlsyds 1 dzjSls
Mtsj Hddej ded™ W dzOdzj y; dMmytsdg 1001] 86203,01
dsf zdz' dzr = o" AtHO; Mmisj
t OmMatsHsdjte- My buyds + dzj Sls
Mtsd Hddzj ded v W dzOdzj y; dMmytsdg 1001] 99016,99
dBf zdzt Mdz’ 7 o' AsHO; Mmisjfj
{t OMAHBd] - Myujlsyds 1 dzjSls
sdf MmtsjHddzj dedw W dzOdzj y; dJ11001| 107 171,32
485+2 difkzdz fmdzr = o' A BBH O;
t OmMatsHsdjte- My syds  dzj Sls
sdf MmtjHddej ded™ W &zOdzj y; dJ11001| 12860558
485+2 ddiflkzdz mMdzr = 9" atsH O;
{ OMAHd] - Myujlbyds 1 dzjSls
sdf MmtsjHddzj dzedw W dzOdzj y; dJ11001| 175553,60
485+2 di3fkzdz fmdgr = o' A BBH O;
t OmMotsHsdjte- Myj suyds  dzj Sls
sdf MmMtjHddsj dzgdv W d&zOdzj y; d|1 100 1| 267 928,31
485+2 diflkzde Mdr 2 o' AcHO;
t OMAHB®] - Myujlbyds 1 dzjSls
sdf MsjHdds dedv W dzOdzj y; d|11001| 32151396
485+2 i3 kzdz mdgr = 9" " BH O;
t OmMotsHsdjte- My suyds  dzj Sls
sdf MmMtjHddsj dedv W d&zOdzj y; d|1 100 1| 45011956

485+ 2

d &3 z dz? mdzr =

dBlstemy J  d32 2y d32

9" AaftsH O;

EytedsB ¢ Wdst sBme

¢2dW B dsd



Vimstes?2 Mise ts H dzw

¢l kzdz mMOte

eOMmY toj Hj d

10000

2 569,39

| f date o3y dzlz 4

J d3Y

vinbtes2Misoats Hd&Y tOMftcj Hj dz
¢l kdz MOté twOHdB LoRa 10000] 477892
vinbtes2Misoats HA&Y tWOMYItej Hj dz
¢l kzdz MOte w©WOHdES |1 oT 10000| 378209

45.
N

s B J 21

ukcbkdde § fjCydsdd § ©OHd

sEdRfdzjCls Hi" B0y 0 tof
Ctsdzo j SIstster IsdfO® sus "vded|10000| 133,15

B3) ;E
OHOfIjte Isjfdzsots? Hdw Ekfls N
sjf desf slstoj B dzj dedw ¢l kdn mo| L 0000 15031 -
st dzj Sl HdzW BsdsOy 0 ©OM .
Odzs B dzdjo' § d BJad3jlsOdzdzdy|1 0001| 116,30 g
BiyHE MjSydwddd wWOHdOIsLO

sBdyd ¢l ndv dEAs0 0 BOM o[ 3908 ®




stsd3f dzj G Is

Csdgo j Clstster

e O©S d)

VYted3f Ish 3 zh 2 dz?

ujf dzsmhud
rzis5; aqp
GOwLOdsdW

Hdzv Bsdls0y 0 o
sdf O sus "uvded

e B k2

sud¢ & -0dedud med
=0, 63/ yom; (Jwvd
5 dzj Is

10000

s Y

11000

887,89

Ct W dst

12 285,68

U f dzshud
rzis5; aqp
GOwLOdsdW

sydS o&jnOddyud MSd
=0, 633/ yom; BEKO
5dzj Is

11000

12 285,68

ujf dzsmhud
rezis5; aqp
GOtOdzlsdw

Isud & 3
=1, 53/
5 dzj Is

nOdzd uj MSd
yofm; ftvd

11000

12 285,68

ujf dzsmud
rezis5; aqp
GOtOdzlsdw

Isud & 3
=1, 53/
5 dzj Is

R Oded ud ME d
yof,; tBtO

11000

12 285,68

ujf dzsmhmud
rezis5; aqp
GOtOdzlsdw

Isud & 3
=0, 6 33/
36tsHO

nOdzd uj MSd
yofm; ftvd

11000

11 129,38

ujf dzsmhmud
rezis5; aqp
GOtOdzlsdw

Isud & 3
=0, 6 33/
36tsHO

nOdzd g MSd
yof,; tBtO

11000

11 129,38

ujf dzsmhyud
rzis5; aqp
GOtOdzls dw

Isud ¢ 3
=1, 5d&3/
36tsHO

nOdzduj MSd
yofy; ftvd

11000

11 129,38

ujf dzsmhyud
rzis5; aqp
GOtOdzlsdw

VYted3f Ish 3 zh 2 dz?

ujf dzsmyud
rzis5; aqp

smax=105Au:

syd¢ dsj-Oddyud M&d
=1, 53/ yom; BKO
3Gt5HO

dze B Mz 2

sud¢ o&jnodduj Med
=0, 6133/ yom; M dd3
YR 46t5HO; ¢

11000
s’ Yy

11000

11 129,38
(o e

12 600,83

v f dzsmhud
rz15; aqp

smax=105Au:

bud¢ &Bj~0deduj msd
=0, 63/ yom; M Jd
[1TR 46BH0O; ¢

11000

12 600,83

ujf dzsmyud
rzis5; aqp

umax=105Au4;

sudS 3§ R0Oded uj M<d
=1, 583/ yom; M dd
[1R 46BH0O; ¢

11000

12 600,83

u g f dzsmud
rz15; aqp

smax=105Au:

bud ¢ &Bj~0dedujmsd
=1,5®3/ yom; m Jd
[1TR 46BH0O; ¢

11000

12 600,83

ujf dzsmyud
rzis5; aqp

umax=105Au4;

sudS 3§ R0Oded uj M<d
=0, 63/ yofm; M dd
[1R 46BH0O; ¢

11000

11 257,73




vd f sy syds o&i-0ddyd m¢d

rz15; qp=0, 6&k3/ yofp; fm ddj1 1000| 1125773
vmax=105Au; [l1R 468HO; ¢

vg fdshud buds d&j~0ddud M d

r15; gp=1, 583/ yOfm; @M dqd1 1000| 1125773
vmax=105Au; [1R 4G68HO; ¢

vg fdztshud buds d&j~0Odedyud M<d

rz15; qp=1, 5&3/ yOfm: M ddl1 1000| 1125773
umax=105Au; [I1R 4EBHO; ¢
VYted3f Ish y h 2 dz2 dzeeMmkz2Ms! 3y ct Wdit IseBme dgyn
vg fdshud buds d&jr0ddyud M¢d

rz15; qp=0, 6&3/ yOm; M dddi 0008| 1281527
vmax=105Auy; [1R 4GBHO; ¢

vg fdtshud buds d&j~0Odedyud M<d

' z15; gp=0, 6d33/ yof; ff ddg1 1000 12815,27
vmax=105Au; [l1R 468HO; ¢

vd fazshud syds o&d-0ddyd Mcd

re15; gqp=1,5d&3/ yOfm; M dqdd1 0008| 1281527
vmax=105Au; [1R 4 GEBHO;

vg fdtshud buds d&j~0Oddyud M<d

rz15; qp=1, 5&3/ yOf: M dddi 1000| 1281527
vmax=105Au; [1R 468HO; ¢

vg fdshuj buds &jr0ddyuj M¢d

[220; qp=2,5d&3/ yOfm; M dqddy1 0008| 1799431
vmax=105Au; [l1R 468HO; ¢

vg fdtshud buds d&j~0ddud M<d

rz20; qp=2, 583/ yofm; M ddg1 1000] 1799431
vmax=105Au; [1R 468HO; ¢

vg fdshuj buds &jr0ddyuj M¢d

[k15; qp=0, 6Kk3/ yOfm; M dqdd1 1000| 1138621
vmax=105Au; [l1R 468HO; ¢

vg fdtshul buds d&j~0ddyud M d

rz15; qp=0, 6&3/ yOf; fm dddi1 1000| 1138621
vmax=105Aud; [1R 468HO; ¢

vg fdshuj suds &jr0ddyuj M¢d

r15; qgp=1, 5&3/ yOfm; M dqddi1 1000| 1138621
vmax=105Au; [l1R 468HO; ¢

vg fdtshud buds d&j~0Odedud M<d

rz15; qp=1, 5&3/ yOfm; M dddi1 1000| 1138621

vsmax=105Au; [I1R

VYted3f Ish 3 zh 2 dz2

4 GtsH O; G

dzy ysB ts2h yIs dz2

ctWdit IsBMme



v sy sydS ojnOodduyj MSd
v fdshy sudC &jmodduintd
sBtOlsdr 2; [IR 6dzjls; ¢ 01O 1 0000 12932,32
v sy syds d&j R Odduj MSd
W gs2; [1R 6djls;: ¢OtOdls 1 0000| 12932,32
v sy syd¢ &is0oddud MSd
sBtOlsdr 2; [IR 6dzjls; ¢ Ot O 1 0000 12932,32
vifdshy syuds do&j - oddyuj MSd
v sy syd¢ &is0oddud MSd
sBtOlsdr 2; [IR 6dzjls; ¢ 01O 1 0000| 18416,80
v sy syd¢ &is0oddud MSd
W gs2; [1R 6djls;: ¢OtOdls 1 0000| 1171511
vifdshy syuds do&j - oddyuj M d
sBwOldy 2; [IR 6djls; cOLO 10000) 1171511
vifdshy syuds o&j - oddyuj M d
fwgs2; [1R 6djls; ¢OtOdls 10000 1171511
vifdshy syuds o&j - oddyuj M d
sBtOlsdr 2; [IR 6dzjls; ¢ 01O 1 0000 1171511
v fdsmy suds &in0ddud Med
sBtOlsdr 2; [IR 6dzjls; ¢ 01O 1 0001| 14837,64
vifdshy syuds o&j - oddyuj MSd
fwgs2; [1R 6djls; ¢OtOdls 1 0001| 1483764
VYt Ish yh 2 dz2 deyyss2h ylsdz2y ¢t W
vifdshy syuds d&j s 0odduj MSd
vifdshy syuds d&j s 0oddyuj MSd
vifdshy syuds d&j s 0oddyuj MSd
d &3 zdz? dzr 2 o' AtsSH; f oW dits 2 10000 13 264,04
vifdshy syuds d&j s 0ddyuj MSd
vifdshy syuds d&j - 0ddyuj MSd
v fdzshyy syd$ od&j - 0ded yj MSd
ddi3f zdz der 2 orf RASH; BBtGGlSdZIOOOO 18 729,12
v fdzshyy sydS$ o&j 2 0ded yj MSd
v f sy suds &jnoddyjmnsd
ddi3f zdz dzr 2 orf RASH; BBtGGlSdZIOOOO 11 850,24
v fdzshyy sydS$ o&j - 0ded yj MSd
q'd3[j'|zdzl ff]erQ 9" "IKH: UtQsttS? 10001 11 850,24

&3t IsB Mme |




vg sy sudsc o&jrOddyud M¢d

(Gl b mar 2 5 nEn: fowdea|l 0000| 1185024
vg sy sude o&jroddyd M¢d

J&f b fdr 2 o' DK, sewsola ! 0000 1185024
vg sy sudsc o&jroddyd M¢d

(Gl b b 2 or BEn: fowdes|l 0001 1497283
vg sy sudsc o&jroddyd M¢d

Jifbd mdr 2 o' DsH; wsewOla ' 0°00L 1497283
VYted3f Ish 3 zh 2 dz2

vud fashuy syds o&d-0ddud Med

RS485; fwuds2; [1r 6ajls; |t 0000 1348973
v fdzsmyy sudS o&d -~ 0ded ud M€ d

RS485; tptOlsdr 2; [1r 6dy|L 0000 1348973
i fdsmyy kuds o7 oddui Me d

RS485: fuwwds?2: [1r 6djls; |t 0000 1348973
6§ &shyy sUdS dsj 7 Odd uj MEd

RS485; tptOlsdy 2; [1r 6dy|L 0000 1348973
v fdzsmuyy sudSs o&j -~ 0ded yd Mm¢d

RS485: fwwds?2: [1r 6djls; |t 0000 1894136
vd fashy syds o&d-0ddyuyd Med

RS485; ftetOld 2; J1Rr 6yl 0000 1894136
6§ &shyy sUdS dj 7 Odd uj mEd

uqWesos2 o' nsH RS485; |t 0000 1198548
vud fashuyy syds o&j-0ddyuyd Med

ygWtesets?2 o atsH RS485; tB|1 0001| 1198548
3G6BHO

vud fashy syds o&d-o0ddyuyd Med

uqWesos2 o' nsH RS485; ! 0000 1198548
v sy suds o&j - O0dedud ¢ d

ygWtesets?2 o' atsH RS485; tB|1 0000| 1198548
3GBHO

vud fashu syds od-0ddyd Med

udWesos2 o' RsH RS485; gt 000 1510798
vud fashuyy syds o&j-0ddyuyd Med

ygWtsets?2 o atsH RS485; tB|1 0001| 15107,98
3G6BHO

DYtz Ish y h 2 dz2 dzyysts2h ylsdz2y ¢t Wd3t sBMmeée |
vg sy sudsc o&jrOddyd M d

RS485; 4 ddfkd Mdr = ontsH|10000| 1560392
5 dzj Is




v fashy syds d&j-0ddud Msd

RS485; 4 dd&sflzdz fqdz' = o ntsH|1 0000| 1560392
5dzj Is

vg fdshyy suds &jr0ddyud M d

RS485; 4 dd&flzdz fqdz' = o ntsH|1 0000| 1560392
5dzj Is

vg fdshyy suds &jr0ddyud M d

RS485; 4 ddflzdz fqdz' = o ntsH|1 0000| 1560392
5dzj Is

vd fdshyy suds &jr0ddyuj M d

RS485; 4 dd&3flzdz fqdz' = o ntsH|1 0000| 2105560
5dzj Is

vd fdshyy suds &jr0ddyuj M d

RS485; 4 dd&3flzdz fqdz' = o ntsH|1 0000| 2105560
5dzj Is

vg fdshuy sudsc o&jr0ddyud M¢d

4 dflzd fdzr 7 oRtHO; ddzsj|1 0003| 1261624
COOdsdY 3ctsHO

vg fdshuyy sudsc o&jrOddyud M d

4 diflzd fdzr 7 o RtHO; ddzsj|1 0003| 1261624
6dzjls; eOtOdzlsdw 3 6EBBHO

vg fdshuyy sudsc o&jrOddyud M d

4 diflzd fMdzr 7 o RtHO; ddzlsj|1 0003| 1261624
COOdsdY 3ctsHO

vg fdshuyy sudsc o&jrOddyud M d

4 diflzd fdzr 7 o RtHO; ddzsj|1 0003| 1261624
6dzjls; eOtOdzlsdw 3 6EBBHO

vg fdshuyy sudsc o&jr0ddyud M¢d

4 dflzd fdzr 7 oRtHO; ddzsj|1 0003|] 1573879
COOdsdY 3ctsHO

vg sy sudsc o&jrOddyud M¢d

4 diflzd fdzr 7 oRtHO; ddzsj|1 0003| 1573879
6dzjls; eOtOdzZlsdw 3 GEBBHO
LYtz Ish y h 2 dz2 dzyysts2h ylsdz2y ¢t Wd3t sBMmeée |
v fashy sydSs dj-0ddud M&d

Gazsj oM M. Bus. % ds?: 1 0000| 1348973
v fashy sydSs dj-0ddud M¢d

qozsj ¥ j 21 M-Bus: seiOlsds | 0000 1348973
vdfashy sydSs dj - 0ddud M¢d

Gdzs) el j2f) M- Bus. f@vds?: 1 0000| 1348973
vdfashy sydSs dj - 0ddud M¢d

qozlsjeWj2fm M-Bus: teiOlsd | 0000 1348973
vdfashy sydSs dj - O0ddud M&d

Gdzs) el j2f) M- Bus. f@vds?: 1 0000| 18941,36

ddzls j W j2fp M- Bus;

sBtcOls dzr




“:w

v fashy syds o«i-0ddud Msd L0000| 1198548
qzlsjteW j2f M-Bus: f§tv ds?; ’
ud fdzsmuy sudS o&d -~0ded ud M¢d

qozsj ¥ j 219 M-Bus: sBiOlsdy L0001 1198548
vud fdzsmuy sudSs o&d -~ O0ded ud M¢d

s )2t M- Bus. fwvdma. |1 0000| 1198548
vud fdzsmuy sudS o&d -~ 0ded ud M¢d

qozsj ¥ j21) M-Bus: sBiOlsds | 0007| 1198548
ud fdzsmuy sudS o&d ~0ded ud M¢d

s 2t M- Bus. fwvdss.|10001| 1510798
v fdzsmyy sudS o&j ~0ded yd M€ d

qozsj ¥ j21) M-Bus: seiOlsds | 000L 15107.98
VYted3f Ish yzh 2 dz?2 deyysts2h ylsdz2 ) ¢
v fdzsmyy sudSs o&d -~0dd yd M d

4 difbd My & ontHO: ddsj|10000| 1560392
COEOdsdY 5dzjls

v fdzsmyy suds o&j -~ O0ded yd Mm¢d

4 difbdr Mdr & ontHO: ddsj|10000| 1560392
COOdsdY 5djls

v fdzsmyy suds o&j -~ O0ded yd Mm¢d

4 difbdr Mdr & ontHO: ddsj|10000| 1560392
COOdsdY 5djls

v fdzsmyy suds o&j -~ 0ded yd M€ d

4 difbdr Mdr & ontHO: ddsj|10000| 1560392
COOdsdY 5djls

v fdzsmyy suds o&j -~ 0ded yd Mm¢d

4 difbdr Mdr & ontHO: ddzsj|10000| 2105560
COOdsdY 5djls

v fdzsmyy suds oj -~ 0ded yd m¢d

4 dBfbd Mdr & ontHO: ddzsj|10000| 2105560
COEOdsdY 5djls

v fdzsmyy suds oj -~ 0ded yd m¢d

4 dBfbd Mdr & ontHO: ddsj|10003| 1261624
COtOdsdY 3EBHO

v fdzsmyy suds oj -~ O0ded yd m¢d

4 dBfbd Mdr & ontHO: ddsj|10003| 1261624
COtOdsdY 3EBHO

v fdzsmyy suds o&j -~ 0ded yd m¢d

4 dBfbd Mdr & ontHO: ddsj|10003| 1261624
COtOdsdY 3EBHO




vdfashy syds dj-0ddyud M¢d
4 dqifkd fdr 7 ootHO®; ddisj|1 0003| 1261624
COOdsdY 3ctBHO

vg fdshyy suds &jr0ddyud M d
4 dBfkzd M 7 ontHO;, ddasj|1 0003| 1573879
COtOdzsdw 3GtHO

vg fdshyy suds &jr0ddyud M d
4 dBfkzd fd 7 entHO;, ddasj|1 0003| 1573879
COtOdzsdw 3GtHO

VYt Ish yzh 2 dz2 deyysBs2h ylsdz2y ¢t

vy syds ojnoddud MSd
IGOHq'tsar :tSHtSdS l oT; UtGwd3$2 10001 18 996,82

s=
&
(78
(s8]
=
[l

11

v fdshy suds djnodduj msd
tGOHthSr:tSHtSds l oT; tSBtGOISleOOOl 18 996,82

vjfdzsiyy syds o3

Oded uj M< d
tGOHCfISE)r ETSHTSOB | o 0001 18 996,82

L v B2

— 11

11

v f sy bude d&j R oddudned
tGOHCfISE)r ETSHTSOB l oT; tSBtGOlSdZIOOOl 18 996,82

vjfdzsimyy syds o3

Odzd uj M¢ d
COHdBO" AsHISA | o 000 1| 2444844

L v B2

— 11

11

v g dshuy bude djfoddyintd
COHSo " AtSHEBSA | 0T ; spolsda | 0001 2444844

11

b § sy Buds dsj R odduinsd
tOHdBe " AtsHSd LoRa; 'UtQWOBBIOOO]. 20 248,43

11

v fdzsihyy sydS od&j - O0ded yj MSd
tOHdSo " RtsHisSdE LoRa; ®©BtOls 0001| 2024843

11

v fdzsihyy sydS$ o - 0ded yj MSd
tOHdBe " AtsHSd LoRa; 'UtQWOBBIOOO]. 20 248,43

11

v fdzsihyy sydS$ od&3j - 0ded yj MSd
tOHdSo " AtsHisSdE LoRa; ®©BtOls 0001| 2024843

11

v fdsmuy suds &inoddud Med
tOHdso " ASHBSA LoRa; f oW B 0001| 25700,04

11

udf sy suds djrodkduimnsd
cOHdso " ASHBSA LoRa; 5B tcOls 1 0001| 25700,04

U tdf Ish yEh 2dz2 Wi bmedceWdfc! y deBmE2 Mts!

vjfdshy sudS kd seOLekSs

fowdsts?: wmax=105Au;: [1r |1 0000 1450937

vjfdshy sudS kd seOLekSs

SetOldy 2: wsmax=105Au: 1| 0000[ 1450937




vjfdshmy syd$¢ Ekzdz stcOL o EC s

ftew ddts?2; Tmax=150AC; [1R 1 0000] 1901518
vjffdshmy syd$¢ kzdz stcOL o EC s

sBtOlsdz 2; Tmax=150AC; [ 10000} 1901518
vjfdshy syd$¢ kzdz stcOL o EC s

ftew dds?2; wvmax=105Au; [1R 1 0000] 1450937
vjffdshmy syd$¢ kzdz stcOL o EC s

SBtOlsdz 2; vmax=105Au; [ 1 0000] 1450937
vjfdshy syd$¢ kzdz stcOL o EC s

ftew dds?2; Tmax=150AC; [1R 10000} 1901518
vjf dsiyy sydS bd SEOLsEC

sBEOkdr 2: Tmax=150Ac: [ |1 0000] 1901518
vjf dsiyy sydS bd SEOLsEC

fteWwdis?2; wvmax=105Au; [1R 1 0000] 1999375
vjf sy sydS bd sSEOLs kS

sBtOIlsde 2; vmax=105Au; [ 1 0000] 1999375
vjf sy sydS bd sSEOLs kS

fewdgs?: Tmax=150AC: [1r |1 0000 2449961
vjifesmuyy suydS bd sEOLokC

sBwOldr 2;: Tmax=150Ac; g1 |1 0000 2449961
vy syds¢ Edz stcOL o EC s

few ds2; [1rR 6djl; cOwodd| ! 0000 1329214
vy syds¢ Edz stcOL o EC s

sBEOkdr 2: [1RrR 6djlk: cowoll 0000 1329214
vy syds¢ Edz stcOL o EC s

few ds2; [1rR 6djl; cOwodd| ! 0000 1329214
vy syds¢ Edz stcOL o kG s

sBEOkdr 2: [1RrR 6djlk: cowgoll 0000 1329214
vy syds¢ Edz stcOL o EC s

few dBs2; [1rR 6djls; cOwodd| ! 0001 1641463
vy syd$¢ kdz stcOL o EC s

sBwOdr 2; [1RrR 6d&jls: cowo|l 0001 1641463
VYted3f Ish yzh 2 dz2 Wt zmedeW dzf ¢ 3 dzeBMmMkz2 Mis!
vy syd$¢ kdz stcOL o EC s

M diRfkzdz Mder 5 o ansHisd3; Htel 1 0000| 1484112
COEOdsdY 5djls

vy syd$¢ kdz stcOL o EC s

M diRfkzdz Mder 5 o AntsHisd3; tB|1 0000| 1484112
COEOdsdY 5djls

vy syd$¢ kdz stcOL o EC s

M diRfkzdz Mder 5 o ansHisd3; Htel 1 000O0| 19 346,88
COEOdsdY 5djls




v dzsmyy syd¢ kdz steOL o ECts
M di3fzdz? Mder @5 o AtsHisd3; tB|1 0000| 19 346,88
CGOtOdzglsdw 5dzjls

vifdsmyy sydSs¢ Edz seOLokC s
M difzdz ffde" &5 9" AsHtsd3; o]t 0000| 1484112
CGOOdlsdw 5dzjls

vifdsmyy sydSs¢ Edz seOLokC s
) qRfzd Mder &3 o' AsHES®R, B[ 0000| 1484112
CGOOdlsdw 5dzjls

vifdsmyy sydSs¢ Edz seOLokC s
M dBfzdz Mder 3 or nsHBA; e 0000| 19346,88
CGOOdlsdw 5dzjls

vifdsmyy sydSs¢ Edz2 seOLokC s
M dBfzdz Mder 38 or nsHBA; ©B| 1 0000| 19346,88
CGOtOdzlsdw 5dzjls

vjfdsmyy sydSs¢ Edz seOLokC s
M difzdz Mder &8 or nsHBA; el 0000| 20306,09
GOtOdzalsdw 5dzjIs

vjfdsmyy syds¢ Edz seOLokC s
M difzdz Mder 38 or nsHBA;, B[ 1 0000| 20306,09
GOtOdzalsdw 5dzjIs

vjfdsmyy syds¢ Edz seOLokC s
M difkzd Mder 38 or nsHBA;, el 0000| 2481192
GOtOdzalsdw 5dzjIs

vjfdsmyy syds¢ Edz seOLokC s
M difkzdz Mder &5 o AntsHisd3; tB|1 0000| 2481192
GOtOdzalsdw 5dzjIs

vjf sy sudS bkd' swOLe kS
qisfzde Mdzr 2 o AsH; f oW ds2

1 0000| 1342729

vjf sy sudS bkd' swOLe kS

qBf bd mder 2 or H: wsewolsd ! 0000 13427.29

vjfdshy sudS bkd' swOLe kS

(i dr fdr 2 o Den: fwwdagsa|l 0000 1342729

vjfdshy sudS bkd' swOLe kS

qBf bdz mder 2 or H: wsewolsd ! 0000 13427.29

vjfdshy sudS bkd' swOLo kS

(ol b fde 2 or en: fwwdso|l 0001 1654984

vjfesmuyy sydS bkd sOLo kSt
ddi3f zdz fde" 2 o' AsH; ©BteOIsdz

Ul Ish yEh2dz2 Wi bmedceWdfc! y deBmE2 fts!

1000 1| 1654984

vy syd$¢ kdz stcOL o EC s
fl ddalsj ¥ j2fMsds RS485; {ftww|1 0000| 15066,74
COtOdzlsdw 5dzj Is

vjff sy syds¢ kdz stcOL o kG s
fl ddzsj oW j 2fMsds RS485; Bt 0000| 15066,74
COtOdzlsdw 5dzj Is




v sy bydS Ed sttOLeokCts
fl ddzlsj oW j 2sd3 RS485; w1 0000| 15066,74
GOOdzsdwY 5dzj Is

v sy bydsS Ed sttOLeokCts

fl ddzlsj oW j 2 sds RS485; tsetg)l 0000| 15066,74
GOOdzsdwY 5dzj Is

v sy bydS Ed sttOLokC s

fl ddzlsj oW j 2sds RS485; ftw|y1 0000| 2051834
GOOdzsdwY 5dzj Is

v sy bydS Ed ttOLeokC s

fl ddzlsjteW j2fMsds RS485; wBt|] 0000| 20518,34
GOOdzsdwY 5dzj Is

vjfdshy syd$¢ kzdz stcOL o EC s

f] JdglsjteWj2fsd RS485; ftgw 1 0000| 1356245
vjf sy bydsS bkd bttOLokCts

f) dqozlsjtelj2msdk RS485; wsei|l 0000 1356245
vjf sy bydsS bkd bteOLokCts

) JoglsjteWj2fMsd RS485; {tgw 1 0000| 1356245
vjf sy bydsS bEd bttOLokCts

f) dqozlsjtelj2msd RS485; wsei|l 0000 1356245
vjf sy bydsS bEd bttOLokCts

f) dqozlsj el j2Mmesd RS485;: wmer|l 0001 1668498
vjfdshyy bydsS bEd bteOLokCts

f qdgs Gl j2MmEd RSA85: v 1 0001| 16684,98
vy syds¢ Edz stcOL o kG s

fl ddzlsjteW j2ftsds RS485; ftew|1 0000| 1957259
COtOdzlsdvY 5dzjIs

vy syds¢ Edz stcOL o EC s

fl ddzlsjteW j2fMsds RS485; Bt 0000| 19572,59
COtOdzlsdvY 5dzjIs

vjfdshmyjbuydsS kEd sttOLokCts

fl ddzlsjteW j2ftsds RS485; ftew|1 0000| 1957259
COtOdzlsdvY 5dzjIs

vy syds¢ kdz stcOL o EC s

fl ddzlsjteW j2fMsds RS485; Bt 0000| 19572,59
COOdlsdY 5dzjIs

vjfdshyjlbydS kd SttOLokCts

fl ddelsj oW j 2 Msds RS485; ftw|1 0000| 25024,20
COOdlsdY 5dzjIs

vjfdshyjlbydsS kEd SttOLokCts

fl ddelsj W j 2 Msds RS485; tsets|1 0000| 25024,20
COOdlsdY 5dzjIs

VYt Ish ykh 2dz2 Wdst 2. Gl )y d&eBfkz?2 !
Qdztel Bl sts! y Syf B

vjf sy bydS bEd SttOLokCts

fl ddalsj W j2Mmsds RS485; 4 (|1 0000| 17180,99
vmax=105Au; [1R 6djls; @GO




v dzsmyy syd¢ kdz steOL o kGt
fl ddelsj W j2Mmsds RS485; 4 (

umax=105Au; [1R

6dzjIs; GO

0000

17 180,99

vifdshy sudS kd seoL k¢
) qdzlsjteWj2Mmsds RS485: 4

vmax=150Au; [1R

6dzj Is; @

0000

21 686,80

vjf sy bydS kd stOLo kSt
fl ddzlsjteW j2fMsds RS485; 4

umax=150Au; [1R

6dzjls; GO

0000

21 686,80

vifdshy sudsS kd seoL k¢
) qdzlsjteWj2Mmsd RS485: 4

vmax=105Au; [1R

6dzj Is; ¢

0000

17 180,99

vjf sy bydS bkd sttOLo kSt
fl ddzlsjte j2fMsds RS485; 6Bt

umax=105Au; [1R

6dzjls; cO

0000

17 180,99

vjfdshyy sydsS kd sttOLo kS
Ml ddzsj oW j2Mtsds RS485; 4

vmax=150Au; [1R

6dzj Is; @

0000

21 686,80

vjf sy bydS kd stOLo kSt
fl ddzlsjteW j2fMsds RS485; 4

umax=150Au; [1R

6dzjls; cO

0000

21 686,80

vjf sy sudS kd swOLokS
M ddzsjteW j2fmsd RS485;: 4

vmax=105Aug; [1R

6dzj Is; @

0000

22 632,61

vy syds¢ Edz stcOL o EC s
fl ddzlsjteW j2fMsds RS485; 4

umax=105Au; [1R

6dzjls; cO

0000

22 632,61

vjf sy sudS kd swOLokS
M ddzsjteW j2fsd RS485;: 4

vmax=150Au; [1R

6dzj Is; @

0000

27 138,42

vy syd$¢ kdz stcOL o EC s
fl ddzlsjteW j2fMsds RS485; 4

umax=150Au; [1R

6dzjls; cO

0000

27 138,42

sifasmy UudS kd S©0OLo kS s
B3/ yom; 4 dEfkd Mdr & eoft

6dzjls; COwOdsdW

36tHO

0003

14 193,34

vifdsmyy sydSs kdz stcOLokCts
B3/ yofm; 4 dBfkdz Mder = o~ ts
1R 6dzjls; cOOdzlsdw 3cEtsHO

0003

14 193,34

sifasmy SUuqs kd S©0LokS s
B3/ yom; 4 dEfkd Mdr 7 eont

6dzjls; COwOdsdW

36tHO

0003

14 193,34




vjfasmuy sydS ko seOLo kS /
%3/ yof; 4 ddfbkd: Mder = onts| 0003| 1419334
[1 R 6dzils; cOttOdzsdw 3cEtHO i
vy ffdsmyy syds¢ bkdz scOLoakCB

33/ yofm;, 4 ddBzflkzdz mMder =~ o~ 000 3] 17315,74
6dzjIs; cOtOdEsdw 3GtsHO

vy ffdsmyy syds¢ bkdz scOLoakCB

33/ yofm;, 4 ddBzflkzdz mMder =~ o~ 000 3] 17315,74
1R 6dzjls; 6OtOdzsdw 36BHO

VY tedsf Ish yh 222 Wi EmMBdeWdzfc! ¥ deBmkz2 Ms!
vy ffdzsmyy syds¢ bkdz scOLoakzC

M ddalsj teW j 2 psds M- Bus; ftew|1 000O0| 15066,74
CGOtOdzElsdw 5dzjls

vy fdsmyy syds¢ bkdz stcOLoakCB

M ddalsj teW j 2 psds M- Bus; tBte|1 0000| 15066,74
GOOdzlsdw 5dzj Is

vdffdsmyy syds¢ bkdz scOLoakzC

M ddalsj teW j 2 psds M- Bus; ftew|1 0000| 1957259
GOOdzlsdw 5dzj Is

vy fdsmyy syds¢ bkdz scOLoakzC

M ddzlsj eW j 2 Msd3 M- Bus; Bt 0000| 1957259
GOOdzlsdw 5dzj Is

vy ffdsmyy syds¢ bkdz scOLoakzE

M ddelsj oW j2Msdga M- Bus; ftew|y1 0000| 15066,74
GOOdzlsdw 5dzj Is

vy ffdsmyy syds¢ bkdz scOLoakzE

M ddalsj teW j 2 Msds M- Bus; tBtgl1 0000| 15066,74
GOOdzlsdw 5dzjIs

vy syds¢ Edz stcOL o EC s

M ddalsj oW j 2 psds M- Bus; ftew|1 0000| 1957259
GOtOdzlsdw 5dzj Is

vy syds¢ Edz stcOL o kG s

M ddzlsj teW j 2 Msds M- Bus; Bt 0000| 1957259
GOtOdzlsdw 5dzj Is

vy syds¢ kdz stcOL o EC s

M ddalsj teW j 2 fpsds M- Bus; ftew|1 0000| 2051834
GOtOdzlsdw 5dzj Is

vy syds¢ Edz stcOL o EC s

M ddzlsj teW j 2 Msds M- Bus; Bt 0000| 2051834
GOtOdzlsdw 5dzj Is

vy syd$¢ kdz stcOL o EC s

M ddalsj oW j 2fQpsds M- Bus; ftew|1 0000| 25024,20
GOtOdzalsdw 5dzjIs

vjffdsmy syd$¢ kdz stcOL o kG s

M ddzlsj teW j 2 Msds M- Bus; Btg|1 0000| 25024,20
GOtOdzalsdw 5dzjIs

vy syd$¢ kdz stcOL o EC s

gp=0, 633/ yom; M ddesj te®W j2Q1 0000| 1356245
GOtOdzsdw 3ctsHO

vjff sy syds¢ kdz stcOL o kG s

gp=0, 633/ yom; M ddelsj te®W j2Q1 0000| 1356245
GOwOdzsdw 3ctsHO




vjfdzshyy sydSs kzdz

qp=1, 583/ yofm; M
GOtOdzsdw 3cEtsHO

qd dzls §

StcOLoalzC S

10001

13 562,45

vjfazshyy sydSs kzdz

gp=1, 583/ yofm; M
GOtOdzlsdY 3GtsHO

qd dzls §

StcOLolzC S

10001

13 562,45

vjfashyy sydSs kzdz

qp=2, 583/ yofm; M
GOtOdzlsdY 3GtHO

qd dzls §

StcOLolzC S

10001

16 684,98

vjfashyy sydS kzdz
ap=2, 5433/ yofm; Mm ddalsj
COOdlsd" 3GBHO
VYted3f Ish 3 zh 2 dz2

StcOLolzC S

10001

Mgl e dcldf ¢ oy

16 684,98

Zece M2 !

2 detcW gt sts' y cyf js.

vjf sy bydsS bEd bteOLokCts
fl ddelsj oW j 2 Msd3 M- Bus; 4 d|10000| 17180,99
vmax=105Au; [1R 6djls; GO
vjfdshy bydS kd bttOLokCts
fl ddzlsjteW j2ftsds M- Bus; 4 dJ10000| 17180,99
vmax=105Au; [1R 6djls; @GO
vjf sy bydsS bkd bttOLokCts
fl ddelsj oW j 2 Msd3 M- Bus; 4 d|10000| 21686,80
Tmax=150Au; [1R 6djls; GO
vjfdshy bydS kd sttOLokCts
fl ddzlsjteW j2ftsds M- Bus; 4 dJ10000| 2168680
Tmax=150Au; [1R 6djls; @GO
vjfdshyy bydsS bEd bttOLokCts
fl ddalsj W j2fmsds M-Bus; 4 (|1 0000| 17180,99
vmax=105Au; [1R 6djls; @GO
vy syds¢ Edz stcOL o kG s
fl ddalsj el j 2 Msds M- Bus; 4 d|1 0000| 17180,99
vmax=105Au; [1R 6djls; @GO
vjfdshyy bydsS bEd bteOLokCts
fl ddalsj W j2fmsds M-Bus; 4 (|1 0000| 21686,80
Tmax=150Au; [1R 6djls; @GO
vjffdsmy syd$¢ kdz stcOL o EC s
fl ddelsj oW j 2 Mtsds M- Bus; 4 d|10000| 21686,80
Tmax=150Au; [1R 6djls; @GO
vjfdshyy bydS bEd bttOLokCts
fl ddalsj W j2Mmsds M-Bus; 4 (|1 0000| 2263261
vmax=105Au; [1R 6djls; @GO
vy syd$¢ kdz stcOL o EC s
Ml ddelsj W j2Mtsds M- Bus; 4 d|10000|] 2263261
vmax=105Au; [1R 6djls; @GO




sjf dsiyy sydS b d
M ddelsj eWj2MmMsdz M- Bus; 4
Tmax=150Au; [1R 6dzjls;

sStcOL o9 lz€C s

q
GO

10000

27 138,42

sjfdshy syds b&d
M ddzlsj teW j 2 Msd3 M- Bus; 4
Tmax=150Au; [1R 6dzjls;

ScOLozC s

d
GO

10000

27 138,42

sifasmy SUuqs kd S©0LokS s
B3/ yom; 4 difbd M & oot
6dzjls; cOwLOdIsdY 3cGBHO

10003

14 193,34

vifazsmyy sydsS bkd steOLokCts
33/ yofm;, 4 ddfkzdz mder = o~ ts
1R 6djls; 6OtOdzsdw 36BHO

10003

14 193,34

vifazsmyy syds bkd ksteOLokCts
33/ yofm;, 4 ddfkzdz mder = o~ ts
6dzjls; eOtOdzlsdw 3 6EBBHO

10003

14 193,34

vifdasmyy suyds kd ksteOLo k¢t
33/ yom;, 4 ddfkzdz mder = o~ ts
1R 6dzjls; 6OttOdzsdw 36BHO

10003

14 193,34

vifdazsmyy syds Ekd steOLo k¢t
33/ yofm;, 4 ddfkzdz mder = ornts
6dzjls; eOtOdzlsdw 3 6EBBHO

10003

17 315,74

vy fdzsmyy syds¢ kdz steOLo kG
B33/ yom; 4 dqifkzd mMder = o~ ts
1R 6dzjls; 6OttOdzsdw 36BHO
VY tedg Ish yzh 2 d&z2 W st Zfms
vy fdzsmyy syds¢ kdz steOLokCB
CtOHdBO" atsH | oT; tewdis?;
5dzj Is

10003

qc

10001

dazy

17 315,74
G!' Y &eeMmkz2 Mts!

20 573,86

z dz!
oT;
Is

sStcOL 9 lz€C s
sBtcOlsdzr 2

v dztsfypyy
tOHdBe T A
GOtOdals d W

syd ¢
sH |
5 dzj

10001

20 573,86

z dz!
oT;

tcOL o zC 15
ftow B2 ;

v dztsfypyy
tOHdBe T A
5dzj Is

syd ¢
sH |

10001

25079,70

z dz!
oT;
Is

sStcOL 9 lz€C s
sBtcOlsdzr 2

v dztsfypyy
tOHdBe T A
GOtOdals d W

syd ¢
sH |
5 dzj

10001

25079,70

z dz!
oT;

StcOL o ¢ 5
few dists2 ;

v dztsfyyy
ttOH B0 A
5dzj Is

syd ¢
sH |

10001

20 573,86

z dz!
oT;
Is

sStcOL o lz¢C s
sBtcOlsdzr 2

v dztsfyyy
ttOH BT A
GOtOdals W

suyd ¢
sH |
5 dzj

10001

20 573,86

z dz!
oT;

tcOL o zC 15
ftow B2 ;

v dztsfyyy
ttOH BT A
5dzj Is

suyd ¢
sH |

10001

25079,70

z dz!
oT;

sStcOL 9 lz¢C s
sBtcOlsdzr 2

v dztsfyyy
tOH 0T A
GOtOdals W

suyd ¢
sH |
5dzj Is

10001

25079,70

tcOL o zC 15
ftow B2 ;

v dztsfyyy
ttOH B0 A
5dzj Is

syd$¢ &dz
BH | oT,;

10001

26 025,46




vy ffdsmyy sydsé bkdz scOLoakzEB

tOHdBO " AnsH | 0T; ®©BtOIsdzr 2|1 0001| 26025,46
CGOtWOdzlsdw 5dzjls

vy ffdsmyy syds¢ bkdz scOLoakCB

tOHdBO " AasH | oT; ftew &2 ; 1 0001) 3053130
5dzj Is

vy ffdsmyy syds¢ bkdz scOLoakCB

tOHdBO " AnsH | 0T; ®BtOIsdzr 2|1 0001| 3053130
GOOdzalsdw 5dzjIs

vy fdsmyy syds¢ bkdz scOLoakzE

tOHdBO" ntsH LoRa; ftwdis?2;|10001] 2182547
5dzj Is

vy ffdzsmyy syds¢ bkdz scOLoakzC

ttOHdBe" AtsH LoRa; BtOIsdz |1 000 1| 2182547
GOtOdzalsdw 5dzjIs

vdffdsmyy syds¢ bkdz scOLoakzC

tOHdBO" ntsH LoRa; ftwdis?2;|10001] 2633129
5dzj Is

vy fdsmyy syds¢ bkdz scOLoakzE

ttOHdBe" AtsH LoRa; BtOIsdz |1 0001| 2633129
GOOdzlsdw 5dzj Is

vdffdsmyy syds¢ bkdz scOLoakzC

tOHdBO" ntsH LoRa; ftwdis?2;|10001] 2182547
5dzj Is

vy fdsmyy syds¢ bkdz scOLoakzC

tOHdBO" ntsH LoRa; ®BBKOIsdz |1 0001] 2182547
GOOdzlsdw 5dzj Is

vy ffdsmyy syds¢ bkdz scOLoakzE

tOHdBO" ntsH LoRa; ftwdis?2;|10001] 2633129
5dzj Is

vy syds¢ Edz stcOL o kG s

ttOHdBOT" AtsH LoRa; BtOIsdz |1 0001| 2633129
GOtOdzlsdw 5dzjIs

vy syds¢ Edz stcOL o EC s

tOHdBO" ntsH LoRa; ftwdis?2;|10001] 27277,06
5dzj Is

vy syds¢ Edz stcOL o kG s

tOHdBO" ntsH LoRa; ®BKOIsdg |1 0001] 27277,06
GOtOdzlsdw 5dzj Is

vy syds¢ kdz stcOL o EC s

ttOHdBOT" AatsH LoRa; ftwdis?2;]|1 0001| 3178291
5dzj Is

vjffdsmy syd$¢ kdz stcOL o EC s

tOHdBO" ntsH LoRa; ®BOIsdg |1 0001] 3178291
GOtOdzalsdw 5dzjIs

VYted3f Ish 3 zh 2 dz2
200

s ¢' yfjfdz RS-485+3

Mgl e el df g oy

ol Xjfddc

2dztcW d3t Istst y e yf |

vifdzsmuy bydS bkdi steOLo kS s

fl ddelsj W j2Mmsds RS485; 3 |1 0001| 1470590
vmax=105Au; [1R 6dzjls

vjfdzsmuy bydS bkdi steOLo kSt

fl ddelsj W j2Mmsds RS485; 3 |1 0001| 1470590
vmax=105Au; [1R 6dzjls




vd fdshyy syd¢

Zdz! stcOL 9 lz€ ts

M ddalsj eW j 2 mMsds RS485; 3 (

smax=150Au:

[1R 6dzjls

000

18 615,42

.,

vd fdshyy syd¢

Zdz! stcOL 9 lz€ s

M ddalsj W j 2 mMsds RS485; 3 (

smax=150Au:

f1R 6dzjls

000

18 615,42

vd fdshyy syd¢

Zdz! stcOL 9 lz€ s

) ddzsjteWj2fsd RS485: 3 (

smax=105Au:

f1R 6dzjls

000

16 379,30

vd fdshyy syd¢

dz! stcOL 9 lz€C s

M ddalsj W j 2mMsds RS485; 3 (

smax=150Au:

f1R 6dzjls

000

20 288,82

vd fdshyy syd¢

dz! stcOL 9 lz€C s

f ddzsjteWj2fsd RS485: 3 (

smax=105Au:

f1R 6dzjls

000

16 379,30

vd fdshy sydc¢

dz! stcOL 9 z€ s

fl ddzlsjteW j2fMsds RS485; 3

smax=150Au:

f1R 6dzjls

000

20 288,82

vd fdshyy syd¢

dz! stcOL 9 z€ s

fl ddzlsjteW j2fMsds RS485; 3

smax=105Au:

f1R 6dzjls

000

35 359,56

v dzsmyy syd <
JazlsjeW j 2 s
smax=105Au:

Fdz! stcOL 9 z€ ts
RS485; 3 Jd a3t
1R 6dzj s

000

35 359,56

v dzsmyy syd <
ddzls j W j 2 M3
smax=150Au:

Fdz! stcOL 9 lz€ s
RS485; 3 Jd a3t
1R 6dzj s

000

39 269,06

vd fdshy syd¢

Fdz! stcOL 9 lz€ s

fl ddzlsjteW j2fMsds RS485; 3

smax=150Au:

f1R 6dzjls

000

39 269,06

vd fdshyy syd¢

Fdz! stcOL 9 lz€ s

fl ddzlsjteW j2fMsds RS485; 3

smax=105Au:

[1R 6dzjls

000

35 359,56

vd sy syd¢

Fdz! stcOL 9 lz€ s

fl ddzlsjteW j2fMsds RS485; 3

smax=150Au:

f1R 6dzjls

000

39 269,06

v dzsmpyy syd <
Jazlsje¥ j 2 s
smax=105Au:

Fdz! stcOL 9 lz€ s
RS485; 3 Jdd3f
1R 6dzj Is

000

35 359,56

v dzsmyy syd <
ddzls j W j 2 M3
smax=150Au:

Fdz! stcOL 9 lz€ s
RS485; 3 Jd a3t
[1R 6dzj Is

000

39 269,06

v dzsmyy syd¢<
ddzls j W j 2 M3
smax=105Au:

Fdz! stcOL 9 lz€ s
RS485; 3 dd3f
[1R 6dzj Is

000

37 267,87

v dzsmyy syd <
Jozlsj 6% j 2 I
smax=150Au:

Edz! stcOL 9 lz€ s
RS485; 3 ddff
[1R 6dzj Is

000

41 177,40

v dzsmyy syd <
ddzls j W j 2 M3
smax=105Au:

Fdz! stcOL 9 lz€ s
RS485; 3 ddff
[1R 6dzj Is

000

37 267,87

v dzsmyy syd <
Jozlsj 6% j 2 I
umax=150Au4;

Edz! stcOL 9 lz€ s
RS485; 3 dd3f
[1R 6dzjIs

000

41 177,40




v dzsmyy syds¢ Edz IstcOL

olzC s

fl ddelsj W j2Mmsds RS485; 3 d|1000 44 648,52
vmax=105Au; [1R 6dzjls

Gji &sMyy 5ydS P& S6OLo S

f) Joglsjte j2fmesds RS485: 3 d|10001| 4855805
vmax=150Au; [1R 6dzjls

Gji &sMyy 5yds & SGOLo kS

f) Joglsjte j2Mmesds RS485: 3 d|10001| 4464852
vmax=105Au; [1R 6dzjls

Gji &sMyy 5yds & S6OLe kS

f) Joglsjte j2fmesds RS485: 3 d|10001]| 4855805
vmax=150Au; [1R 6dzjls

Gji &sMyy syds & S6OLe kS

f) doglsjte j2Mmesds RS485: 3 d|10001| 1470590
vmax=105Au; [1R 6dzjls

Gjf &My’ ydS & S6OLe kS

f) doglsjte j 2 RS485: 3 d|10001| 1861542
vmax=150Au; [1R 6dzjls

Gjf &sMyy syds & S6OLo kS

f) doglsjte j2MmMsds RS485: 3 d|10001| 1470590
vmax=105Au; [1R 6dzjls

Gjf &sMyy syds & S6OLo kS

f) doglsjte j2Mmsds RS485: 3 d|10001| 1861542
vmax=150Au; [I1R 6dzjls

Gjf &sMyy ydS & S6OLe S
qp=150d3/ yOfm: M ddasj e j2|1 0001 8651495
SBtOlsdy 2; vmax=105Au; [

Gjf &EMY’ sydS P& SGOLe S 5

gp=300d&33/ yom; M ddalsj oW j 2 000 86 514,95
SBtOlsdy 2; vmax=105Au; [

vy syds¢ Edz stcOL o kG s
gp=150d33/ yofy; M ddzlsj ¥ §j 2 00O 90 424,46
SBtOlsdy 2; vmax=150Au; [

vy syds¢ Edz stcOL o EC s
qp=300d3/ yOfm: M ddasj e j2|1 0001 9042446
SBtOlsdy 2; vmax=150Au; [

vy syds¢ Edz stcOL o kG s
qp=150d3/ yOfm: M ddasj e j2|1 0001 8651495
ftow dss?2; wmax=105Au; [1R

vy syds¢ kdz stcOL o EC s

gp=300d&33/ yoMm; M ddalsj oW j 2 000 86 514,95
ftowdss?2; wmax=105Au; [1R

vjffdsmy syd$¢ kdz stcOL o EC s
gp=150d33/ yofy; M ddzlsj ¥ j 2 000 90 424,46
ftowdss?2; wmax=150Au; [1R

vy syd$¢ kdz stcOL o EC s
qp=300d3/ yOfm: M ddasj e j2|1 0001 9042446
ftowdss?2; wmax=150Au; [1R

vjffdsmy syd$¢ kdz stcOL o kG s
qp=100d3/ yOfm: M ddasj e j2|1 0001 7239043
sBtOlsdyr 2; wvmax=105Au; [

vy syd$¢ kdz stcOL o EC s
qp=200d3/ yOfm: M ddasj e j2|1 0001 7239043
SBiOlsdz 2; vmax=105Au; [




v dzsmyy syd¢ kdz steOL o ECts
qp=100d3/ yoOm; M ddasjte¥ j2|y0001| 7629994
sBtOlsdy 2; vmax=150Au; [

sjf &My sydqC Fd S6OLeEC G
qp=200d3/ yOfm: M ddasj W j2|1 0001 7629994
SBtOlsdy 2; vmax=150Au; [

5] &My sydqC Fd SGOLeEC G
qp=200d3/ yOfm: M ddasj W j2|10001| 7239043
ftow dBs?2; wmax=105Au; [1R

sjf &My 5ydC Fd SGOLsEC G
qp=100d3/ yOfm: M ddasj W j2|1 0001 7239043
ftow dBs?2; wmax=105Au; [1R

sjf &My 5ydqC Fd S6OLsEC G
qp=100d3/ yOfm: M ddasj W j2|1 0001 7629994
ftow dss?2; wmax=150Au; [1R

5] fkemy BydqC o SGOLsEC G
qp=200d3/ yOfm: M ddasj e j2|1 0001 76299094
ftow dBs?2; wvmax=150Au; [1R

5] fkemy BydqC bd S6OLsEC G

qp=60c&3/ yom: fm dqdlsjtWj2f|L0001| 5826581
SBtOlsdy 2; vmax=105Au; [

sjf &My sydqC bd SGOLsEC G
qp=120&3/ yOfm: M ddasj e j2|1 0001| 5826581
SBtOlsdy 2; wvmax=105Au; [

sjf &My sydqC Fd S6OLsEC G

gp=60d33/ yofm; M ddzlsj teW j 2 M 00O 62 175,31
SBtOlsdy 2; vmax=150Au; [

sjf &My sydqC bd S6OLsEC G
qp=120&3/ yOf; M ddisjt¥j2|10001| 6217531
SBtOlsdy 2; vmax=150Au; [

5] &My suydC bd SGOLsEC G
gp=120d3/ yOf; f ddalsjte¥j2|10001| 5826581
ftow dBs?2; wmax=105Au; [1R

5]y BydqC bd SGOLsEC G

qp=60c&3/ yom: f dqdlsjtWj2fm|y0001| 5826581
ftow dBs?2; wmax=105Au; [1R

sjfd&smMy 5yds & SGOLsEC
qp=120&3/ yOfm; M ddsjt¥j2|10001| 6217531
ftowdss?2; wmax=150Au; [1R

sjf ey BydqC Fd SGOLsEC G

gp=60d33/ yofm; M ddzlsj teW j 2 M 00O 62 175,31
ftowdss?2; wmax=150Auw; [1R

vjffdsmy syd$¢ kdz stcOL o EC s

f) Joglsjtel j2fmsds RS485: 3 d|10001| 5377589
vmax=105Au; [1R 6dzjls

vy syd$¢ kdz stcOL o EC s

f] Joglsjte j2fmsds RS485: 3 d|10001| 5377589
vmax=105Au; [I1R 6dzjls

vjffdsmy syd$¢ kdz stcOL o kG s

f) doglsjtel j2fmsds RS485: 3 d|10001| 5768539
vmax=150Au; [I1R 6dzjls

vy syd$¢ kdz stcOL o EC s

f] Joglsjtel j2fmsds RS485: 3 d|10001| 5768539

vmax=150Au; [1R 6dzjls




v dzsmyy syd$¢ Ekdz steOL o

Z¢ts

f ddalsjtedt j2ftsds RS485; 3 d[1000 53 775,89
vmax=105A4g; [1R 6dzjls

vifazsmyy sydsS Ekd kteOLokCts

Lig} q’dzls;tswcj,l)fr]lsd3 RS485; 3 d 000 53 775,89
vmax=105A4g; [1R 6dzjls

vifazsmyy sydsS Ekd kteOLokCts

Lig} q’dzls;tswcj,l)fr]lsd3 RS485; 3 d 000 57 685,39
vmax=150Ad; [1R 6dzjls

vifazsmyy suydsS Ekd ksteOLokCts

Lig} q’dzls;tswcj,l)fr]lsd3 RS485; 3 d 000 57 685,39
vmax=150Ad; [1R 6dzjls

vifazsmyy suydsS Ekd steOLokCts

Lig} q’dzls;tswcj,l)fr]lsd3 RS485; 3 d 000 54 752,84
vmax=105A4d; [1R 6dzjls

vifdzsmyy syds Ekd kteOLo k¢t

f) ddelsgte¥ j2msds RS485; 3 d[1000 54 752,84
vmax=105A4d; [1R 6dzjls

vifdazsmyy syds Ekd steOLo k¢t

fn q’dzlthrsWJ'er]lsd3 RS485; 3 d 000 58 662,37
vmax=150Ad; [1R 6dzjls

vifdazsmyy syds Ekd steOLo k¢t

fn q’dzlthrsWJ'er]lsd3 RS485; 3 d 000 58 662,37
vmax=150Ad; [1R 6dzjls

vifdazsmyy syds Ekd kteOLo k¢t

f) ddelsgte¥ j2msds RS485; 3 d[1000 54 752,84
vmax=105Ad; [1R 6dzjls

vifdzsmyy syds Ekd kteOLo k¢t

f) ddelsgjte¥ j2msds RS485; 3 d[1000 54 752,84
vmax=105Ad; [1R 6dzjls

v fdzsimyy sydsS bkd steOLo k¢t

fn q’dzlthsWJ’er]tsd3 RS485; 3 d 000 58 662,37
vmax=150Ad; [1R 6djls

vifdzsimyy syds bkd steOLo k¢t

fn q’dzlthsWJ’er]tsd3 RS485; 3 d 000 58 662,37
vmax=150Ad; [1R 6dzjls

vifdzsimyy sydsS bkdz steOLo k¢t

f) ddelsjted j2ftsds RS485; 3 d[1000 55 729,79
vmax=105Ad; [1R 6dzjls

vifdzsimyy sydsS bkdz steOLo k¢t

f) ddalsjtedt j2ftsds RS485; 3 d[1000 55 729,79
vmax=105A4; [1R 6dzjls

vjffdsmy syd$¢ kdz stcOL o EC s

fn q’dzlstjthJ’er]tsdz, RS485; 3 d 000 59 639,30
vmax=150A4; [1R 6djls

vy syd$¢ kdz stcOL o EC s

fn q’dzlstjthJ’er]tsdz, RS485; 3 d 000 59 639,30
vmax=150Ad; [1R 6djls

vjffdsmy syd$¢ kdz stcOL o kG s

f) ddalsjted j2ftsds RS485; 3 d[1000 55 729,79
vmax=105Ad; [1R 6djls

vy syd$¢ kdz stcOL o EC s

fl ddzsj oW j 2fsds RS485; 3 d|1 000 55 729,79

vmax=105Au; [1R 6dzjls




Gji&sMyy syds & SGOLo S
) ddzlsjteWj2Mmsds RS485; 3 dl10001| 5963930
vmax=150Au; [1R 6dzjls
Gji &sMyy 5ydS P& S6OLo S
) ddzlsjteWj2msds RS485; 3 dl10001| 5963930
vmax=150Au; [1R 6dzjls
Gji &sMyy 5yds & SGOLo kS
qp=500d&3/ yof); M ddzsjteWj2|1 0001| 15998052
SBtOlsdy 2; vmax=105Au;
v dsmyy syd¢ EBdz stcOL ok
gp=500d33/ yofm; m ddzlsj ¥
SBtOlsdy 2; vmax=150Au;
v dzsmyy syd¢ kdz stcOL ok
gp=500d33/ yom; m ddzlsj ¥
ftow dSs2; wumax=150Awu; [
z
W

1 0001) 163889,90

1
s
2
1
s
2

1 0001) 163889,90

vy syds¢ Edz stcOL o
qp=500d3/ yofy; M ddasjte
ftow dds?2; wvmax=105Au; [1R

VYted3f Ish yzh 2 dz2 Wdst EmedeWdzf ' 3 ol yj f daff ¢

f
c
J
f
c
J
R
¢ &
j2|1 0001 159980,52

200 s 6 yfjfdz RS-485+3 2ddateW Bt Ists' y eyt |

vjf dzshyy sydS bkd SEOLo kS
2 HOLYdSO HOodzjdzdw; fp dddy 0000| 49017,83
9ntHO;, fWwdks?2; uvmax=105A

sjf sy sydS bd SE0LsECE
2 HOLYJSO HOodzjdzdw; f) dddy 0000| 3578774
9nBBHO,;, ftwdkts?2; wvmax=105A

vifdshy sudS bd seOLokSts
2 HObYdSO HOodzjdedw; T dddy1 0000 2996914
9nBHO,;, ftwdkts?2; wvmax=105A

vy syds¢ kdz stcOL o EC s
2 HObYUJCO HOodzjdzdw; M dafy0000| 2996914
9nBHO;, fttwdkts?2; wvmax=105A

sjfdshy suydS bkd seOLekS
2 HOLYJCO HOodzj dedw; f) ddd 0001| 2996914

9ntSHO; sBtOlsdz 2 ; vmax=10
vy syd$¢ kdz stcOL o EC s
2 HOBYdSO HOodzjdzdw; fp ddg1 0001 2996914
9ntSHO; sBtOIsdzr 2 ; umax=10
i dzsmyy syds¢ Lkdz stcOLo kS s
2 HOIYdJSO HOodzjdedw; M ddg10001] 35787,74
9ntSHO; sBtOIsdz 2 ; vmax=10
vjffdsmy syd$¢ Ekdz stcOL o EC s
2 HOBYdSO HOodzjdzgdw; fp ddg1 0001 49017,83
9ntSHO; sBtOIlsdzr 2 ; umax=10




ud fdsmuy sud¢<
HOIyYyd¢ o
9nfBHO;

HOo dzj dzd v ;
SBOIsdz 2

dz! stcOL 9 lz€ ts
fn ddzlsd

vmax=10

000

50 932,39

udfasmhyy syd¢<
HOIsyd¢ O
9nfBHO;

HOo dzj dzd W ;
fow i3ts?;

Edz steOL oSt
fy o dals §

smax=105A

000

50 932,39

ud fdzsmuy sud¢
HOIyd ¢ O
9nfBHO;

N

HOo dzj dzd v ;
sBtcOIsder 2 ;

Zdz! stcOL 9 z€ s

m ddq

vmax=10

000

58 313,00

ud fdzsmuy sud¢
2 HOIsydeso
BH O;

©
11

HOo dzj dzd ¥ ;
flew Bts? ]

dz steOL oG 5

f dag
vumax=105A

000

58 313,00

ud fashmuy syds
2 HOIyYyds¢o
BSHO;

(u]
11

HOo dzj dzd v ;
fow its?;

dz! stcOL 9 z€ s

fy d dz
vumax=150A

000

62 222,51

ujfasmhyy syd<
2 HOIsydso
9ntSHO;

HOo dzj dzd W ;
sBtcOlsdze 2 ;

Zdz? steOL oGS

i ddq

vumax=15

000

62 222,51

ud fashuy syds
Olyd¢ o
9nfBHO;

I

HOo dzj dzd W ;
fow it

dz! stcOL 9 z€ ts
n ddzsj

smax=150A

000

54 841,90

ujfasmhy sydc<
HOIkyd¢ o
9ntSHO;

HOo dzj dedw ; M
sBtcOlsdze 2 ;

Ed steOLokCts
d dzls §

vumax=15

000

54 841,90

v fashy syd¢
2 HOIsYyds o
9ntSHO;

HOo dzj dzd v ;
ftow di3ts 2 ;

Fdz! stcOL 9 lz€ s

fy d dz
vumax=150A

000

52 927,34

ujfasmhyy syd<
2 HOIsydso
9ntSHO;

HO8 dzj dzd ¥ ;
sBtcOlsdze 2 ;

Zdz? stceOLo kG

fn ddq

vumax=15

000

52 927,34

ud fdashuy syd¢
2 HOIsYydes o
9nfBHO;

HOo dzj dad W ;
ftow dists2 ;

Fdz! stcOL 9 lz€ s

fl d dz
vumax=150A

000

39 697,26

ud fdzsmuy sud¢<
2 HOIsydeso
9ntSHO;

HOo dzj dzd v ;
sBtOIsdz 2 ;

Zdz! stcOL 9 lz€ s

m ddq

vmax=15

000

39 697,26

ud fashuy syds
2 HOIsYydes o
9nfBHO;

HOo dzj dad W ;
ftow di3s 2 ;

Edz! stcOL 9 lz€ s

fl d dz
vumax=150A

000

33 878,65




ud fdsmuy sud¢<
2 HOIsydeso
9nfBHO;

HOo dzj dzd Vv ;
ftow dizts 2 ;

dz! stcOL 9 lz€ ts

smax=150A

m ddg

000

33 878,65

udfasmhyy syd¢<
HOIsyd< o
9nfBHO;

N

HOo dzj dzd Vv ;
sBtOIsds 2 ;

dzt steOL o kG 5

umax=15

) ddq1

000

33 878,65

ud fdzsmuy sud¢
HOIyd ¢ O
9nfBHO;

N

HOo dzj dzd v ;
sBtcOlsdz 2 ;

Zdz! stcOL 9 z€ s

vmax=15

m ddg1

000

33 878,65

ud fdzsmuy sud¢
2 HOlydSo

HO?9
ddif zdz2 mdzr = o~

Zdz' IsteOL o kC
dzjy dedvw G1/ 2"
SHO; ftew dis?

000

62 222,51

ud fdsmuy sud¢
2 HOlYydco

HO9
dd&3f Zdzr mdzr = 9o~

dz! stcOL 9 z€ s
dzj ded v ; f 6w dj
BSHO; vsmax=1

000

68 417,30

v fdsyy syds

qp=120d3/ yof;
qaisf zdz Mmdzr & o R

Fdzt stcOL 9 kC ts
2 HOkydg<o
SHO; sBtcOls dd

000

71 930,28

vd sy syd¢

qp=120d&3/ yof;
d s Zdz' dzr = oA

Zdz! stcOL o zC s
2 HOIydeso
SH O; ftow d3ts

000

71 930,28

v fdsyy syd¢

qp=200d3/ yOm;
dgf zdz' fnder = oA

Fdz' stcOL 9 kG ts
2 HOkyYydgSo
SHO; Bt Ols dd

000

86 054,89

vd sy syd¢

qp=200d&3/ yof;
d B Zdzt fndzr = oA

Zdz? stcOL o zC s
2 HOIydeso
SHO; ftwdis?

000

86 054,89

v fdsyy syds

qp=300d3/ yOm;
df zdz' fnder = oA

Fdzt stcOL 9 kC ts
2 HOkydgSo
SHO; sBtcOls dd

000

100 179,43

vd sy syd¢

qp=300d&3/ yof;
d s Zdz' fder = oA

Zdz! stcOL o lzC s
2 HOIydeso
SHO; ftw dis?

000

100 179,43

vd fdshyy syd¢

qp=500d3/ yof;
d&sf zdz' der 7 oA

Zdz! stcOL 9 lz€ s
2 HOIydeso
SHO; sB tc Ols d2

000

173 644,99

vd sy syd¢

qp=500d&3/ yof;
d B Zdzt fqdzr = oA

Zdz! stcOL o lzC s
2 HOIydeso
SHO; ftwdis?

000

173 644,99




ud fdsmuy sud¢<
2 HOIsydeso
9nfBHO;

HOo dzj dzd Vv ;
ftow dizts 2 ;

dz! stcOL 9 lz€ ts

 ddg
vmax=105A

000

67 440,35

udfasmhyy syd¢<
2 HOIyd<o
9nfBHO;

HOo dzj dzd Vv ;
sBtOIsds 2 ;

Ed steOLo kSt
) ddq

vumax=10

000

67 440,35

v fashmuyy syd<
2 HOIsydeso
9ntSHO;

HOo dzj dzd v ;
sBtcOlsdz 2 ;

Zdz! stcOL 9 z€ s
fn ddg

vmax=10

000

68 417,30

udfasmud syd¢
2 HOIyd<o
9nfBHO;

HOo dzj dzd Vv ;
sBtOIsds 2 ;

Ed steOLo kSt
) ddq

vumax=10

000

69 394,26

v fasmud syd¢
2 HOIsYydes o
9ntSHO;

HOo dzj dzd v ;
ftow di3s 2 ;

dz! stcOL 9 z€ s

fy d dz
vumax=105A

000

69 394,26

ujfashud syd<
2 HOIsydso
9ntSHO;

HOo dzj dzd v ;
oW di3ts 2 ;

Zdz? steOL oGS

f dd
vumax=105A

000

69 394,26

v fasmud syd¢
2 HOIsYydes o
9ntSHO;

HOo dzj dzd v ;
sBtcOlsdz 2 ;

dz! stcOL 9 z€ ts
fn ddz

vmax=10

000

69 394,26

ujfashud syd<
2 HOIsYydso
9ntSHO;

HOo dzj dzd v ;
sBtcOlsdze 2 ;

Ed steOLokCts
iy ddq

vumax=15

000

73 303,79

v fashud syd¢
2 HOIsYyds o
9ntSHO;

HOo dzj dzd v ;
sBtcOlsdz 2 ;

Fdz! stcOL 9 lz€ s
fn ddz

umax=15

000

73 303,79

ujfashud syd<
2 HOIsydso
9ntSHO;

HO8 dzj dzd ¥ ;
few B2 ;

Zdz? stceOLo kG

f ddd
vumax=150A

000

73 303,79

v fashmud syd¢
2 HOIsYydes o
9ntSHO;

HOo dzj dad W ;
ftow dists2 ;

Fdz! stcOL 9 lz€ s

fl d dz
vumax=150A

000

73 303,79

ud fdzsmuy sud¢<
2 HOIsydeso
9ntSHO;

HOo dzj dzd v ;
sBtOIsdz 2 ;

Zdz! stcOL 9 lz€ s
fn ddg

vmax=15

000

72 326,81

v fasmhyy syd¢
2 HOIsYydes o
9ntSHO;

HOo dzj dad W ;
sBtcOlsdz 2 ;

Edz! stcOL 9 lz€ s
fn ddz

umax =15

000

72 326,81




v fdshyy suds
2 HOIYdSe O HO9
9ntSHO;

sBtcOlsdz 2 ;

z dz!
dzj dzd v

sStcOL o9 lz€C s
fn ddg

vmax=10

000

68 417,30

v fashyy sydc
2 HOIYdSC O HO9
g zdz mMmdz" = o~

Zdz stcOL o lzC s
dzj dzed v ; v d3
BSHO; vmax=1

000

72 326,81

v fdshyy suds
2 HOIYd$¢O HO?9
9ntBHO; oW iBts2 ,

Zdz! stcOL 9 z€ s
dzj dzdv; fp ddd
smax=150Au

000

72 326,81

v fashyy bydc
2 HOIYdSC O HO9
9nBBHO;, (v ds?

Edz! stcOL 9 lz€ s
dzj dzdv; fp ddg
,umax=105Au

000

68 417,30

v fdtshyy suds
2 HOIYd$¢O HO9
9nfBHO;

sBtcOlsder 2 ;

iz dz
dzj ded v ;

sttOLo k¢t
) d dz

umax =15

000

71 349,86

v fashyy syd¢
2 HOIYdS O HO9
9~ntsHO,;, ftow B2

Fdz stceOL o zC s
dzj dzdv; fp ddf
: umax=150A

000

71 349,86

g fdtshyy suds
2 HOIYd$¢O HO9
9nfBHO;

sBtcOlsder 2 ;

iz dz
dzj ded v ;

sttOLo k¢t
) d dz

vmax=10

000

67 440,35

vud fdzsmyy sud¢
2 HOIYdS O HO9
9nfBHO;

sBteOlsdzr 2 ;

Zdz! stcOL 9 l2€C ts
dzj dedv; M ddb
vumax=15

000

71 349,86

v fasfyy sydt
2 HOIYd¢O HO9
9attHO; (W ds?

Fdz! stcOL 9 lz€ s
dzj dedv; M ddg
© umax=105A

000

67 440,35

vud fdzsmyy sud¢
2 HOIYdS O HO9
BHO;

©
11

ftow d3ts?;

Fdz stcOL o zC s
dzj dzdv; fp ddg
smax=150A

000

71 349,86

v sy sud¢
qp=500d&3/ yof;
d s Zdz' fder = oA

Zdz! stcOL o lzC s
2 HOIydeso
SHO; ftw dis?

000

177 554,52

v fashyy syd¢
qp=500d3/ yof;
d&sf zdz' der 7 oA

Zdz! stcOL 9 lz€ s
2 HOIydeso
SHO; sB tc Ols d2

000

177 554,52

v sy sud¢
qp=300d&3/ yof;
d s Zdz' fder = oA

Zdz! stcOL o lzC s
2 HOIydeso
SHO; ftwdis?

000

104 088,94




vd fdshyy syud¢

qp=150d3/ yof;
disf zdz' der 7 oA

Zdz? stceOLo kG
2 HOIydeso
SHO; W dis?

000

104 088,94

vd fdshyy syd¢

qp=150d&3/ yofm;
d B Zdz' fdzr = oA

Zdz' stcOL o kC
2 HOIyde¢o
SHO; ftew dis?

000

100 179,43

vd fshyy syd¢

qp=150d&3/ yof;
d B Zdzt fpdzr = oA

Zdz! stcOL 9 z€ s
2 HOLYyde¢oO
SHO; tBiOlsdd

000

100 179,43

vd fdshyy syd¢

qp=150d&3/ yof;
d B Zdz' fdzr = oA

Fdz! IstcOL o zC ts
2 HOILyde<¢o
SHO; Bt Ols d2

000

104 088,94

vd fdshyy syd¢

qp=300d&3/ yof;
d s Zdz' dzr = oA

dz! stcOL 9 z€ s
2 HOLyYyde¢o
SHO; tBtOlsdd

000

104 088,94

v fdsyy syd¢

qp=200d3/ yOm;
dgf zdz' fnder = oA

Zdz stcOLokC
2 HOILydqde<¢o
SHO,;, ftwdis?

000

89 964,42

vd fdshyy syd¢

qp=100d&3/ yof;
d s Zdz' dzr = oA

Zdz! stcOL o zC s
2 HOIydeso
SHO; ftwdis?

000

89 964,42

v fdsyy syd¢

qp=100d3/ yOm;
dgf zdz' fnder = oA

Zdz? stcOLoEC
2 HOILydqde<¢o
SHO,;, ftwds?

000

86 054,89

vd sy syd¢

qp=200d&3/ yof;
d B Zdzt fndzr = oA

Zdz stcOL o lzC s
2 HOIbYdse O H
SHO; tBtOIlsd

000

89 964,42

v fdsyy syd¢

qp=100d3/ yOm;
df zdz' fnder = oA

Fdz' stcOL o kzC s
2 HOIsYyds¢ o H
SH O; sBtOls dd

000

89 964,42

vd sy syd¢

qp=100d&3/ yof;
d s Zdz' fder = oA

Fdz! stcOL 9 lz€ s
2 HOBLyde¢o
SHO; tBtOIls dz

000

86 054,89

vd fdshyy syud¢

qp=120d3/ yofm;
d&sf zdz' der 7 oA

Zdz? stceOLo k2GS
2 HOIydeso
SH O; ftow i3ts

000

75 839,80

vd sy syd¢

qp=120d&3/ yof;
d s Zdz' fder = oA

Edz! stcOL 9 lz€ s
2 HOBLyde¢o
SHO; BtOIls dz

000

75 839,80




VYted3f Ish 3 zh 2 dz?
200
v fdashyy bydc

Fdz! stcOL 9 lz€ s

Wdst e d e W
s 6! ytfjfdz M-Bus+3

vy ffdsmyy syds¢ bkdz scOLoakzE B

gp=60d33/ yofm; 2 HOIYdESO H|1 0001} 71930,28
dif zdzt Mder = e ~tsHO; tBKOIsd]

vjfdshy syd$¢ kzdz stcOL o EC s

gp=60d3/ yofm; 2 HOIlYdE O H|1 0001| 75839,80
di3f zdzt Mder = e "tHO; ®BiKOIsd]

vy fdsmyy syds¢ bkdz stcOLoakCB

gp=60ad3/ yofm; 2 HOIYdEO H|1 0001] 71930,28
dif zdzt Mder = @~ tsSH O; f oW i3ts

vy ffdsmyy syds¢ bkdz scOLoakC
gp=120d&3/ yofm; 2 HOLYd<oO

RS485: 3 ddfbd Mmdr 5 onwsu|l 0001 7583980
6 dzj Is

vy ffdsmyy syds¢ bkdz scOLoakzC

2 HOILYdS¢ O HOo9dzj dgdw G1/ 2"| 1 0002| 71349,86
di3f zdz! Mder = e ~rtHO; ftow B2

vy ffdsmyy syds¢ bkdz scOLoakzE

gp=60ad&3/ yofm; 2 HOLYdJEO H

RS485; 3 q&fbkd mdr 5 oowsu|l 0003 7120956
6 dzj Is

vdffdsmyy sydsé¢ bkdz scOLoakzE

2 HOILYdS¢ O HO9dzj dgdw G1/ 2"|1 0004 71349,86
di3f zdz! Mder = o -~tSHO; tBKOIsdz

vmax=150Au; [1R 6dzjls

f) ddelsgte¥ j2msds M- Bus; 3 d|10001| 1470590
vmax=105A4d; [1R 6dzjls

vy syds¢ Edz stcOL o EC s

f) ddelsgte¥j2mtsds M- Bus; 3 d|10001| 1470590
vmax=105A4d; [1R 6dzjls

vy syds¢ Edz stcOL o EC s

f ddalsjtedj2fsds M- Bus; 3 d[10001| 1861542
vmax=150A4d; [1R 6dzjls

vy syds¢ Edz stcOL o EC s

f ddalsj et j2Mmsd M- Bus; 3 d[10001| 1861542
vmax=150A4d; [1R 6dzjls

vy syd$¢ kdz stcOL o EC s

f ddalsj et j2Mmsd M- Bus; 3 d[10001| 2028882
vmax=150Ad; [1R 6dzjls

vy syd$¢ kdz stcOL o EC s

f ddalsj et j2Msd M- Bus; 3 d[10001| 1637930
vmax=105A4d; [1R 6dzjls

vy syd$¢ kdz stcOL o EC s

f ddalsj et j2Msd M- Bus; 3 d[10001| 1637930
vmax=105A4d; [1R 6dzjls

vy syd$¢ kdz stcOL o EC s

fl ddelsj W j 2 Mtsds M- Bus; 3 d|10001] 2028882




v dzsmyy syd¢ kdz steOL o ECts

fl ddelsj W j2Mmsds M- Bus; 3 d|1000 35 359,56
vmax=105Au; [1R 6dzjls

Gji &sMyy 5ydS P& S6OLo S

) qdzsjeWj2fmsd M-Bus; 3 d|10001| 3535956
vmax=105Au; [1R 6dzjls

Gji &sMyy 5yds & SGOLo kS

) ddelsj W j2Mmsds M- Bus: 3 d|10001| 3926906
vmax=150Au; [1R 6dzjls

Gji &sMyy 5yds & S6OLe kS

) ddelsj W j2Mmsds M- Bus: 3 d|10001| 3926906
vmax=150Au; [1R 6dzjls

Gji &sMyy syds & S6OLe kS
qdzls j oW j 2fytsds M- Bus; 3 ddsf|y1 0001| 3726787
vmax=105Au; [1R 6dzjls

Gjf &My’ ydS & S6OLe kS
qdzls j oW j 2 )sds M- Bus: 3 ddsf|1 000 41 177,40
vmax=150Au; [1R 6dzjls

Gjf &sMyy syds & S6OLo kS
qdzls j oW j 2 )sds M- Bus: 3 ddsf|1 000 41 177,40
vmax=150Au; [I1R 6dzjls

Gjf &sMyy syds & S6OLo kS
qdzls j oW j 2Tyscds M- Bus: 3 ddsf|10001| 3726787
vmax=105Au; [1R 6dzjls

Gjf &sMyy ydS & S6OLe S

) ddzlsjteWj2Msds M- Bus: 3 dl10001| 4464852
vmax=105Au; [1R 6dzjls

Gjf &sMy’ sydsS & S6OLo kS

f) qdzlsjteW j2Msds M- Bus: 3 dl10001| 4855805
vmax=150Au; [I1R 6dzjls

vy syds¢ Edz stcOL o kG s

) qdzlsjteWj2Msds M- Bus: 3 dl10001| 4464852
vmax=105Au; [I1R 6dzjls

vy syds¢ Edz stcOL o EC s

f) qdzlsjteWj2Msds M- Bus: 3 dl10001| 4855805
vmax=150Au; [1R 6dzjls

vy syds¢ Edz stcOL o kG s

) qdzlsjteWj2Msds M- Bus: 3 dli10001| 1470590
vmax=105Au; [1R 6dzjls

vy syds¢ kdz stcOL o EC s

f) qdzlsjteWj2msds M- Bus: 3 dl10001| 1861542
vmax=150Au; [I1R 6dzjls

vjffdsmy syd$¢ kdz stcOL o EC s

f) qdzlsjteWj2Msds M- Bus: 3 dl10001| 1470590
vmax=105Au; [1R 6dzjls

vy syd$¢ kdz stcOL o EC s

f) qdzlsjteWj2Msds M- Bus: 3 dl10001| 1861542
vmax=150Au; [I1R 6dzjls

vjffdsmy syd$¢ kdz stcOL o kG s

f) qdzlsjteWj2Msds M- Bus: 3 dl10001| 5377589
vmax=105Au; [1R 6dzjls

vy syd$¢ kdz stcOL o EC s

f) qdzlsjteWj2Msds M- Bus: 3 dl10001| 5768539
vmax=150Au; [1R 6dzjls -ﬁ',l_\lt




vd fdshyy syd¢

z dz!

stcOL o

Z¢ts

fl ddelsj W j2Mmsds M- Bus; 3 d|1000 53 775,89
vmax=105Au; [1R 6dzjls

Gji &sMyy 5ydS P& S6OLo S

) ddelsj W j2Msds M- Bus: 3 d|10001]| 5768539
vmax=150Au; [1R 6dzjls

Gji &sMyy 5yds & SGOLo kS

) ddelsj W j2Msds M- Bus: 3 d|10001| 5377589
vmax=105Au; [1R 6dzjls

Gji &sMyy 5yds & S6OLe kS

) ddelsj W j2Msds M- Bus: 3 d|10001| 5768539
vmax=150Au; [1R 6dzjls

Gji &sMyy syds & S6OLe kS

) ddelsj W j2Msds M- Bus: 3 d|10001| 5377589
vmax=105Au; [1R 6dzjls

Gjf &My’ ydS & S6OLe kS

) ddzlsjteWj2Msds M- Bus: 3 dl10001| 5768539
vmax=150Au; [1R 6dzjls

Gjf &sMyy syds & S6OLo kS

) ddzlsjteWj2Msds M- Bus: 3 dl10001| 5475030
vmax=105Au; [1R 6dzjls

Gjf &sMyy syds & S6OLo kS

) ddzlsjteWj2msds M- Bus: 3 dl10001| 5865980
vmax=150Au; [I1R 6dzjls

Gjf &sMyy ydS & S6OLe S

) ddzlsjteWj2Msds M- Bus: 3 dl10001| 5475030
vmax=105Au; [1R 6dzjls

Gjf &sMy’ sydsS & S6OLo kS

f) qdzlsjteWj2Msds M- Bus: 3 dl10001| 5475030
vmax=105Au; [I1R 6dzjls

Gjf &sMyy ydS P& S6OLo S

f) qdzlsjteWj2Msds M- Bus: 3 dl10001| 5475030
vmax=105Au; [I1R 6dzjls

Gjf &sMyy yds & S6OLe S

f) qdzlsjteWj2Msds M- Bus: 3 dl10001| 5865980
vmax=150Au; [1R 6dzjls

Gjf &sMyy yds & S6OLe S

f) qdzlsjteWj2Msds M- Bus: 3 dl10001| 5865980
vmax=150Au; [I1R 6dzjls

Gjf &sMyy yds & S6OLe S

f) qdzlsjteWj2msds M-Bus: 3 dl10001| 5865980
vmax=150Au; [I1R 6dzjls

vjffdsmy syd$¢ kdz stcOL o EC s

f) qdzlsjteWj2Msds M- Bus: 3 dl10001| 5572979
vmax=105Au; [1R 6dzjls

vy syd$¢ kdz stcOL o EC s

f) ddzlsjteWj2msds M- Bus: 3 dl10001| 5572979
vmax=105Au; [I1R 6dzjls

vjffdsmy syd$¢ kdz stcOL o kG s

f) qdzlsjteWj2msds M- Bus: 3 dl10001| 5963930
vmax=150Au; [I1R 6dzjls

vy syd$¢ kdz stcOL o EC s

f) ddzlsjteWj2Msds M- Bus: 3 dl10001| 5963930

umax=150Au4;

[ 1R

6 dzj Is




v dzsmyy syd¢ kdz steOL o ECts
fl ddelsj W j2Mmsds M-Bus; 3 d|10001| 55729,79
vmax=105Au; [1R 6dzjls

Gji &sMyy 5ydS P& S6OLo S
) ddelsj W j2Mmsds M- Bus: 3 d|10001| 5572979
umax=105Au; [1R 6dzjls

Gji &sMyy 5yds & SGOLo kS
) ddelsj W j2Msds M- Bus: 3 d|10001| 5963930
umax=150Au; [1R 6dzjls

Gji &sMyy 5yds & S6OLe kS
) ddelsj W j2Msds M- Bus: 3 d|10001| 5963930
umax=150Au; [1R 6djls

5] &My 5y bd SGOLsEC G
qp=60&3/ yom; M dqdisjtwWj2m|L0001| 5826581
SBtOlsdy 2; vmax=105Au; [

Gjf &My’ sydS & S6OLeES
gp=120d&3/ yofm; M ddzlsjteW j2|1 000 1| 5826581
SBtOlsdy 2; vmax=105Au; [

Gjf &sMYy sydS P& S6OLe S
gp=60d33/ yofm; M ddalsjteW j2Mm|1 0001] 6217531
SBtOlsdy 2; vmax=150Au; [

Gjf &sMYy sydS P& S6OLe S
gp=120d&3/ yofm; M ddalsjteW j2fQ1 0001| 6217531
SBtOlsdy 2; vmax=150Au; [

sjf &My sydqC Fd S6OLsEC G
qp=60c&3/ yom: fm dqdlsjtWj2f|y0001| 5826581
ftow dds?2; wvmax=105Au; [1R

sjf &MU’ syds & S6OLe S
gp=120d33/ yofm; M ddzlsj ¥ j2J71 0001] 5826581
ftow dds?2; wvmax=105Au; [1R

sjf &My’ sydS P& S6OLe S
gp=60d33/ yofm; M ddzlsjteWw j2Mm|1 0001] 6217531
ftow dds?2; wvmax=150Au; [1R

5]y BydqC bd SGOLsEC G
qp=120c&3/ yOfy; f ddasjtew j2{10001]| 6217531
ftow dds?2; wvmax=150Au; [1R

sjf ey BydqC Fd SGOLsEC G
qp=100d3/ yOf; f ddasjte¥j2|y0001| 7239043
SBtOlsdy 2; vmax=105Au; [
sjf &My suydqC Fd SGOLsEC G
qp=200d3/ yOf; f ddasjte¥j2|y0001| 7239043
sBtOlsdy 2; vmax=105Au; [
vjffdsmy syd$¢ kdz stcOL o EC s
qp=100d3/ yOf; f ddasjte¥j2|10001| 7629994
sBtOlsdy 2; vmax=150Au; [
vy syd$¢ kdz stcOL o EC s
qp=200d3/ yOf; f ddasjte¥j2|10001| 7629994
sBtOlsdy 2; vmax=150Au; [
vjffdsmy syd$¢ kdz stcOL o kG s
qp=100d3/ yOf; f ddasjte¥j2|y0001| 7239043
ftowdss?2; wmax=105Au; [1R
vy syd$¢ kdz stcOL o EC s
qp=200d3/ yOf; f ddalsjte¥j2|y0001| 7239043
ftow dds?2; wvmax=105Au; [1R




v dzsmyy syd¢ kdz steOL o ECts
qp=100&3/ yof; M ddasjte¥ j2|10001| 7629994
ftow dds?2; wvmax=150Au; [1R

sjf MYy 5yds bEd SGOLe kS
qp=200&3/ yOfm; M ddasjteWj2|L0001| 7629994
ftow dBs?2; wmax=150Au; [1R

sjf &MYy 5yds & SGOLo S
qp=150&3/ yOfm; M ddasjteWj2|L0001| 8651495
sBtcOlsdz 2 vmax=105Au; [

Gji &sMYy sydS & SGOLe kS
qp=300&3/ yOfm; M ddasjteWj2|L0001| 8651495
sBtcOlsdz 2 vmax=105Au; [

Gji &sMYy sydS bEd SGOLo S
qp=150®3/ yoOfy; M ddzsjte® j2|1 0001| 9042446
sBtcOlsdz 2 vmax=150Au; [

Gjf &My’ sydS & S6OLeES
gp=300d33/ yofm; M ddzlsj ¥ j2]1 0001] 90424,46
sBtOlsdy 2; vmax=150Au; [

Gjf &sMYy sydS P& S6OLe S
gp=150d33/ yofm; M ddzlsj ¥ j2J1 0001] 86514,95
ftow dBs?2; wmax=105Au; [1R

sjf &sMYy syds & S6OLe S
qp=300d3/ yOfm: M ddasj e j2|1 0001 8651495
ftow dBs?2; wvmax=105Au; [1R

sjf &My’ syds & S6OLe S
gp=150d33/ yofm; M ddzlsj ¥ j 2|1 0001] 90424,46
ftow B2 ; wmax=150Au; [1R

sjf &MU’ syds & S6OLe S
gp=300d33/ yofm; M ddzlsj ¥ j2]71 0001] 90424,46
ftowdBs?2; wmax=150Auw; [1R

vy syds¢ Edz stcOL o kG s
qp=500d3/ yOfm: M ddasj e j2|10001| 15998052
SBtOlsdy 2; vmax=105Au; [

vy syds¢ Edz stcOL o EC s
qp=500d3/ yOfm: M ddasjteW j2|10001| 163890,04
SBtOlsdy 2; vmax=150Au; [

vy syds¢ Edz stcOL o kG s
gp=500d33/ yofm; M ddzlsj W j2Q1 000 1] 159 980,52
ftow dss?2; wmax=105Au; [1R

vy syds¢ kdz stcOL o EC s
gp=500d33/ yofm; M ddzlsj W j2Q1 0001] 163890,04
ftowdss?2; wmax=150Auw; [1R
LYt Ish 3y zh 2 dz2 Wdst B deW dzf 6 folxjd{ddc
200 s e+ yfjfdz M-Bus +3 detsWdylstslu Gyt Jje
vjf sy sydS bkd SGOLe kSt

2 HOBYdSO HO9dzjdzdw,; M ddg 1 000 1| 2996914
9nBHO; BGBKOId 2 vmax=10

vy syd$¢ kdz stcOL o EC s

2 HOBYdSO HOodzjdzdw; fp ddg1 0001 2996914
9~tHO; ®BBEKOISd 2; wuvmax=10




v fdshyy suds
2 HOIsYydSe O HO9 dzj
9ntSHO;, ftow di3gs?;

z dz!

sStcOL o9 lz€C s
dzdv; fm dd4
smax=105A

000

29 969,14

ud fdzsmyy sud¢
2 HOIsYydS O HO9 dzj
9RBBHO; W dBs?;

z dz!

StcOL o lz¢C s
dzdw; fm ddb
smax=105A

000

29 969,14

ud fdshuy syds
2 HOIsYydS O HO9 dzj
9nfBHO;

z dz!

sBtcOlsdz 2 ;

stcOL okt
m ddq

vmax=10

ded v ;

000

35787,74

v fashyy bydc
2 HOIsYydS O HO9 dzj
9ntSHO; ftow diis?;

z dz!

StcOL o lz¢C s
dzdw; fm ddb
smax=105A

000

35 787,74

v fashuyy syd<
2 HOIsYdS O HO9 dzj
9 ntsHO; sBtcOIsdz 2

z dz!

StcOL o ¢ 15
dedw; M ddz

; vmax=10

000

49 017,83

ud fdzsmyy sud¢
2 HOIsYydS O HO9 dzj
SHO;, ftwdBks?,;

o
11

z dz!

stcOL o k¢ s
dedw; fy ddb
smax=105A

000

49 017,83

v fashyy sydc
HOIyYyd ¢ o

9ntSHO; B tcOlsdz 2

z dzs
HOo dzj dzd W ;

stcOL ot
fy o dals §

; vmax=10

000

50 932,39

v fdashyy syd¢
HOIkyd¢ o

9 ntSH O; ftow dits 2 ;

z dz
HOo dzj dedw ; M

stcOL o k¢ s
d dals §
smax=105A

000

50 932,39

v fashy syd¢
2 HOIsYdSe O HO9 dzj
9 ntsHO; sBtcOIlsdze 2

z dz!

StcOLozC s
dedv; M ddz

; vmax=10

000

58 313,00

vud fdzsmyy sud¢
2 HOIsYydS O HO9 dzj
SHO;, ftwdks?;

©
11

z dz!

stcOL o k¢ s
dzdw; fy ddb
smax=105A

000

58 313,00

v fdtshyy suds
2 HOIsYdSe O HO9 dzj
SHO; tBtcOIlsdz 2

(V]
11

z dz

sStcOLozC s
dedv; M ddz

; umax =15

000

33 878,65

v fdshyy suds
2 HOIsYydS O HO9 dzj
SHO;

©
11

z dz!

sBteOlsdz 2 ;

stcOL o lzC s
fn ddg

vmax=15

dzd W ;

000

33 878,65

fdashyy sud s
2 HOIsYdSe O HO9 dzj
9 ntSHO; ftow dzts 2 ;

(e
.

z dz

steOL 9 k¢ s
dzdw; M ddz
vsmax=150A

000

33 878,65




v fasmyy sydt
2 HOIYdSe O HO9
9attHO; fW ds?2

dz! stcOL 9 lz€ ts
dzj dzgdv; M ddb
© umax=150A

000

33 878,65

ud fdzsmyy sud¢
2 HOIYdSC O HO9
9ntSHO;

sBteOlsdz 2 ;

z dz!
dzj dzd v ;

sttOL o k¢t
) ddq

umax=15

000

39 697,26

v fasfyy syds
2 HOIYd$¢O HO?9
9attHO; fwW ds?

Zdz! stcOL 9 z€ s
dzj dzgdv; M ddd
© umax=150A

000

39 697,26

ud fdzsmuy sud¢
2 HOIYdSC O HO9
9ntSHO;

sBteOlsdz 2 ;

z dz!
dzj dzd v ;

steOL o k¢ ts
) ddq

vumax=15

000

52 927,34

v fdshyy suds
2 HOIYd$¢O HO9
SHO; ftwdts?

(u]
11

dz! stcOL 9 z€ s
dzj dedv; M dd4
© umax=150A

000

52 927,34

ud fdzsmyy sud¢
HOIsYydS O HOso dzj
9nfBHO;

sBteOlsdzr 2 ;

dz' stcOL 9 2€C ts
dedw; M ddzlsj
vumax=15

000

54 841,90

v fasmyy sydt
HOIsyd$¢ O HO9o dzj
9attHO; (v ds?

dz! stcOL 9 z€ ts
dedv;, M ddasy
© umax=150A

000

54 841,90

vud fdzsmyy sud¢
2 HOIYdS O HO9
BHO;

©
11

sBteOlsdzr 2 ;

Zdz! stcOL 9 l2€C ts
dzj dedv; M ddb
vumax=15

000

62 222,51

v fdshyy sud<
2 HOIYd¢O HO9
SHO; ftwds?

(V]
11

Fdz! stcOL 9 lz€ s
dzj dedv; M ddg
© umax=150A

000

62 222,51

vd fdshyy bydc
qp=60d&3/ yofm;
d a3 zdz' e = o ~R

Fdz! IstcOL o9 zZC s
2 HOIbYyds¢oO H
SHO; sBtcOls dd

000

71 930,28

v sy sud¢
qp=120d&3/ yof;
d s Zdz' fder = oA

Zdz! stcOL o lzC s
2 HOIydeso
SHO; ftw dis?

000

71 930,28

v fashyy syd¢
qp=200d3/ yofm;
d&sf zdz' der 7 oA

Zdz! stcOL 9 lz€ s
2 HOIydeso
SHO; sB tc Ols d2

000

86 054,89

v sy sud¢
qp=200d3/ yof;
d s Zdz' fder = oA

Zdz! stcOL o lzC s
2 HOIydeso
SHO; ftwdis?

000

86 054,89




v dzsmyy syd¢ kdz steOL o kGt
gp=300d&33/ yoOfMm; 2 HOLYdSsoO 000 100 179,43
dif zdzt Mder = e ~tsHO; tBKOIsd]
v fdsmyy syds kdz stcOLoa kS
gp=300d&33/ yofm; 2 HOLYydsoO 000 100 179,43
g 2dz? Mdzr = o ntsHO; ftew B2
v fdsmyy syds¢ Ekdz stcOLo kG
gp=500d33/ yom; 2 HOLYd<soO 000 173 644,99
dif zdz! Mder = 9 "SHO; ; BWKOIs
v fdsmyy syds kdz stcOLoakzC s
gp=500d&33/ yom; 2 HOLYydsoO 000 173 644,99
g zdz? Mdzr = o ntsHO; ; W Bt
v fdsmyy syds¢ kdz stcOLo kG
2 HOIYdSO HOosdzjddw,; m ddq1 000 67 440,35
9ntBHO; BGBWKOId 2; umax=10
vjfdsmyy syds kzdz stcOLoa kS
2 HOBYdS¢ O HOodzjdedw; f dadg1 000 67 440,35
9ntHO;, fWwdks?2; uvmax=105A
v fdsmyy syds¢ kdz stcOLo kG
2 HOIYdSO HOosdzjddw,; m ddq1 000 68 417,30
9nfBHO; sBtcOlsder 2 ; vumax=10
vjfdsmyy syds kdz stcOLoa kS
2 HOBYdS¢ O HOodzjdedw,; M ddg1 000 68 417,30
9ntHO; fHWwdks?2; wvmax=105A
v fdsmyy syds kdz stcOLo kG
2 HOIYdSO HOodzjdedw; M ddg1 000 69 394,26
9ntSHO; BGBWKOId 2; uvmax=10
vjfdsmyy syds kdz stcOLoa kS
2 HOBYdS¢ O HOodzjdedw,; f ddg1 000 69 394,26
9ntHO;, fHWwdks?2; wvmax=105A
vy syd$¢ kdz stcOL o EC s
gp=120d3/ yofp; 2 HOLYd<oOo 000 75 839,80
di3f zdzt fMder = e -tHO; tBiKOIsdz
i dzsmyy syds¢ Lkdz stcOLokzS s
gp=60ad&3/ yom; 2 HOLYdecO H 00O 75 839,80
gdf zdz! Mder = o rntsHO; ®BtcOIlsdg
vy syd$¢ kdz stcOL o EC s
gp=100d&3/ yofm; 2 HOLYd<oO 000 89 964,42
di3f zdz' fMder = o~ tHO; tBiKOIsdz




v dzsmyy syd¢ kdz steOL o kGt
gp=120d3/ yofm; 2 HOLyYdso 000 75 839,80
ddi3f zdz' fdz" ° o RtHO; ftow d3ts?2
vjfdzsmyy syds¢ Ekdz stcOLoakzC
gp=120d3/ yofm; 2 HOLYd<soO 000 71 930,28
dizf dzt Mder = 9 ~rtsHO; tBiKOIsdY
vy fdsmyy syds¢ bkdz stcOLoakCB
gp=60d&3/ yom; 2 HOLYdecO H 000 71 930,28
g 2dz? Mdzr = o9 AatHO; ftew @32
bjffdzsmyy syds¢ Ekdz stcOLoakzC s
gp=60d33/ yofm; 2 HOIYdecO H 000 75 839,80
dif dzt Mder 7 9 "rtHO; ftow B2
vy ffdsmyy syds¢ bkdz scOLoakzC
gp=200d33/ yom; 2 HOLYdsoO 000 89 964,42
g3 2dz Mder = o9 AtsHO; ®BtOIlsd]
v dzsmyy syds¢ kdz stcOLoakzC s
gp=100d3/ yofm; 2 HOLYdSsoO 000 86 054,89
iz zdzt Mder = 9 ~tsHO; tBKOIsd]
vdffdsmyy sydsé¢ bkdz scOLoakzE
gp=100d33/ yofm; 2 HOLYd<oO 000 86 054,89
g 2dzt Mdzr = 9 AatsHO; ftew iZIs?2
i dzsmyy syds¢ Lkdz stcOLoa kS
gp=100d3/ yofm; 2 HOLYdSsoO 000 89 964,42
dif zdzt Mder = 9 ~rtHO; oW B2
iffdsmyy syds¢ bkdz scOLoakzC B
gp=200d33/ yom; 2 HOLYdsoO 000 89 964,42
g zdz? Mdzr = 9 AatsHO; ftew iB3s?2
i dzsmyy syds¢ Lkdz stcOLo kS
gp=300d3/ yofm; 2 HOLYdSsoO 000 104 088,94
g zdzt Mder = 9 ~tsHO; tBKOIsd]
vy syd$¢ kdz stcOL o EC s
gp=300d33/ yoMm; 2 HOLYdsoO 000 104 088,94
g zdzt Mdzr = 9 "tsHO; ftew i3s?2
i dzsmyy syds¢ Lkdz stcOLokzS s
gp=150d3/ yofm; 2 HOLyYdso 000 100 179,43
g zdzt Mder = e ~tsHO; tBKOIsd]
vy syd$¢ kdz stcOL o EC s
gp=150d&3/ yofm; 2 HOLYd<oO 000 104 088,94
g3 dz Mdz" = 9 AntsHO; ®BtOIlsd




v dzsmyy syd¢ kdz steOL o kGt
gp=150d33/ yofm; 2 HOLYydsoOo 000 100 179,43
ddi3f zdz' fdz" ° o RtHO; ftow d3ts?2
v fdsmyy syds kdz stcOLoa kS
gp=150d3/ yofy; 2 HOLYd<oOo 000 104 088,94
di3f zdz' fMder = 9 "atHO; ftow B2
v fdsmyy syds¢ Ekdz stcOLo kG
gp=500d33/ yom; 2 HOLYd<soO 000 177 554,52
dif zdz! Mder = 9 "SHO; ; BWKOIs
v fdsmyy syds kdz stcOLoakzC s
gp=500d33/ yofy; 2 HOLYd<oO 000 177 554,52
dizf zdz! fpdgr = 9 atHO; ; W B
v fdsmyy syds¢ kdz stcOLo kG
2 HOIYdSO HOosdzjddw,; m ddq1 000 71 349,86
9nfBHO; sBtcOlsdz 2 ; umax=15
vjfdsmyy syds kzdz stcOLoa kS
2 HOIYdS O HOodzjdzdw; fm dd4 1000 67 440,35
9nfBHO; B tOIsdz 2 ; umax=10
v fdsmyy syds¢ kdz stcOLo kG
2 HOIYdSO HOosdzjddw,; m ddq1 000 71 349,86
9nfBHO; sBtcOlsdz 2 ; umax=15
vjfdsmyy syds kdz stcOLoa kS
2 HOIYdS O HOodzjdzdw; M dd41 000 71 349,86
9ntHO; fWwdks?2; uvmax=150A
v fdsmyy syds kdz stcOLo kG
2 HOILYdS O HOodzjdedw; M ddz 00O 71 349,86
9nBHO,;, ftwdks?2; wvmax=150A
vjfdsmyy syds kdz stcOLoa kS
2 HOIYdS O HOodzjdzdw; M dd41 000 67 440,35
9ntHO;, fHWwdks?2; wvmax=105A
vy syd$¢ kdz stcOL o EC s
2 HOBLYdSO HOodzjdzdw; M ddz 000 72 326,81
9nfBHO; sBtcOlsdz 2 ; umax=15
i dzsmyy syds¢ Lkdz stcOLokzS s
2 HOBbYdS¢ O HO9dzjddw,; M ddg 1000 72 326,81
9nfBHO; sBtcOIsde 2 ; umax=15
vy syd$¢ kdz stcOL o EC s
2 HOLYdSO HOodzjdzdw; fyp ddg1 000 68 417,30

9 nfBH O; sBtOIsdzr 2 ;

vmax=10




v fasmyy sydt
2 HOIYdSe O HO9
9attHO; fW ds?2

dz! stcOL 9 lz€ ts
dzj dzgdv; M ddb
© umax=150A

0001

72 326,81

fashyy syd¢
2 HOIYdSC O HO9
9ntHO; ftow diis?

Edz! stcOL 9 lz€ s
dzj dzdv; fy ddf
: umax=105A

0001

68 417,30

fdshyy syd<
2 HOIYd$¢O HO?9
9attHO; fwW ds?

Zdz! stcOL 9 z€ s
dzj dzgdv; M ddd
© umax=150A

0001

72 326,81

f zsmuy sud¢
2 HOIYdSC O HO9
9ntSHO;

sBteOlsdz 2 ;

z dz!
dzj dzd v ;

steOL o k¢ ts
) ddq

vumax=15

0001

73 303,79

fdshyy sud¢
2 HOIYd$¢O HO9
9 ntSHO;

sBtcOlsder 2 ;

iz dz
dzj ded v ;

sttOLo k¢t
) d dz

umax =15

0001

73 303,79

f zsmuy syd¢
2 HOIYdS O HO9
9 ntSHO;

sBteOlsdzr 2 ;

dz' stcOL 9 2€C ts
dzj dzedv; M ddb
vumax=10

0001

69 394,26

fdshyy syd<
2 HOIYd$¢O HO9
9attHO; (v ds?

dz! stcOL 9 z€ ts
dzj dedv; M dd4
© umax=150A

0001

73 303,79

f zsmuy syd¢
2 HOIYdS O HO9
9 ntSHO;

ftow d3ts?;

Fdz' stcOL o zC ts
dzj dzdv; fp ddg
smax=150A

0001

73 303,79

fdtsmyy syds
2 HOIYd¢O HO9
SHO; ftwds?

(V]
11

Fdz! stcOL 9 lz€ s
dzj dedv; M ddg
© umax=105A

0001

69 394,26

v fashyy syd¢
2 HOIYdS O HO9
g zdz Mmdz" = o~

Zdz? stcOLoEC
dzg dzedw G1/ 2"
SHO,;, ftwds?

0002

68 417,30

v fdshyy suds
2 HOIYd¢O HO9
g zdz mde" = o~

Zdz! stcOL o lzC s
dzj dedw G1/ 2"
SHO; ftw dis?

0002

67 440,35

v fashyy sydc
qp=60d&3/ yofm;
Bus; 3 duf kzd

Zdz? stceOLo k2GS
2 HOIbYydc O H
fdzr = o~ BHO;

0002

71 930,28

ud fashuy syds
qp=150d&3/ yof;
Bus; 3 daf kzdz

Zdz stcOL o lzC s
2 HOIydeso
fMdzr = o~ BBHO;

0002

100 179,43




vifdsmyy sydSs kEdz stcOLokCts
2 HOBLYydS¢ O HOodzj dgdw G1/ 2"
qfdz Mder ° oABHO; W dBs?2

W 3t B
2 dzte W 3t Is

VYted3f Ish 3 zh 2 dz2

200 RS-485+2

vjfdashy syds kd stOLskzS s

cOMAtHSR] tO; wOMMIsswddj |1 0000| 8385072

1,5d3; Tmax=150Au; RS485;

sjifdshyy sydS bd sEOLe kS e Y
2 OMAHGB®R] O; tOMMisswdsd|1 0000| 98611,91 y ¥
1,5d3; Tmax=150Au4; RS485; J
vjfashuyjlbyds kd stOLskzS

2 wOMAHB®) O; ©OMMIstsw dd|1 0000| 4381843

1,5d3; Tmax=150Au4; RS485;

vjfdsmujbuyds kZd bOLs kS

2 LOMARBHB®] O; ©OMMIssWY dd|1 0000| 39777,14

1,58, Tmax=150Au; RS485;

vjfdashy sydsS kd sOLskzS s

2 wOMAHB®) O; ©OMMIstsw dd|1 0000| 8003396

1,5d; Tmax=150Au; RS485

vjfdshyy sydsS kd stOLokS s

2 LOMARBHB®] O; ©OMMIsswdd|1 000 1| 9079288

1,5d; Tmax=105Au; RS485;

vjfdashyjlbyds kd stOLskzS

2 wOMAHB®] O; w©OMMIstswdd|1 000 1| 3195811

1,5d; Tmax=105Au4; RS485;

vjfdsmuyjbuyds kd bOLs kS

2 LOMARBHB®R] O; ©OMMIsswdd|1 0001| 39777,14

1,5d; Tmax=150Au; RS485;

vjfdshmy sydS bd scOLakSEs e =
cOMAtHSR] O; ©OMMIsswddj |1 0001| 7221494 ’ ¥
1,5d3; Tmax=105Au4; RS485; )
vjfdshyy sydsS kd sttOLo kSt

cOMAtHISd] tO; wOMMIsswddj |1 0001| 8003396

1,5d; Tmax=150Au; RS485

vjfdzsmuyjlbuyds kd bOLs kS

2 LOMAHB®] O; ©OMMIstsw dd|1 0000 3195811

1,5d; Tmax=105Au4; RS485;

vjfdshyy sydsS kd sttOLo kSt

2 LOMRHB®R] O, ©OMMIssWY dd|1 0000 35999,39

1,5d; Tmax=105Au; RS485;




v dzsmyy syd¢ kdz steOL o kGt
2 ttOmMAatHBWR] 60O; ©OMMIssWY dd

1,5d3; Tmax=105Au;

RS485;

0000

72 214,94

vifdshy sudsS bd se0LokS s
COMRBHEE] 8O; ©OMMSEY dd j

1,58, Tmax=105Au;

RS485,;

0000

76 031,69

vd sy sydsS kd sttOLo kSt
2 OMABHE®R] LO; ttOMmMmistw dad
1,5 o, Tmax=150Au; RS485

0000

116 866,60

vifdshy sudsS kd seOLokSs
2 ©LOMOGHBM] O tOMMissY dd

1,58, Tmax=150Au;

RS485,;

0000

118 818,01

vjfdzsmyy syd¢ kdz stcOLokzC s
2 tOMmMAatHtHR] td®; tLOMMistsw dd

1,5d; Tmax=105Au;

RS485;

0000

112 955,45

vjf sy sudS bkd' swOLe kS
2 ©OMABHB®R] O; LOfflksw dd

1,58, Tmax=150Au;

RS485;

0000

120 774,48

vl sy syds¢ kd sttOLokC
gp=120d3/ yomm; 2 tOMmntSHBA

tOMESHSB] tOBR] dzj
dqBf Zdz' ide" 7 o rtsHO;

Btsdzj i 1
[1R 6d

0000

118 027,39

vifazsmuyy syds kd stOLo kSt
gp=120d33/ yofm; 2 tOM~sBHBA

cOMR sHS®R] OB daj
gisf zdz! iz 7 9 - tSH O]

Bsdzj 4 1
1R 6d

0000

125 846,42

vl fdshmyy syds¢ Ekdz sttOLokC
gp=150d33/ yofm; 2 ttOfMmntSHBA

tOMESHSB] tOBR] dzj
dqBf zdz' ipdeg" = o rtsSHO;

Btsdzj i 1
[1R 6d

0000

174 525,66

ifdsmyy syds¢ bkdz scOLoakzC
gp=150d&3/ yom; 2 wOM~stsHEA

tcOMR sHiS®R] OB daj
dgisf zdz! iz 7 9 - tSH O]

Bsdzj 4 1
[1R 6d

0000

182 344,69

vdffdsmyy syds¢ bkdz scOLoakEB
gp=500d&33/ yom; 2 ©GOM~tSHEBA

tOMASHISHB] tOBd dzj
d i zdz! dz" = o~ SHO;

Bdzj 4 1
[1R 60

0000

321 456,84

vy syd$¢ kdz stcOL o EC s
gp=500d&3/ yom; 2 wWOM~tSHEBA

cOMR SHSM®] tORd daj
dgisf zdz! dz" 7 9 A tSH O;

Bsdzj 4 1
1R 6d

0000

329 275,87

vdffdsmyy syds¢ bkdz scOLoakE B
gp=60d3/ yofm; 2 tOMmnSHBAJ

tOMASHISHB] tOBd dzj
d i zdz! dz" = o~ SHO;

Bdzj 4 1
[1R 60

0001

118 027,39




sy syds¢ Ekdz stcOLoakzC s
gp=60d3/ yofm; 2 tOMmntSHBAY

tcOMR sHSA] OB daj
d Bf zdz' ndz" 7 o~ ftSHO;

Bisdzj J
[1R

1
6 dz

000

125 846,42

vy ffdzsmyy syds¢ bkdz scOLoakzC
gp=300d&33/ yom; 2 wOMAtSHIEBAE

cOMR sHS®R] OB daj
dqi3f zdz! iz 7 9 - SH O]

Bisdzj J
[1R

1
6 dz

000

174 525,66

gfdzsmyy syds¢ Ekdz stcOLoakzC s
gp=300d&3/ yom; 2 wWOMntHEBA

cOMR SHSM®] tORd daj
d Bf zdz' ndz" 7 o~ tSHO;

Bisdzj J
[1R

1
6 dz

000

182 344,69

vy ffdsmyy syds¢ bkdz scOLoakC
gp=100d&33/ yom; 2 wOM~tSHEBA

O sHS®R] OB daj
dqi3f zdz! iz 7 o n SH O;

Bisdzj J
[ 1R

1
6 d7

000

146 276,60

vdfdshmyy syds¢ kd sttOLokCB
gp=200d33/ yomm; 2 tOfMmntsHBA

tOMESHSB] tOBR] dzj
dqBf zdz' ide" 7 o rRtsHO;

Btsdzj J
[1R

1
6 d7

000

146 276,60

vy ffdsmyy syds¢ bkdz scOLoakzE
gp=100d&33/ yom; 2 wWOM~tSHEBA

cOMR sHS®R] OB daj
dqisf zdz! ifdz" 7 o - SH O;

Bisdzj J
[ 1R

1
6 d7

000

154 095,61

vl sy syds¢ kd sttOLokC
gp=200d33/ yomm; 2 tOMmntSHBA

tOMESHSB] tOBR] dzj
dqBf Zdz' ide" 7 o rtsHO;

Btsdzj J
[1R

1
6 d7

000

154 095,61

vjfdshy sudS bkd' swOLe kS
2 ©OMABHB®R] O; OfMfksw dd
RS485;

1,58, Tmax=105Au4;

000

109 047,56

sjf dshyy sydS bkd sSEOLe kSt
2 tOMmMAatHE®R] O; ©OMMIstsWY dd
1,5 & Tmax=150Au;

RS485

000

116 866,60

vjf sy sudS bkd' swOLe kS
2 ©OMABHB®R] O; LOfMfksw dd
RS485;

1,58, Tmax=105Au4;

000

110 998,98

vy syd$¢ kdz stcOL o EC s
2 ttOMmMAatHE®R] 0O; ©OMMIstsWY dd
RS485;

1,5d3; Tmax=150Au;

000

118 818,01

vjfdshy sudS kd seOLekSs
2 ©GOMAsHBMK] ©0O; oMMt dd
RS485;

1,5d; Tmax=105Au;

000

112 955,45

vy syd$¢ kdz stcOL o EC s
2 wOMmMatsHB®R] 60; w©WOMMIsWY dzd
RS485;

1,5d3 Tmax=150Au;

000

120 774,48




v dzsmyy syd¢ kdz steOL o kGt

2 twOMAtHBHjttd;, tOMMistsw dzd| 1 000 0| 109 047,56
1,5d; Tmax=105Au; RS485;
vjfdzsmyy sydS kd bOLo kS
2 tOMAtHEBA] O, ttOmMmistsw dzd| 1 0000 110 998,98

1,58, Tmax=105Au; RS485;
ted3f Ish 3y h 2 dz2

U X
200 RS-485+2

sif dshujlbydS bd SEOLe kS
2 GOMSBHB®R] 6O, ©OMMssW dad
1,58, Tmax=150Au; 2 HOILYyY
B bd fdzr = ootHO; [1R 6

53 440,13

vifdzsmyy syds kd steOLo k¢t
2 wOMmMatsHEBWR] 0O; w©WOMMIssY dzd
1,5d3; Tmax=150Au; 2 HOIlYyY
gdd&3f Zdzs mMdzr = o9 - BBHO; [1R 6

10000

57 481,46

sifdsmy sudS bd stOL o kSIS
2 EOMOGHB®] BO; oMMt dad
1,58 Tmax=150Au; 2 HOLYyY
B d M o ootHO; [1R 6

10000

93 697,01

v fdzsmyy sydS bkd bOLo kSt
2 wOMmMatsHEB®R] 0O; w©WOMMIssY dzd
1,5d3; Tmax=150Au; 2 HOIlYyY
ddi3f zdz' dz" 2 9 AtHO; [1R 6

10000

112 274,93

sifdsmMujlsuds bd stOLo kSIS
2 LOMOGHBM] B0; oMMt dad
1,58, Tmax=105Au; 2 HOIlYy
B d M o ootHO; [1R 6

10001

45 621,12

v fdzsmyjlsyds kd sttOLo kSt
2 tOMmMAatHt®R] 6O; ©OMMIstsWY dd
1,5d3; Tmax=150Au; 2 HOIlYyY
ddi3f zdz' dz" 2 9 AtHO; [1R 6

10001

53 440,13

vjf sy sydS bkd SGOLe kSt
COMIBHEER] 60; OMMISEY dd j

1,5 d&; Tmax=105Au; 2 HOI
dif zdzt Mder = e ~tsHO; [1R 6d

10001

85 877,99

vy syd$¢ kdz stcOL o EC s
cOMrsHBM®R] O; tOMmMmistsw dzd §

1,5d3; Tmax=150Au; 2 HOIlYyY
ddi3f zdzs mMdzr = 9" BBHO; [1R 6

10001

93 697,01

vdffdsmyy syds bkdz scOLoakEB
gp=10/3, 533/ yom; 2 wOMATt
tcOMrSHB®R] O3 dzj BBSdzi J 1
HOo dzj dzgdv; RS485; 2 ddf kzdd

10001

107 330,82




v dzsmyy syd¢ Edz stcOL o ECts
2 twOMAtHBHj O, tOMMstsw dzd
1,5d; Tmax=150Au; 2 HOLY
ddi3f zdz' Mdz" 7 o AtHO;, [1R 6

1 0001) 112274,93

sjf sy sydS bd sEOLskSCE
2 GOMoSBHB®R] 6O, ©OMMssW dad
1,58, Tmax=105A4; 2 HOLYyY
b fdzr = ootHO; [1R 6

1 000 1) 104 455,92

v fdzsmyy sydS bkd bOLo k¢t
cOMAtHISH] O; ©OMMIstY ded §

1,5d; Tmax=105Au; 2 HObY
i3 zdz! de" » 9a°tHO; [1R 6d

1 000 2] 89694,68

vjfdsiujlsydS bd SEOLsEC
2 OMoBHGE] 6O; tOMMsswY dd
1,5d% Tmax=105Au; 2 HOly|"
B Mdzr = o8oBHO; [1R 6d

000O0] 45621,12

sjfdshy sydS kd StOLs kS
2 wOMmMatsHEB®R] 0O; w©WOMMIssY dzd
1,50 Tmax=105Au; 2 HOy|"
JBfbd Mdr = o82BHO: [1R 6d

0000] 4966246

vif My sudS bd stOL o kSIS
2 LOMOGHB®] BO; tOMMstw dad
1,5 & Tmax=105Au; 2 HOI
B d M o ootHO; [1R 6

1 0000) 85877,99

v fdzsmyy sydS bkd btOLo k¢t
cOMrHEdR] tO; tOMMistsw dzd |

1,5d3; Tmax=105Au; 2 HOlYyY
ddi3f zdz' dz" 27 9 AtHO; [1R 6

1 0000] 89694,68

vjf dsiyy sydS bd SEOLsEC
2 LOMoGHG®] 6O; ©OMMsswY dd
1,5d, Tmax=105Au; 2 HOlYy|"
B Mder = o82BHO; [1R 6d

000 0] 104 455,92

vy syd$¢ kdz stcOL o EC s
cOMrsHS®R] tcO; tWOMMIssW dzd §

1,5d3; Tmax=150Au; 2 HOIlYyY
disf zdz' dz' = enotHO; [1R 6d

1 0000] 97513,72

vjf sy sydS bkd SGOLo kSt
2 ©GOMIBHBE] 8O ©OMMssY dd
1,5d; Tmax=150Au; 2 HOLY
i b fdzr = o ntHO; [1R 6

1 0000 13248256

vy syd$¢ kdz stcOL o EC s
2 ttOMmMAatHE®R] 0O; ©OMMIstsW dd
1,5 Tmax=105Au; 2 HOby|"
disf zdz? fpdzr = e AaBHO; [1 R 6d

0000} 126619,98

&




vdfdsmyy syds kdz
gp=120d&3/ yom; 2
O sHS®R] OB daj
HOo dzj dzgdwv; RS485;

sStcOL o lz€C s
tcOMmn SH A3

1

qd &Y 2 d

0000O0

131 691,86

vifdshy suds &d

stcOL o k€ 5
B3/ yom; 2 tOMmMrtSHBWAR] LO;
Btsdzj j 1,5d3; Tmax=150Au;
B bd fdzr & o SGHO;

tc

6 dz

0000

139 510,88 ‘ i 'il—..r- '

vjffdzsmyy syd$¢ Edz
gp=150d&3/ yofm; 2
cOMR sH®R] OB daj
HOo dzj dzgdv; RS485;

ktcOL o k€ 15
tOMA SH

1

qd &Y 2 d

0000

188 190,13

vl fdsmyy syds¢ Ekd
gp=150d33/ yomm; 2
tOMr BHEA] O dzj
HOo dzj dzgdw; RS485;

ktcOL o 2G5
COMR BH &

1

d &Y & dz

0000

196 009,16

v dzsmyy syd$¢ E&dz
gp=500d&33/ yofm; 2
cOMR sHS®R] tORd daj
HO9 dzj dzdwv; RS485;

kteOL o € 15
tOMA SH &

1

d &Y 2 d

0000

342 940,39

vl fdsmyy syds¢ Ekd
gp=500d33/ yomm; 2
ttOMr BHEA] O dzj
HOo dzj dzedw; RS485;

ktcOL o 2G5
COMR BH &

1

d Y & dz

0000

335 121,37

vjffdzsmyy syd$¢ E&dz

StcOLolzC 5

gp=60d3/ yofm; 2 tOMmnSHBAgJ

cOMR sHS®R] OB daj
HOo dzj dzdw; RS485;

1

d &Y &z d

0001

131 691,86

vjfdshy syuds kd

sSteOL O ZC s
&3/ yof; 2 OmMrtsHBAR] 6O;
Btsdzj j 1,5d; Tmax=150Au;
Bl fdgr = ootSHO:

tc

6 d7

0001

139 510,88

vjfdzsmyy syds kzdz
gp=300d&3/ yofm; 2
cOMR SHS®] tORd daj
HO9 dzj dzdv; RS485;

kteOL o 2C 15
©tOMA SH &

1

d Y &z dz

0001

188 190,13

vdfdzsmyy syds kdz
gp=300d33/ yom,; 2
cOMmn BHE®RI ORI dzj
HOo dzj degdw; RS485;

stcOL o lzC s
tcOMmn- SH A3

1

q &y 2 d

0001

196 009,16

v fashuy syds kd
gp=100d&3/ yofm; 2
cOMR SHSM®R] OB daj
HOo dzj dzgdw; RS485;

kteOL o € 15
©tOMA SH &

1

d Y &z dz

0001

159 941,05




vdfdsmyudlsuyds bkdz scOLoakEB
gp=200d&33/ yom; 2 wOMAtSHEBA

tcOMn sHEBSM] O dzgj BBdzj §

HOo dzj g™ ; RS485; 2 (&Y kd

1

000

159 941,05

vjfdzsmyjlsydsé Ekdz scOLoakzE B
gp=100d&3/ yom; 2 wWOMntHEBA

COMRBHE®R] OB dzj BB j

HOo dzj dzd % ; RS485; 2 ddstfkd

1

000

167 760,07

vy fdsmyd syds bkdz scOLoakzC
gp=200d&33/ yom; 2 wOM~tSHEBA

tcOMa sHBd] Odd dzgj BBdzj §

HOo dzj dgdw; RS485; 2 (&Y kd

1

000

167 760,07

sifdsmy sudS bd stOLo kSIS
2 LOMOGHB®] BO; oMMt dad
1,58 Tmax=105Au; 2 HOLYyY

dizf zdz Mdzr = o°atHO; [1R

6 d7

000

122 710,62

v fdzsmyy sydS bkd bOLo kSt
2 tOMmMAatHtHR] td®; tLOMMistsw dd
1,5d3; Tmax=150Au; 2 HOIlYyY

dB3f zdz' de" = e ~"tHO; [1R

6 dz

000

130 529,63

vif My sudS bd stOL o kSIS
2 LOMOGHB®] BO; tOMMstw dad
1,58 Tmax=105Au; 2 HOLYyY

dizf zdz Mdzr = e~ tHO; [1R

6 d7

000

124 663,55

v fdzsmyy sydS bkd btOLo k¢t
2 teOMmMAatHtsdRj td®; tLOMMIstsw dzd
1,5d3; Tmax=150Au; 2 HOIlYyY

gddi3f zdzs Mdzr = o "BBHO; [ 1R

6 dz

000

132 482,56

sjif My sudS bd stOL o kSIS
2 LOMOGHBM] 80; tOMMstwY dad
1,58, Tmax=105Au; 2 HOIlYy

dizf zdz Mdzr = e~ tHO; [1R

6 d7

000

126 619,98

vy syd$¢ kdz stcOL o EC s
2 teOMmMAtsHtsdRj ttd®; twLOMMIstsw dzd
1,5d3; Tmax=150Au; 2 HOIlYyY

ddB3f zdz' nde" = o "tHO; [1R

6 d7

000

134 439,00

vjf sy sydS bkd SGOLo kSt
2 ©GOMIBHBE] 8O ©OMMssY dd
1,5d; Tmax=150Au; 2 HOLY

gdd&3f zdzs Mdzr = o ~"BBHO; [ 1R

6 d7

000

132 482,56

vy syd$¢ kdz stcOL o EC s
2 teOMmMAtsHtsdRj ttd®; twLOMMIstsw dzd
1,5d3; Tmax=150Au; 2 HOIlYyY

dizf zdz Mder = o~"tHO; [1R

6 d7

000

130 529,63




v dzsmyy syd¢ Edz stcOL o ECts
2 twOMAtHBHj O, tOMMstsw dzd
1,5d; Tmax=105Au; 2 HObY
ddi3f zdz' Mdz" 7 o AtHO;, [1R 6

1 0000 122710,62

sjf sy sydS bd sEOLskSCE
2 GOMoSBHB®R] 6O, ©OMMssW dad
1,58, Tmax=105A4; 2 HOLYyY
b fdzr = ootHO; [1R 6

1 0000 124 663,55

v fdzsmyy sydS bkd bOLo k¢t
2 wOMatsHEBER] O; OMMIssY dzd
1,5d; Tmax=150Au; 2 HObY
i3 zdz! de" » 9a°tHO; [1R 6d

1 0000] 130529,63

VYt lsh yEh 22 Wdst kfedeWdzfc! 5 §

200 M-Bus+2 2dzteWdst ss' y cyfjs

vy fdzsmyy syds¢ kdz steOLokCB
gp=120d&3/ yom; 2 wLOM~tSHEA
cOMrBHESHG] OB dzj BBSdZjj 1
M-Bus; 2 ddifkzdz fmdz" = o~ tSH

1 0001} 118 027,39

vl sy syds¢ kd sttOLokC
gp=120d3/ yomm; 2 tOMmntSHBA
cOMrBHESWR] OB dzj BSdZj j 1
M-Bus; 2 ddifkd fMdz" = o - tsH

1000 1| 125846,42

vy syds¢ Edz stcOL o kG s
gp=150d&3/ yom; 2 wLOM~tHEA
cOMrBHESHG] OB dzj BSdZj j 1
M- Bus; 2 diBfzdzt Mder = 9 - tSH

1 0001} 174525,66

vl fdshmyy syds¢ Ekd sttOLokC
gp=150d33/ yofm; 2 tOfMmntSHBA
cOMrBHESWR] OB dzj BSdZj § 1
M-Bus; 2 ddifbkd fMde" = o - tsH

1000 1| 182344,69

vy syds¢ Edz stcOL o EC s
gp=500d&3/ yom; 2 wWOM-tHEBA
COMIBHEM] tOR] dj BSdjj 1|
M- Bus; 2 diBf zdzt Mdgr = 9 -~ tSH

000 1] 321456,84

vdffdsmyy syds bkdz scOLoakEB
gp=500d&33/ yom; 2 wGOM~tSHEBA
tcOMrSHB®R] O3 dzj BBSdzi J 1
M-Bus; 2 difkd Mde" = o~ tsH

1 000 1) 329 275,87

vjffdsmy syds¢ kdz stcOL o EC s
2 ttOMmMAatHE®R] 0O; ©OMMIstsWY dd
1,5d; Tmax=105Au; M ddzls‘j1
9~tsHO;, [I1R 6dz s

000 1] 10904242




v dzsmyy syd¢ Edz stcOL o ECts
2 tOMmMAtHEWR] td®; t©OMMIstsw dd
1,5d; Tmax=105Au; M ddasj
9natHO; [1R 6dzj s

000

90 792,88

jidzsmyy byd¢ Ekd steOLakzCts
cOMRsHBHR] tO; ttOMmMmistsw dad
5d3; Tmax=150Au; M ddasj
SHO; [1R 6dzjls

©® P, N C

11~

000

116 861,44

Jfdksmyy sydS bd bEOLa kLS
COMOSHEM®] 6O; ©OMMssY dd
5d3;, Tmax=105Au; M ddzsj
SHO; [1R 6dzjls

O L, N C

11 -~

000

110 998,98

jf sy suydS bkd keOLo kS
COMISHB®R] €O ©OMMSEWY dd
5d3; Tmax=150Au; M ddasj
sHO; [1R 6dzjls

©® P, N C

11~

000

118 818,01

sy kyd¢ Ekd ktOLokzC Tt
ttOMrsHESWR] tO@; tOMMIstsW dzd
5d3; Tmax=105Au; M ddzsj
SHO; [1R 6djls

O, N C

11 -~

000

112 955,45

jf sy suydS bkd keOLo kS

COMISHE®R] €O: ©OMMSEWY dzd
,5d3; Tmax=150Au; M ddasj
~SHO; [1R 6djls

©® L, N C

000

120 774,48

v fdzsmyy syds¢ kdz steOLokC
gp=60d3/ yofm; 2 tOMmnSHBAgJ
cOMrBHESd] OB dzj BSdZj j§ 1
M- Bus; 2 diBfzdzt Mdgr = 9 - tSH

000

118 027,39

vl fdshmyy syds¢ Ekd sttOLokC
gp=60d33/ yofMm; 2 tOMmntsH BAJ
cOMrBHESWR] OB dzj BSdZj J 1
M-Bus; 2 ddifbkd fMdz" = o - tsH

000

125 846,42

vy syd$¢ kdz stcOL o EC s
gp=300d&3/ yom; 2 wWOMntSHEBA
cOMrBHESd] OB dzj BSdZj j 1
M- Bus; 2 diBf zdzt Mdgr = 9 -~ tSH

000

174 525,66

vdffdsmyy syds bkdz scOLoakEB
gp=300d&33/ yom; 2 wOM~tSHEBA
cOMrSHESdG] OB dzj BSdZj j 1
M- Bus; 2 dd&@fbkzdz fMdzgr = o~ tSH

000

182 344,69

vy syd$¢ kdz stcOL o EC s
gp=100d&3/ yom; 2 wWOMntSHEBA
cOMrBHESdG] OB daj BSdZj j 1
M-Bus; 2 dd&iflzdz fqder = o - tsH

000

146 276,60




v dzsmyy syd¢ Edz stcOL o ECts
gp=200d&33/ yom; 2 wOMAtSHEBA

cOMrBSHESHR] OB dzj BBSdZjj 1 000 146 276,6(
M- Bus; 2 ddifkd fpder = o~ SH

vjfdzsmyy syds¢ Ekdz stcOLoakzC
gp=100d&3/ yom; 2 wWOMntHEBA
cOMrBHESd] OB dzj BSdZj j 1 000 154 095,61
M-Bus; 2 dd&iflkzdz fqder = o - tsH

vifazsmyy suydsS Ekd ksteOLokCts
gp=200d33/ yom; 2 t©OM~sBHBA
cOMrBSHESHR] OB dzj BBSdZjj 1 000 154 095,61
M- Bus; 2 d&ifkd fpder = o~ tSH

i dzsmyy syds¢ kdz stcOLoakzC s

2 ttOMABHE®R] O; t©OMMIstsw dd

1,5d3; Tmax=150Au; M ddasj 000 98 611,91
oantsHO; [1R 6djls

vifdazsmyy syds Ekd kteOLo k¢t

2 wOMmMatsHEB®R] 0O; w©WOMMIssY dzd

1,5d; Tmax=105Au; M ddasj 000 110 998,99
9ntHO; [1R 6djls

i dzsmyy syds¢ kdz stcOLo kS

2 ttOMABHE®R] O; ©OMMIstsw dd

1,58, Tmax=150Au; m ddzsj 000 118 818,01
oantsHO; [1R 6djls

vifazsimyy sydsS bkd steOLo k¢t

2 wOMmMatsHB®R] 0O; w©WOMMIsWY dzd

1,5d; Tmax=105Au; M ddasj 000 112 955,43
9ntHO; [1R 6dzj Is

vifdzsimyy sydsS bkd steOLo k¢t

2 wOMmMatsHB®R] 0O; w©WOMMIsWY dzd

1,5d; Tmax=150Awu; M ddasj 000 120 774,49
9ntHO; [1R 6dzjIs

vifdzsmuyilsydsS kd steOLokCts

2 wOMmMatsHB®R] 60; w©WOMMIsWY dzd

1,5d; Tmax=105Au; M ddasj 000 3195811
9ntSHO; [1R 6dzjIs

i dzsmyjlsyds Lkdz stcOLokzS s

2 tOMmMAatHEWR] tO®; ©OMMIstsw dd

1,5d; Tmax=150Au; M ddasj 000 39 777,14
9ntHO; [1R 6dzj s




v dzsmyy syd¢ Edz stcOL o ECts
2 tOMmMAtHEWR] td®; t©OMMIstsw dd
1,5d; Tmax=105Au; M ddasj
9nfSHO; 1R 6dzjls

000

35 999,39

vjfdzsmyj suydS kdz stcOLo kS s
2 ttOMAisHBdR] tO; w©OMMissw dd
1,58, Tmax=150Au; m ddzsj
9ntSHO; [1R 6dzjls

11~

000

43 818,43

vy fdsmyy syds¢ bkdz scOLoakzE
2 wOMatsHEBER] O; OMMIssY dzd
1,5d; Tmax=105Au; M ddasj
9ntHO; [1R 6dzjls

11 -~

000

72 214,94

vjf sy suydS bkd keOLo kS
2 ©OMOGHGB®R]©O: tOMMlssw dd
1,58, Tmax=150Au; m ddzsj
oantsHO; [1R 6djls

000

80 033,96

vifdazsmyy syds Ekd kteOLo k¢t
cOMrBHEBHR] tO; tOMMistsw dzd |
1,5d; Tmax=105Au; M ddasj
9ntHO; [1R 6djls

000

76 031,69

vjf sy sudS bkd keOLo kS
COMIBHE®R] 0; ©OMMISEY dd j
1,58, Tmax=150Au; m ddzsj
oantsHO; [1R 6djls

000

83 850,72

jfdzsmyy kyd¢ Ekd steOLokC Tt
tOMrHEsSdR] tO®; twOMMIstsW dzd
5d3;, Tmax=105Au; M ddzsj
sSHO; [1R 6dzls

©® ~, N C

11 -

000

90 792,88

jf sy suydS bkd keOLo kS
COMISHB®R] €O;: ©OMMSEWY dzd
5d3; Tmax=150Au; M ddasj
sHO;, [1R 6dzjls

©® L, N C

11~

000

98 611,91

jfdzsmyibyds kd steOLakzCts
cOMrsHEsSdR] tO; twOMMIstsW dad
5d3; Tmax=105Au; f ddzlsj
SHO; VTR 6dzj Is

©® m, N C

11 -

000

31 958,11

jf sy bydS bd stOLobLCE

COMEBHE®R] 60; tOMMsEwY dd
,5d3;, Tmax=150Au; M ddzsj
~BHO; [1R 6dils

© L, N C

000

39 777,14

vy syd$¢ kdz stcOL o EC s
cOMrHEdR] O; tOMMistsw dzd |
1,5d; Tmax=105Au; M ddasj
9ntsHO; [1R 6dzj s

000

72 214,94




v dzsmyy syd¢ Edz stcOL o ECts
cOMrBHEWR] tO; tOMMistsw dzd |
1,5d; Tmax=150Au; MM ddasj
9natHO; [1R 6dzj s

1 0001] 8003396

U tedflsh yh 22 Wdst EfmBdaW dzf ¢

200 M-Bus+2 2dateW 3t Ists!' y eyt Js;

vjfdshyy bydS bEd kteOLokCts
2 wOMatsHEBER] O; OMMIssY dzd
1,5d; Tmax=105Au; 2 HOLY
Bus; 2 dBfkzdz Mdz" = 9 ~tSHO;

1 0001} 85877,99

vjf dzshujlsydsS ko SEOLa kS
2 GOMIBHBE]6O: ©OMMsEY dd
1,5d% Tmax=105Au; 2 HOlYy|"
Bus; 2 dd&fkd mMdz' = o©ntsSHO;

0001) 45621,12

vifdazsmydilbuydsS kd kteOLo k¢t
2 wOMmMatsHEB®R] 0O; ©WOMMIssY dzd
1,5d3; Tmax=150Au; 2 HOIlYyY
Bus; 2 dd&fkzd mdzr = 9~ tsHO;

v fashy yds¢ bkd stOLokC q.h
2 wLOMAtHE®] 8O; tOMMssw dd o m

1,5d; Tmax=105Au; 2 uoky|! 000t 4900240

Bus; 2 dd&fkd Mdr & onGHO; ';p J

1 000 1] 53440,13

vy syds¢ Edz stcOL o kG s
2 tOMmMAatH®R] O; ©LOMMIstsWY dd
1,5d3; Tmax=150Au; 2 HOlYyY
Bus; 2 difkzdzt Mde" = 9 -~ tSH O;

1 0001) 57481,46

vjf dshyy sydS bkd SEOLo kSt
2 ©GOMIBHBE]6O: ©OMMsEY dd
1,5d Tmax=150Au; 2 HOlYy|"
Bus; 2 dd&fkd mMde' = o©rntsHO;

0001] 93697,01

vy syds¢ Edz stcOL o EC s
cOMrsHBM®R] O; twWOMMissw dzd §

1,5d% Tmax=105Au; 2 nolky|!
Bus; 2 difzdz Mde" = 9 ~tSH O;

0001] 89694,68

vjf sy sydS bkd SGOLo kSt
COMIBHEER] 60; OMMSEY dd j

1,5d; Tmax=150Au; 2 HOIlY
Bus; 2 dd@fkd Mde" = o©ntsHO;

1 0001) 97513,72

vjffdsmy syds¢ kdz stcOL o EC s
2 ttOMmMAatHE®R] 0O; ©OMMIstsWY dd
1,5 Tmax=105Au; 2 HOby|"
Bus ; 2 difkzd Mdr 2 ontsHO

000 1] 104 455,92




vl fdsmyy syds¢ Ekd
2 ttOMrBHBA] O;
1, 5d;
Bus; 2

Tmax=150Au
d &3¢ z dz' fmdzr

©tOMmMls W dzq

sStcOL o lz€C s

;2 HOIY
n 9nfHO;

000

112 274,93

vg sy buds kdz
2 ttOMmMroBHBWAG] LO;
1, 5d;
Bus,; 2

Tmax=105Au
d &3¢ z dz' fmdz

©OffMlssw dzd

ScOLozC s

;2 HOIY
n 9afBHO;

000

45 621,12

vud fashud syds kada
2 wOMrtsHEBAR] t.O;
1, 5d;
Bus; 2

Tmax=150Au
d &3¢ z dz' fmdzr

tcOMmmis sw dad

StcOLolzC S

;2 HOIY
n 9nfsHO;

000

53 440,13

{é&-%&?ﬁ

v dzsmyy syd$¢ Edz
gp=120d&3/ yom; 2
cOMR sHS®R] OB daj
HOo dzj dzdw; ) ddzlsj

bcOLoO G 5
tOMA SH &

Bsdzj j 1
el j 2 MEd

000

139 510,88

vy ffdzsmyy syd$¢ E&dz
gp=120d&3/ yom; 2
cOMR sHS®R] tORd daj
HOo dzj ded ¥ ; M) ddalsj
6 dzj Is

bOLoOZC 5
tOMA SH

Bsdzj j 1
el j 2 MEd

000

131 691,86

vl fdsmyy syds¢ Ekd
gp=100d3/ yomm; 2
cOMr BHEA] O dzj
HOo dzj dzd v ; M ddzlsj
6 dzj Is

bcOLo 6 5
COMR BH &

Bsdzj j 1
¥ j2Mmed

000

159 941,05

vjffdzsmyy syd$¢ Edz
gp=100d&3/ yofm; 2
cOMR sHiS®R] OB daj
HOo dzj ded ¥ ; M ddalsj
6 dzj Is

bOLoO ZC 5
©tOME SH &

Bsdzj j 1
Bl j 2 MEd

000

167 760,07

vl fdsmyy syds¢ Ekd
gp=500d33/ yofm; 2
tOMr BHEA] OB dzj
HOo dzj dzd W ; M ddalsj
6 dzj Is

bcOLo 6 5
COMRBH &

Bsdzj j 1
¥ j2Mmed

000

335 121,42

vjffdzsmyy syd$¢ Edz
gp=500d&3/ yofm; 2
cOMR SHSM®] tORd daj
HOo dzj dzadw; ) ddalsyj
6 dzj Is

bOLoO ZC 5
©tOME SH &

Bsdzj j 1
Bl j 2 MEd

000

342 940,39

vdfdzsmyy syds¢ kdz
2 ttOMmMrBHBA] LO;
1, 5®;

Bus; 2 dd&f zdz mdz

6 OMfls 5w dad
Tmax=105Au4;

stcOL o lzC s

2 HOIy
n 9nfBHO;

000

122 706,90

vjfdzsmyy syds kzdz
2 wOmMrtsHEBAR tc0O;
1,5
Bus,; 2

Tmax=105Au
d &3¢ z dz' fmdz

teOfmmis sw dad

StcOL 8 2C s

;2 HOIY
n 9nfsHO;

000

124 663,55




Zdz! stcOL o zC s
tOffls s dzd
Tmax=150Au; 2 HOlY
difbd Mdzr & oo HO

v fashyy sydc
2 ttOMrBHBA] O;
1, 5d;

Bus; 2

000

132 482,56

Zdz stceOL o EC 5
6 Offls 5w dzq
Tmax=150Aud; 2 HOLYyY

qif bz fdzr & ®RtsHO;

v fdshyy suds
2 ttOMmMroBHBWAG] LO;
1, 5d;

Bus,; 2

000

130 525,93

vy fdsmyy syds¢ bkdz stcOLoakCB
gp=60d3/ yofm; 2 tOMmnSHBWGJ
cOMrBSHESHR] OB dzj BSdZjj 1
HOo dzj dzedW;, M ddalsj el j2MB®R
6 dzj Is

000

131 691,86

vy ffdsmyy syds¢ bkdz scOLoakCB
gp=60d3/ yofm; 2 ttOMmnSHBWGJ
cOMrBSHESHG] OB dzj BBSdZjj 1
HOodzj dgd W ; M ddzlsj oW j 2 MmMtsd3

000

139 510,88

vy ffdsmyy syds¢ bkdz stcOLoakzC
gp=150d&3/ yom; 2 LOM~tSHEA
cOMrBHESWR] OB dzj BtSdZjj 1
HOo dzj ded ¥ ; M ddzlsjteW j2mtsds
6 dzj Is

000

188 190,13

vl fdshmyy syds¢ kd sttOLokCB
gp=300d33/ yomm; 2 tOMmntSHBA
cOMrBHESWR] OB dzj BSdZj j 1
HOo dzj dedw; M ddzlsj e j 2MmMtsds
6 dzj Is

000

188 190,13

vjfdzsimyy syds zdz
gp=300d33/ yofm; 2 ttOfMmntSHBA
cOMrBHESWR] OB dzj BSdZj J 1
HOodzj dzgdw; M ddzlsjteW j2MmMsd3

SteOL 8 zC 15

000

196 009,16

vl fdshmyy syds¢ Ekd sttOLokCB
gp=200d33/ yofm; 2 ttOfMmntSHBA
cOMrBHESWR] OB dzj BSdZj J 1
HOo dzj dedw; M ddzlsj e j2Mtsds
6 dzj Is

000

167 760,07

vjfdashyy sydS kzdz
gp=200d&3/ yom; 2 wWOM~tSHEBA
cOMrBHESHG] OB dzj BSdZj j 1
HOo dzj dgdw; M ddzlsj e j2MmMtsd3
6 dzj Is

StcOLolzC 5

000

159 941,05

Zdz? stceOLo G

6 OMfls 5w dad

Tmax=105Au; 2 HOlY
i bd fdzr & o St5HO

v fdztshyy suds
2 ttOMmMrBHBA] LO;
1, 5®;

Bus; 2

000

122 706,90

Zdz stcOL o EC 5

ttOfmmis sw dzd

Tmax=150Au; 2 HOlYy
qRf zdz dg’ 2 o ntsHO

v fdzsmyy syd¢
2 wOmMrtsHEBAR tc0O;
1, 5d;

Bus; 2

000

130 525,93




vjfdsmuyy sydS bkd stOLobkSts
2 tOMmMAtHEWR] td®; t©OMMIstsw dd
1,5d; Tmax=105Au; 2 HObY
Bus; 2 dd&fkdz mMde' = o©rntsHO;

1 000 1] 124663,55

vjfdshy syd$¢ kzdz stcOL o EC s
2 ttOMAisHBdR] tO; w©OMMissw dd
1,5d; Tmax=150Au; 2 HObYy
Bus; 2 dd&fkdz2 fMde' = o~ t5HO;

1 000 1) 132482,56

vjfdsmuyy sydS bkd stOLobkSts
2 wOMatsHEBER] O; OMMIssY dzd
1,5d; Tmax=105Au; 2 HObY
Bus; 2 dd&fkdz mMde" = o©rntsHO;

1 0001) 126619,98

vjf sy sydS bd SEOLs kS
2 ©OMAHBMG] O; toOmMmssw dq
1,58, Tmax=150Au; 2 HOIYy
Bus; 2 dd&fkd mMdz' = o©ntsSHO;

shykzh2dz2 ytf &3t j B dzy ysB ts2h 3 Is dz? y

1 000 1) 134439,00

bYjlsyudS FodsHO &j S 0dduj M
gp=1.5®3/ yofm: fewdks?2; [31|10002| 1652458
qL djtej dzdw S1ls/ y

bYjlsyudS FodsHO &j S 0dduj M
qp=2.5®3/ yofm: fewdks?2; [I1|10002| 2353256
qL djtej dzdw S1ls/ y

shykh2dz2 ytd&df jB dayysts2h ylsdz2 y ¢

g YUd syds¢ FrdzsHO d&j -~ Oded yd M
gp=1, 5833/ yofm; dd&fkzdz mdzr 2|1 000 2] 16948,52
GOwOdlsdw 5dzj Is

shykhddz2 ytfd3fjs deyysts2h ylsdz?2y ¢
dYjlbyds FdsHO d&j - Oded uj f
gp=0, 6 B3/ yofm; ydWtsets?2 o|1 0000| 17236,90
GOtOdzalsdw 5dzjIs

dYjlbyds FdsHO d&j - Oded uj f
gp=0, 683/ yofm; ydWtsets?2 o|1 0000| 17236,90
GOtOdzalsdw 5dzjIs

dYjlbyds FdsHO d&j - Oded yj f
gp=1. 5&B3/ yofm; ydWtsets?2 |1 0000| 17236,90
GOtOdzalsdw 5dzjIs

dYjlbyds FdsHO d&j - Oded yj f
gp=2, 583/ yofm; fFtwdkts?2; yd|1 0000| 2420287
GOtOdzalsdw 5dzjIs




¢ Yd syde¢

gp=2, 5d3/ yof;
¢ Ot Odgls d ™

AtsdzcHO i3i - Odzed yd M
sBtcOlsdz 2 ; 10000

5 dzj Is

24 202,87

bYUjbudS RdsHO d&jnodduy

gp=1, 5%3/ yOfm; RS485; 4 (d|10001| 1993830
6dzjls; GOwOdadsdw 5dzjls

bYUjbudS RdsHO d&jnodduy

gp=2, 5%3/ yOMm; RS485; 4 d|10001| 2690429
6dzjls; GOwOdaAsdw 5dzjls

shykh2dz2 ytfddfjs dzyyss2hylsdz?2y ¢

dYjlbyds RrBd&sHO d&jn Oded yj M
®3/ 4OM: ddzsjthj2f M-Bus: |l 0000 1622339
dYjlsyds AsdsHO oj - Odd i f

gp=2, 583/ yom; ddzlsj oW j 2 M 1L 0001| 2420287

5 dzj Is

shykh 2 dz?

¢ UJ bud<

gp=2, 5d33/ yom;
COtcOdzlsdw

¢ UJ bud<

qp=0, 63/ YOf;
6 dzj Is ;

[ 1R

Yy &k j B dayys

AtsdzsHO i3] - Odzed yJ M
fl ©OHdBer 7|1 0001

5 dzj Is

Yy WYy 4 P

AnBdzZsH O EZdz' stcOL 9 Iz

M d &y zdz2 mdz
GOtOdalsdw 5dzj Is

W Uyt L 11jpb Yy v w

10001

S2NMylsdz?2y ¢

36 866,88

18 963,68

¢ UJ bud<

qp=0, 6 B3/ YOf;
vsmax=105Au:

TsdzsH O kZdz' IsteOL o Iz

fp d &y zdz fdg1 0001
[1R 6dzjls; ¢cO

18 963,68

¢ U bud<

ap=1, 53/ Yo,
umax=105Au;

nBdZsEHO kZd StOL 9 kz

fp ddsf zdz Mdg1 0001
[1R 6dzjls; ¢cO

18 963,68

¢ U bud<

qp=2, 5d3/ YOf;
6 dzj ks ;

I_IlR

nBdZsEHO kZdz StOL 9 kz

fp ddsf zdz' g1 0003
GOtOdalsdw 5dzj Is

25 946,69

O D njc

Ucu D jc + |




dYyjlbyds¢ rBdizsHO kd IstcOL ok
gp=2, 5433/ yom; M ddfkzdz mdg 000 1| 25946,69
vmax=105Au; [1R 6djls; @GO

shykh2dz2 ytf&kf4s Wt M de W dztf ¢
g Yyjlbyds¢ rdizcsHO EZd IstcOL ok
qp=0, 633/ yoOf; M ddzsjteW j2|y 0001| 1925198
[1R 6dzjls; cOtwOdzsdw 5dzjls
g Yyjlbyds¢ rdizcsHO EZd IstcOL ok
qp=0, 633/ yoOf; M ddzsjteW j2|y 0001 1925201
vsmax=105Au; [1R 6djls; GO
dYyjlsyds¢ ndzcHO kZdz stcOLok
gp=1, 5&3/ yOf; M ddadsjteWj2|/10000| 1925198
[1R 6dzjls; cOwOdzsdwY 5dzjls
dYyjlsyds¢ ndzcHO kdz stcOLok
gp=1, 5&3/ yOf; M ddadsjteWj2|/10001| 1925198
vsmax=105Au; [1R 6djls; GO

HUjlsUdS "Sd&EHO bd ktOLak
qp=0, 6 &3/ yOm; M ddzsjteW j2|1 0001 2195340
sBtOIlsde 2; vmax=105Au; [}

g Yy byds¢ rdizsHO EkZd IstcOL ok
gp=2, 5433/ yom; M ddelsj te®W j2071 0001| 26217,92
vmax=105A4d; [1R 6djls; cO
shykh2d2 yf &g js. Wkt 2B oW dzf ¢
2detcW 3t sts' 4y ey js.

g UYUdsyds FrdzsHO kZdz IsttOL o kz

qp=0, 6 B3/ yofy; f ddasjte¥j2]/10001| 2195340
ftow dds?2; wvmax=105Au; [1R

g Yy byds¢ rBdizsHO kZd IstcOL ok
gp=1, 583/ yofm; M ddzlsjteWw j2|1 000 1| 21953,40
ftow dds?2; wvmax=105Au; [1R

shykh2d?2 yfdkfje Wi bmedeW dfae! § desfik2f
HUjSUJS RBESEHO kd OLoLk
qp=0, 633/ yOfm; f ddzlsjte® j2|10001| 1925198
[1R 6dzjls; cOwLOdsdY 5djls
HUJSUQS RBESHO kd BLOLoOLE
qp=1, 583/ yofm; f ddzsjte® j2|1 0000| 1925198
[1R 6djls; cOwLOdsdY 5djls
W SUQS RGBESHO kd BLOLoLE
qp=1, 583/ yofm; f ddzsjte® j2|1 0002| 1925201
[1R 6djls; cOwLOdsdY 5djls
HUJSUQS RBESHO kd BLOLoLE
qp=2, 53/ yofm; f ddlsjte® j2|1 0000 2621792
[1R 6djls; cOwLOdsdY 5djls




Ui byds¢ rdzcHO Ekdz stcOL 9o kz
gp=2, 533/ yofy; M ddasj W j 2
1R 6dzjls; cOtOdalsdw 5dzjls

shykh2d2 ytf &BfJs W odsd

10000

bfedcW dg ¢!

26 217,92

shykh2d?2 yf&kyjs W
200 s 2dzto¥ Bt 55! dz @
W SUqS RBEBHO kd SOLok

ap=3, 5d33/ yof;
vsmax=105Au; [1R 6djls; GO

f d&ykd fd

gy lbyds¢ rBdizsHO kZd IstcOL ok

gp=0, 633/ yofm; wWOHdtO "™ atsH|1 000 1| 3090216
6dzjIs; G OtOdalsdw 5dzjls

g Yy lbyds¢ rBdizsHO kd IstcOL ok

gp=2, 583/ yofm; wOHdte ™ atsH|)1 000 1| 3888204
6dzj Is; G OtOdalsdw 5dzjls

42 383,69

W’ 5UJS RGBEEHO bd SGOLek

M Jd&sf zdz' Mdzg" &3 9" ASHEBM,;, B
GOOdsdY 5dzj Is

10001

38 314,04

W’ 5UJS RGEEHO bd SEOLek

M difkd Md &3 o nsHEd;,
COLOdlsdY 5dzjls

10002

44 578,27

U’ 5UJS RGEEHO bd SGOLek

qp=10d3/ yofy; M dBY zd Mmde
vsmax=105Au; [1R 6djls; GO

10001

48 025,20

W SUJS RBESHO kd BLOLoLk

qp=15&3/ yofm; M ddo&ykzd fder
vmax=105Au; [l1R 6djls; GO

10003

63 562,49

W SUQS RGBESHO kd BLOLoLE

qp=25d&3/ yofy; M d By Ezd Mde
[1R 6djls; cOwLOdsdY 5djl

10002

64 686,02

g Yy syds FrodzsHO kZd IsttOL 9k
qp=120d3/ yOofn;
1R 6dzjls; cOtwOdelsdw 5dzjls
Yy &k j B Wtz
200 s e yfjfdz RS- 485
gYyy syds¢ rdizsHO kZd IstcOL ok
aqp=3, 533/ yofy; Mm ddsj e¥ j?2
PIl1RrR 6dzjls; cOteOdalsdw 5dzfls

shykzh 2 dz?2

sy 2z oz

10003

e d ¢ W

10001

68 725,86

42 383,69

gYyy syds¢ rdizsHO kZd IstcOL ok

qp=3, 5d&3/ yofm; MM ddasjteWwj?
vmax=105Au; [1R 6djls; @GO

10001

42 383,69

g Yy syds¢ rdizsHO kZd IstcOL ok
Ml ddelsj teW j 2 Msds RS485; ftew
GOtOdzalsdw 5dzjIs

10000

44 578,27

g Yy syds¢ rdizsHO kZd IstcOL ok
M ddzlsj oW j 2 Msds RS485; fsBte
GOtOdzalsdw 5dzjIs

10001

44 578,27

g Yy syds¢ rdizsHO EZdz IsteOL

qp=10d33/ yom; M ddasj el j
[1R 6dzjls; cOwOdzsdw 5 dzj

9 lz
2
Is

10000

53 066,02




gYyy syds¢ ~dzsHO Ekdz IstcOL

qp=10d33/ yom; M ddasj et j
[1R 6djls; cOtOdsdwY 5 dzj

S N

0001

53 066,02

gYyy syds¢ rdizsHO Edz IstcOL

qp=15d33/ yom; M ddasj oW j
[1R 6dzjls; GOwOdasdw 5 dzj

S N

0001

63 562,49

gYyy syds¢ rdizsHO Edz IstcOL

gp=35d3/ yom; m ddalsj W j
[1R 6djls; GOwLOdSdwY 5dzj

S N

0001

63 562,49

gYyy syds¢ rdizsHO Edz IstcOL

qp=25d33/ yom; M ddasj oW j
[1R 6dzjls; GOwOdasdw 5 dzj

S N

0001

64 686,02

gYyy syds¢ rdizsHO Edz IstcOL

qp=40d33/ yom; M ddasj oW j
[1R 6dzjls; GOwOdasdw 5 dzj

S N

0001

65 809,46

gYyy syds¢ rdizsHO Edz IstcOL

qp=80d&3/ yofy; MM ddasjteWj
[1R 6dzjls; GOwOdsdY 5dzj

S N

0002

65 809,46

gYyy syds¢ rdizsHO Edz IstcOL

qp=60d&3/ yofy; MM ddasjteWj
[1R 6dzjls; GOwOdsdY 5dzj

S N

0001

68 725,86

gYyy syds¢ rdizsHO Edz IstcOL

qp=200d&3/ yofy; M ddasj te

w
w

[1R 6dzjls; cOLOdsdwY 5dzj

T olgvolgroolgroolgroolgoolgvolg oo
v N

0002

84 969,19

g Yyjlbyds¢ rdizsHO Edz IstcOL

qp=0, 6 B3/ yofy; fm ddzsj te

w
w

ftow dits?2; uvmax=105Au; [

D 4 o
O N

0001

18 631,98

HUjlsyudS FdksHO kd seOLok
qp=0, 6 &3/ yOm; M ddzlsj tcW

sBtOlsdzr 2; umax=105Awu;

Y4— Q.
+—

0002

18 631,98

g Yy lbyds¢ rBdisHO Edz IstcOL

qp=1, 5&3/ yofm; M ddasj el j

ftow dits?2; uvmax=105Au; [

o 4 o
O N

0002

18 631,98

HUjlsyudS RedksHO kd kSOl

gp=1, 5d33/ yofm; m ddalsj ¥ j

sBtOlsdzr 2; umax=105Awu;

©
N

d
{1

0002

18 631,98

g Yyjlbyds¢ rdizsHO Edz IsteOL

qp=2, 5&3/ yofm; M ddasj oW

ftow dts?2; uvmax=105Au; [

o O
N

0001

20 556,36

g Yyjlsyds¢ rdizsHO Ekdz IsteOL

f) ddzlsj el j 2 fjscs RS485;
vmax=105Au; [1R 6dzjls;

3

@
0N

0002

42 383,69

g Yy syds¢ rdizsHO kZd IstcOL ok
qp=3, 5d&3/ yof; MM ddasjteWj?

sBteOlsdzr 2; umax=105Awu;

1

0001

42 383,69




g YyJlsyds¢ ~dzsHO Edz IstcOL

qp=3, 563/ yofy; M ddzsj W
ftow ddts?2; uvmax=105Au; [

o ©
0N

000

42 383,69

by BUdS TEdEEHO bkd stoL
fl ddelsj oW j 2 Msds RS485; 3
vmax=105Au; [1R 6dzjls;

@
0O N

000

42 383,69

g Yy lsyds¢ rdizsHO Edz IstcOL
fl ddzlsjteW j2fMsds RS485; 3
vmax=105Au; [1R 6dzjls;

@
[oE<S\U

000

44 578,27

HUjUdS "BESHO kd SOl

qp=10®3/ yofm; fm ddasj et j
fteWwdits?2; wvmax=105Au; [

S N

A O o

000

53 066,02

gYyy syds¢ rdizsHO Edz IstcOL

qp=10d&3/ yofy; MM ddasjteWj
sBKOIdy 2; uvumax=105Au;

han i SR ]
-3 N

000

53 066,02

HUjlsyudS ftdksHO kd SOl

gp=0, 633/ yofm; Mm ddalsJ tcW
fteWwdi3s?2; wvmax=150Au; [

D ©
O

000

23 127,91

g Yyjlbyds¢ rdizsHO Edz IstcOL

qp=1, 5&3/ yofm; M ddasj te¥
ftow dits?2; uvmax=150Awu; [

D 4 o
O N

000

23 127,91

HUjlsyudS fedksHO kd oL

gp=2, 58833/ yofm; M ddalsg tcW
fteWwdi3s?2; wvmax=150Au; [

o4 o
© N

000

25 052,32

g Yy lbyds¢ rBdisHO Edz IstcOL
fl ddzlsjteW j2fMsds RS485; 3
vmax=150Au; [1R 6dzjls;

@Q
0oaN

000

46 879,64

UYjsUdS SBksHO kd SOl
M ddzsj W j2Msds RS485; 3
vmax=150Au; [1R 6dzjls;

@
0Q N

000

49 074,23

g Yyjlbyds¢ rdizsHO Edz IsteOL

qp=10d&3/ yofy; MM ddasjteWj
ftow s ; uvmax=150Au; [

S N

a oo

000

57 561,94

g Yy syds¢ ~dzsHO Ekdz IsteOL

qp=15d3/ yofy; M ddasj e
ftewds2,; wvmax=105A4; [

S N

A 0o

000

63 562,49

g Yy syds¢ rdizsHO EZdz IsteOL

qp=35d3/ yofy; MM ddasjteWj
ftow dts?2; uvmax=105Au; [

S N

a oo

000

63 562,49




g Yy byds¢ rodzcHO kdz! scOL o kz
qp=25d3/ yof:; f ddzsjte¥Wj2M|10001| 6468602
ftow dds?2; wvmax=105Au; [1R

g Yy syds¢ rdizsHO EZdz IsteOL

9
qp=50d3/ yofm;, M ddasj ¥ j?
ftew dds?2; wvmax=105Au; [1R

74
fl1 000 1| 64686,02

gYyy syds¢ ~dizsHO kd IstcOL ok
qp=25d3/ yof: m ddzsjte¥W j2M|10002| 6468602
sBtOlsdy 2; vmax=105Au; [

g Yy syds¢ rdizsHO kZd IstcOL ok
qp=80d&3/ yof; M ddelsjteWj2Mm|10001| 6580946
ftew dds?2; wvmax=105Au; [1R

gYyy syds¢ rdizsHO EkZd IstcOL ok
qp=60d3/ yof; f ddzsjt¥j2m|1 0001| 6872586
ftow dds?2; wvmax=105Au; [1R

by sUdS "Sd&EHO bkd stOLsk
qp=60&3/ yoOm; M ddzsjteW j2Mm|1 0002 6872586
sBtOIlsde 2; vmax=105Au; [}

gYyy syds¢ rdizsHO kZd IstcOL ok
qp=120c&3/ yofy; f ddzsjt¥j2|/10001| 6872586
ftow dds?2; wvmax=105Au; [1R

Yy BYdS "SESHO kd sEOLsk
qp=200&3/ yofy; f ddzlsjte® j2|1 0001| 8496919
ftow dds?2; wvmax=105Au; [1R

gYyy syds¢ rBdizsHO kZd IstcOL ok
gp=500d&3/ yom; M ddalsjteWw j2f1 000 1| 185697,83
ftow dds?2; wvmax=105Au; [1R

Yy BYdS "SESHO kd sEOLsk
qp=500¢3/ yofy; f ddzlsjte® j2|1 000 3| 185697,83
sBtOlsde 2; vmax=105Au; [

g Yy syds¢ rdizsHO kZd IstcOL ok

gp=40d&3/ yom; fm ddasjteW j2Mm|1 0001| 70305,40
ftow dds?2; uvmax=150Au; [1R

by bydS TSd&SHO bd koL ok
qp=80d3/ yof; M ddzsjt¥j2m|1 0001 7030540
ftow dBds?2; vmax=150Au; [1R

shykh2dz2 yfdsfje Wdst Iz
200 s 6! yfjqfdz M-Bus

Y syudS SdksHO kd SEOLok
qp=3, 543/ yoOm; @ ddasjteW j2|1 0002| 4238369
[1R 6dzjls; cOwOddsdw 5dzjls




by bydS fksHO kd stOLok ?'w,'
M ddzlsjteWj2fsds M- Bus; fww|10002| 4457827
COwOdlsdw 5dzjls

gYyy syds¢ rdizsHO Edz IstcOL
qp=35d3/ yofy; M ddasjteWj
1R 6dzjls; cOtOdzlsdw 5 dzj
gYyy syds¢ rdzsHO Edz IstcOL
qp=25d3/ yofy; MM ddasj W]
1R 6dzjls; cOtOdzlsdw 5 dzj
gYyy syds¢ rdzsHO Edz IstcOL
qp=40d&3/ yofy; MM ddasj W]
1R 6dzjls; cOtOdzlsdvw 5 dzj
gYyy syds¢ rdizsHO Edz IstcOL
qp=60d&3/ yofy; MM ddasjteWj
1R 6dzjls; cOtOdzlsdw 5 dzj
gYyy syds¢ rdizsHO Edz IstcOL
gp=120d33/ yofm; M ddzlsj ¥
1R 6dzjls; cOtOdzsdw 5 dzj

shykhddz?2 yfddfis Wt efmpdeWdzf e y ol xjtc

S N

1 0002) 6356249

S N

1 000 2] 64686,02

1 000 2] 6580946

S N

1 0002) 68725,86

O N

1 0002) 68725,86

T olgvolgoolg ool oo
S N

200 Is ¢! yfjfd M-Bus+32dats. €.

HUjSUdS SEEEHO bdl StOLsk
qp=0, 6 B3/ yOfy; M ddzlsjteWj2|10001| 1863198
fteWwdiis?2; wvmax=105Au; [1R

g Yy byds¢ rdizsHO EkZd IstcOL ok
gp=0, 6 33/ yoMm; ff ddzlsj teW j 211 0001] 18631,98
sBtOlsdy 2; wvmax=105Au; [

©
N

HUjsUudS RBdSHO kd kLol

qp=1, 543/ yOfm; f dJdaisj ¥
sBtOlsdzr 2; umax=105Awu;

210002 1863198

Y— Q.
—

g Yy byds¢ rdizsHO Edz IstcOL

qp=1, 5d&3/ yofm; Mm ddzsj et j
ftow dits?2; uvmax=105Au; [

©
N

0002] 1863198

0
O
p—

©
N

HUjsUudS RBdSHO kd kLol

qp=2, 533/ yofm; M ddsjte¥ ]
ftow dds?2; uvmax=105Awu; [

000 2] 20556,36

0
LS
p—

g Yyjlbyds¢ rdisHO EZdz IsteOL

gp=2, 5d&33/ yom; fnf ddalsj oW
sBKOIdy 2; umax=105Au;

©

74
21 0001| 20556,36
1

Y— Q.

g Yy syds¢ rodzsHO Ekdz stOL

qp=3, 5&3/ yof; m ddzsj ol
ftow dds?2; uvmax=105Awu; [

— o
v N
p—

0001}] 42383,69

Py

g Yy syds¢ rdizsHO kZd IstcOL ok
gp=3, 53/ yofm; M ddzlsjteW j2|1 000 1| 42383,69
SBtOlsdz 2; vmax=105Au; [




g Yy byds¢ rodzcHO kdz! scOL o kz

) ddelsj oW j2fmsds M- Bus; 3 d|10001| 4457827
vmax=105Au; [1R 6djls; @GO

g Yy syds¢ rdizscHO EZd IstcOL ok

qp=10&3/ yof; f ddzsjteWj2M|10001| 5306602
ftew dds?2; wvmax=105Au; [1R

gYyy syds¢ ~dizsHO kd IstcOL ok

qp=35d3/ yofm; fm ddzsjteWj2Mm|10001| 6356249
ftow dds?2; wvmax=105Au; [1R

g Yy syds¢ rdizsHO kZd IstcOL ok

qp=80d&3/ yof; M ddelsjteWj2Mm|10001| 6580946
ftew dds?2; wvmax=105Au; [1R

shykh2d2 yf &Bfjs
200 ¢ MmBj26c: yijyd
Yy syd¢ rfodzcHO Edz IsttOL 9k
gp=3. 583/ yofm; twWOHdte ™ 7 BH
6dzjls; GcOwOdaAsdw 5dzjls

10001

Mgl e daldf g oy

45 362,26

g UYUdsyds¢ FrodzsHO kZd IsttOL ok
cOHdtsor asH |1 oT; ftowd3ts?;
5dzj Is

10001

47 556,85

Yy syd¢ rfodzcHO Edz IstcOL ok
gp=10d33/ yoOfm; w©WOHIBO "™ AtsSH
6dzjls; GcOwOdaAsdw 5dzjls

10001

56 044,57

fol 3Jfc

dYUd byds¢ rBdzcHO bkdzt scOL o kz
p=15d¢3/ yom; ©OHdEO' - BH
6dzjIs; cOttOdzslsdw 5dzjIs

o

10001

66 541,06

d YU syds¢ rBdzcHO Ekdz scOL 9o kz
gp=25d33/ yoOm; w©WOHdBO "™ atsSH
6dzjls; GcOwOdaIsdw 5dzjls

10001

67 664,56

d YU byds¢ rBdzcHO Ekdz scOL o kz
gp=40d33/ yoOMm; w©WOHIBO "™ AtsSH
6dzjls; GcOwOdaAsdw 5dzjls

] sl y 2tj2dlzf Mm!

Ir detsfdets? ddzi S Olstste s f dzts
qdzs j 6% j 2O 6

10001

) te i3y

10002

68 788,02

lsh)llzh

10 604,98

I dzsfdes? ddzH S Obste s f dzts
qdzs j 6% j 21O 100

1 skBLsBY BMdzB EZW MB

10004

10 788,14

jdgy hykh2dfd

cfJ!




IMs0eCO Isjndsdsedyy s ow 1000| 42,14 \
IfMs0oCO Isjodesdzsedyj s oOw 0003| 51,22 \
ifglzsoof’gf_:gzg BEds 010 d U5, 5500| 23077 \
ifflfgg;g HaY BEds0y 0 d I51. 5660] 142804

f_f:”llsgg;g HaY  BBds0y 0 d I, 5660] 276029

f_f:”llsg)g;g HaY  BEds0y 0 d I, 5660] 42881 /
f_f:”lzsg)g;g HaY  BEds0y 0 d I51. 5660] 515699

f_f:”lzsg)g;g HaY  BEds0y 0 d I, 5660] 595721

f_f:”lzsg)g;g HaY  BEds0y 0 d I8, 5660] 910164

f_f:”lzsgg;g HaY BBds0y 0 d I51. 5660 1038004

f_f:”lzsgg;g HaY  BBds0y 0 d I51. 5660 1741038 H
f_‘;”fgg;% HaY  BEds0y 0 d I51. 5664] 1986689

f_‘;”fg’g;% HaY  BEds0y 0 d I5). 5664] 1367131

f_f:”lzsggzs% Hdzv BEaS 00 d ¥l 5401] 12450086

Sty dzjCls kmlsOdtse sydzr = |1 0000| 416024

St dzj Cls kfmlsOdsse sydz = 1|1 0000| 529999 ()__h
St zj Sls EMmlsOdsesudy = ft|10000| 634408 ﬂ"‘.O




stdifdjSls EMsOdss sydr & ft|10000| 920988

SedifdjSls EMsOdss sydr & ft|10000| 930467

SEBfdzj Sk EMsOdksSs Sude = §

osH'  Isjf k0, k15 1 0000f 24622

SERj ) EMSOdss 5ud o §&|10000| 496,70

SEdBf &z S5 EMSOdsSs 5udz » §&| 1 0000| 79836

SEdBf &z O EMSOdGEs 5udz » &1 0000| 124061

SEdBf &z O EMSOdGEs 5udz » &1 0000| 193460

SEdBf &z EMSOdGEs Sudz » &1 0000| 349565

SE®Ri &t EMsOdte syd & sﬂ

sd3 Hdzw MyjlydSse otsHT™ , 10000 283,61

SeBfdzjSls EMsOdkss syde & § 1

sk o CodsfdjCls) f fodeswoll 0000 26801

SEBfdzj Sk EMsOdksSe Sudze & §

seodd kujlko esHr d lkjifdojl 0000 23267

SEBfdzj Sk EMsOdGsSe Sudze & 4§t

fedsswOdd byjko ssnr o |t 0000 46938

1ddz2 LO Hdzw BsdlsOy 0 Isj ted3ts

sobkesfesosH [k 100 - 150| L0003 18770 ,\
N\g{‘

1ddz2 LO Hdzw BsdlsOy O Isj ted3ts

sbkesfisosH [ 200 Hdw ol 0003 187674

1qd L0 na a0y 0 kieas| ool 500 R

StezBtsftesotsH [ 280-200 Hdv

Lddz LO Hd" Bsdsoy 0 ||t -*

sobesfesosH & 40 - go w| L0003 150751

lddz LO HizY dBsdlsoy 0 s tedts L0000 729 23 &

stezetsftesotsH &2 25 - 32

H




stcOdz h Otetsor 2 HdzW dBsdlsOy 01 0000 424,02
stcOdz h Otetsor 2 HdzW dBsdlsOy 01 0000 538,06
stcOdz " Oteso " 2, wky¢O-BOBS|1 0000 319,09
stcOdz " Oteso " 2, wky¢O-8BOBKS|1 0000 494,21
stejfodzjdedj dz®@ Mlsjdzz Hdzv o)1 0001 101,33

lBdi3Btsls2mMfefhsBY BMdzB W MB

1 Bt dzy 2 Mm!

[ Odes s lste OCMdOd dzr 2 ¢ kdz
C oMM bsydtshmisd 1,5

11002

216,11

[ Odetsdzj Istc teOH dOdz! dgf 2 ¢ zdd
Bdz., G1/ 2", CdkOfMmfy ktydssh

11002

366,44




[ Odesdsj st OC fd Odz' dzr 2

¢} kdz

11002

304,44

[ § detey tslsB 2 Y fiy!

H2JMmywiemyic

50 & ¢ dzomm bsuydshlsd 2,
[ OdetscBj st t6OHdOdz dz7 2 ¢ kdz
50 agds ¢ &OMmh boydshlsd 2, |t 002 29034
[ Odes 3 st tcOHdOdz! dz 2 ¢} kzdd
40 d3as, Cd&zOMmMm Ibsydasmisd 2, 11002 287,52
e j Wz M jBEedys2Y
tdJHECIsste HOo dzj dzgdwv 1§ steh dzj
COHdOd dr 2, k15, 1/1 (gs|t02009 117440
tdHEC ISt HOodzj dedv f steh dzj
O¢MdOdz dg" 2, k25, 1/1 (s 1 0008| 386578
tdHEZCIste HOodzj dzd v ff Steh daj
O¢MdOdz dg" 2, k32, I1/1 (s 1 0009| 630467
{t JHECIsste HOo dzj dzdv d3j dzgB tc ©
0009| 189,61 _
(sdbk02) 1 lq A
= 0
5 7,
{t JHECIsste HOo dzj dzdwW d3j dzgB tc © T
(sdl02) 1 0009] 2089,07




st | dzZMOIststc cdHicSEZH O

100009

791,94

gWh s oBd@EBBIs2Mfetfh sy )y dzdzB toB 5
zOf Odz B OdzO dz teso sydzr 2 o
flSHgdZJ : rlzflng U 1000 1| 347408
ZzOf Odz B OdzO dz teso sByds” 2 6
szgdzJ : rlzg“g U 1L0001| 371534
s zOf Odz B OOzl dtetse sydzr 2 to
[ swjd 2. ddffjdd, 15 1 0008| 152777
s zOf Odz B OOzl detse sydzr 2 t6
[ swjdr 2. ddffjdd, 220 10008| 208794
s zOf Odz B OOzl detse sydzr 2 t6
[ swjd 2., ddffjdd, [225 1 0008| 315737
s dzOf Odz B OzOdzMdtetse sydz 2 ¢
pnBHE®R HAW HOobudco Isjat |t 2008 79313
s dzOf Odz B OzOdzMdtetse syde 2 6
CsHjdr 2. dedff e, k32 11001 12158,40
s dzOf Odz B OzOdzMdtetse sSyde 2 o
[ swjdr 2. dadffjdd, 240 11001| 15830,40
s zOf Odz B OzOdzlmJtetso sydzr 2 |1 100 1| 5930598
s zOf Odz B OzOdzMJtetso sydzr 2 |1 100 1| 7474951
s zOf Odz B OdzOdzMJtetso sydzr 2 t|1 100 1| 101 998,30
s zOf Odz B OdzOdzmJtetso sydzr 2 te| 1 100 1| 137 244,02
s zOf Odz BOzOdzldtetse syder 2 tgf 1 100 1] 183 108,42




ey HW Y 24 iy

tcy My teB j B

jBGEdBY 2

tickdvistt fjtjfOHO HOodj

G Ld Mdzov kzsco o Cwdy|! 000 1030900

tickdvistte §jtjfOHO HOodj

tickdvistte §jtjfOHO HOodj

dBf zd MdzO" sk CO o € &Y 1 0001) 10863,32

tickdvistte fjtjfOHO HOodj

dzd ff f j dzd ; d B zdzt fdzOW IstekzB 1 0001} 18514,79

tdekdzvisste fitejf OHO HOo dzj

tdekzdzvisste §fJjtejf OHO HOo dzj

dzd § § § dzd ; d & zdz' fdzOw Istekz B 1 0003) 2970281

[(Ymdf sfe! ¥ jBlzh2dz2

VL jdz ddB3f Zdz' Mdzsets o7 ASHO

TdZsHds?2 otHT kdfO [us 1 0000| 506,64 \O

J fdetedsy dzz jfdelzfifme L2jdfsEz2, |J

] dztsC 1 dzj Slstetsdeder 2 HtsL Olstste| 1 000 0| 4595892 B2,
TP




(Bkh2dz2 MmBlytfjB L2] dflskz?2

[ Olbyd$¢ tOMRsHO Y dHStMIsd 1 0000| 683827
[ Olyd ¢ t©OMmMatsHO Y dHSCtSMIs 1 0000] 925462
[ OydS ©OMEsHO 3ydHuHStMmlsd |1 0005| 708878
(fdelzgyMm: L2 jdflskz2 (MmMBlsyf j§dy,
stsRf dzj Sls HiSL Oltste® ¢) kzdz fif1 0000| 6036034
s dzj € Is HEtSL Olsstc® ¢ k2dz? igf 1 000 O] 66401,22
s dzj € Is HEtSL Olsstc® ¢1 2dz? igf 1 000 0] 94575,83
st dzj Cls HisL Olstste® ¢ zdzr ) 000 0] 142878,62
st dzj Cls HisL Olstste® ¢ zadzr )y 000 0] 8249411
stsRf dzj S5 HESLOBEBO ¢ EZd f

JBf ko MO dzj sdjj 0,02ds |t 0000 6273770
(BEh2dz?2 JjBEd) B2V

ltoj sBteOL ts9 Olsj dz2 HO9 dzj ded W
0,25 [10, o' StHdts?2 fdcdO
4 GtSHO); twjL'BO [20r1,5

10000

4722,35

ltoj sBteOL ts9 Olsj dz2 HO9 dzj ded W
10, oraotHds? Mdeddd 4- 2
GBHO); tjL'BO [20r1l,5

10000

4722,35

ltoj sBteOL s Olsj dz HO9 dzj ded W
10, oratHdt?2 MdedzOdz 4- 2
GBHO); tjL+BO [20r1,5

10000

6 913,93

ltoj sBteOL 59 Olsj dz HO9 dzj ded W
10, oratHdt?2 MdedzOdz 4- 2
268HO) ; twjL!'BO [20~1,5

10000

5221,26

ltoj sBteOL s Olsj dz2 HO9 dzj ded W
10, oratHdt?2 MdedzOdz 4- 2
268HO) ; twjL!'BO [20~1,5

10000

5 221,26

ltoj sBteOL s Olsj dz2 HO9 dzj ded W
10, oratHdt?2 MdedzOdz 4- 2
268HO) ; twjL!'BO [20~1,5

10000

5 221,26

ltoj sBteOL s Olsj dz HOo9 dzj ded W
16,0 [10, oratHdts?2 Mmde dzO
1R 268HO),; tjL!BO [20n1

10000

5 221,26

ltoj sBteOL 50 Olsj dz2 HO89 dzj ded W
10, oratHdts? MdedzOdz 4- 2
GSHO) twjL!'BO G1/ 2"

10000

4721,86

ltoj sBteOL 50 Olsj dz HO89 dzj ded W
10, oratHdts? MdedzOdz 4- 2
268HO) ; twjL!'BO [20~1, 5

10000

5 221,26

ltoj sBteOL 50 Olsj dz HO89 dzj ded W
10, oratHdts? MdedzOdz 0, 4
GBHO); tjL+:BO [20r1,5

10000

5428,74

ltoj sBteOL 50 Olsj dz2 HO89 dzj ded W
10, oratHdts? MdedzOdz 0, 4
GBHO); tjL+BO [20r1,5

10000

5428,74




ltoj sBteOL 590 Olsj dz HO9 dzj ded W

0,25 [10, ofriotHds?2 Mdcdo|1 0000| 522126
1R 2Gt5HO) ejL!BO [20r1

l tcj sBtcOL 59 Olsj dz2 H Qo dzj dad W

0,25 [1O0, or atsHdz82 MdcedzOf 1 0003 4 722,35
4 GE6tSHO) tjL:BO G1/ 2"

l tlcj sBtcOL 59 Olsj dz2 H Qo dzj dad W

[10, orfatHds? MdedOdz 4-2|10000| 5221,26
26B8H0O); tjL!BO [20nr1,5

l tcj sBtcOL 59 Olsj dz2 H Qo dzj dad W

[10, orfatHds? MdedOdz 4-2|10000| 5221,26
26B8H0O); tjL!BO [20nr1,5

l tcj sBtcOL 59 Olsj dz2 H Qo dzj dad W

[10, o' otHdGS?2 MdedOd 4-2|10000| 472235
GBHO); tjL+:BO [20r1,5

l tloj sBtcOL 59 Olsj dz2 H Qo dzj dad W

[10, o' otHdGS?2 MdcdOd 4-2|10000| 472235
GBHO); tjL:BO [20r1l,5

l tloj sBtcOL 59 Olsj dz2 H Qo dzj dad W

[10, o' otHdGS?2 MdddOd 4-2|10000| 522126
26B8H0O); tjL!BO [20R1,5

(BEh2d?2 JjBEd) B2V

ltoj sBteOL s Olsj dz2 HO9 dzj ded W

[10; ornicHds?2 MdcedOd 4- 2|1 0000| 1479124
CBHO; dMfdzdzj dedi | P 68 (

l tloj sBtcOL 59 Olsj dz2 H Qo dzj dad W

[10; ornatHdGs?2 MdedOd 4- 2|1 0000| 1479124
GBHO,;, dmMytdzdzj dedj | P 68 (

ltoj sBteOL 59 Olsj dz HO9 dzj ded W

[10; ornatsHds?2 MdedOd 4-2|10000| 1479124 s —
CBHO;, dMmytdds dzdj | P 68 (

l tloj sBtcOL 59 Olsj dz2 H Oo dzj dad W

[10; ornatHdGs?2 MdedOd 4- 2|1 0003| 1479124
GSHO; dmMisdzdzj dzdy | P 68 (

l tloj sBtecOL 59 Olsj dz2 H Qo dzj dad W

[10; or asHdts?2 Mmdce dzgOdz 4 - 2

CEHO: dMmftddjdad; | P 68 (|L0004 1529788
HdzddzO S OBJjdzZv 1003

l tloj sBtecOL 59 Olsj dz2 H Qo dzj dad W

0.25 [10, o' otHds2 MdcdO|1 0000| 542874
I_IlR 4 GtSHO); twjL!BO [20n
1'L(;JISB'LG(E)LtsaG)ls,;dzJ HO»9 dzj ded W

[10, orfatHds?2 MdedOd 4- 2|, 0000| 472235
EBHO); tjL'BO [20r1l,5
1'L(;JISB'LG(E)LtsaG)ls,;dzJ HO»9 dzj ded W

[10, orfatHds?2 MdedOd 4- 2|, 0000| 472235
EBHO); tjL'BO [20r1l,5
1'L(;JISB'LG(E)LtsaG)ls,;dzJ HO»9 dzj ded W

[10, orfatHds?2 MdedOd 4- 2|, 0000| 472235
GBHO); tjL!'BO [20R1,5 e




1o SBLOL S0 Olsj dz' H Qo dzj dgd ™ Tap——
[10, oratHdts? MdedOdz 4- 21 0000| 472235
GBHO); tjL+BO [20r1,5

l tcj sBtcOL 59 Olsj dz2 H Qo dzj dad W
16,0 [10, orattHdzs?2 MdedzOl1L 0000| 472235
4 EGBBHO),; wBJjLBO [20~1,5
l tlcj sBtcOL 59 Olsj dz2 H Qo dzj dad W
25,0 [10, oratHds?2 MdedO|1 0000| 472235
4 GBBHO),; wBJjLBO [20~1,5

l tcj sBtcOL 59 Olsj dz2 H Qo dzj dad W
40,0 [10O, or atHdt?2 MmMdcdzO|l1 0000| 472235
4 GEtSHO); twjL!'BO [20r1,5

[ §deted3y dzlz! By Mdzf ey foemedyfesizyds
Juovvstuv]A-] (d&zdikBIsls B)

v M2l j2cs2zydit 5! dz22 temMfcelf jBdz?2 oxd MmBC

125-1-6-45-2000-000-11 ¢
L=45, L COBjdv 2000 dids, 1 0000| 252000
dzj 6 Qo j s h OW flsOdz )

SERfdjSl sjtehsd) ket ey I ﬂ

v M2l j262kydi 854S HY i3 ¢ dzff S

ssifdzj Sk kjtdsd)stess M

141-1-6-60-11, c fedhsinl .50l 310346 "
100, 4-fseotsHdkOw Moj ko, | ,

6 d3d3, dzj oy Qo9 j 8 h OW filsOdz! ) \
v M2y j2B82bydi 5§ HYBIcdfS 2 h ¥ yy mt

stdifdzy CIs bjtedisdzjstetse Misy
141-1-6-60-11 u fedmsjud
(s&Off |, Pt-100, 4-fuwwse|l 2000 378000

LONdlsdets? IstezBCd 6 33, dai

vy Mdf ey fomedicely &2 kfthfkz2da
(ke lsls B)

M2y j2c2yd 59 dz2 e jBdg? oxd MmB«



vjteRtsdgjlste Mtstf tetslsd o dzj dad w
000 (sd&offfy I; Pt-500; 2-
BB, HJOBjlste L ONJlsdzs? stk

v M2y j262kLydl 546

d

tedfmMtsjHdded s j dz' des? G Bdzise €
ndBO; L=60; HJOMjIste L ON
Is

v M2y j2c2kydl 546

vjtoRsdijlste M teslsdo dzj dad w
ftodmMsjHddzdlsj dzt des?2 cEBsdztso €

10000| 133754
HY &3¢ ¢ dzf €
10000| 1647,70

He &3 & dzff & 2

hzwyx mt

fteso 5H dzZOW Mrj 3O©; L=60; H
dzj 6 Q9 j s h OW MmMlsOdz! )

(eesanmon oa s S0 |1 0002| 193840
dzj 63 09 j 5 h OW MmilsOdz )

vjtdsd) st Msfieslsde dj ddw

tc 5 j dz!

fednsdHdddls) e ds2 csdsot)l, 40l 193346







